B1 (Official Form 1)(1/08)									1	
	United S Nor			ruptcy of Illino					Voluntar	y Petition
Name of Debtor (if individual, o Outdoor Living, Inc.	enter Last, First,	Middle):			Name	of Joint De	ebtor (Spouse	e) (Last, First	, Middle):	
All Other Names used by the De (include married, maiden, and tr	ebtor in the last 8 ade names):	3 years			All Of (include)	her Names de married,	used by the a	Joint Debtor trade names	in the last 8 years):	
Last four digits of Soc. Sec. or I (if more than one, state all) 20-2724996	ndividual-Taxpa	yer I.D. (I	TIN) No./0	Complete E	IN Last fo	our digits o		r Individual-'	Taxpayer I.D. (ITIN)	No./Complete EIN
Street Address of Debtor (No. an 919 Tower Road Mundelein, IL	nd Street, City, a	nd State):		ZID C. 1		Address of	Joint Debtor	r (No. and St	reet, City, and State)	
			Г	ZIP Code 60060	-					ZIP Code
County of Residence or of the P	rincipal Place of	Business		<u> </u>	Count	y of Reside	ence or of the	Principal Pl	ace of Business:	'
Mailing Address of Debtor (if di	fferent from stre	eet address	s):		Mailir	g Address	of Joint Debt	tor (if differe	nt from street addres	s):
			_	ZIP Code						ZIP Code
Location of Principal Assets of I (if different from street address a										
Type of Debtor				of Business			-		ptcy Code Under W	
(Form of Organization (Check one box) ☐ Individual (includes Joint Decentry See Exhibit Don page 2 of the Corporation (includes LLC and Partnership)	ebtors) his form.	Singli in 11 Railr Stock	th Care Bu le Asset Re U.S.C. § I oad kbroker modity Bro	eal Estate as 101 (51B)	defined	☐ Chapt ☐ Chapt ☐ Chapt ☐ Chapt ☐ Chapt ☐ Chapt	er 7 er 9 er 11 er 12	☐ C	hapter 15 Petition for a Foreign Main Prohapter 15 Petition for a Foreign Main Prohapter 15 Petition for a Foreign Nonmain	r Recognition ceeding r Recognition
☐ Other (If debtor is not one of th		Othe	ring Bank r					Natur	e of Debts	
check this box and state type of	entity below.)	unde	(Check box or is a tax- r Title 26 o	mpt Entity , if applicable exempt org of the Unite hal Revenue	e) anization d States	defined "incurr	are primarily co I in 11 U.S.C. § ed by an indivi nal, family, or	onsumer debts § 101(8) as idual primarily	bu for	ebts are primarily siness debts.
Filing	g Fee (Check on	e box)				one box:		Chapter 11		
■ Full Filing Fee attached □ Filing Fee to be paid in insta attach signed application for is unable to pay fee except it □ Filing Fee waiver requested attach signed application for	the court's cons n installments. R (applicable to ch	ideration oule 1006(ale 1006(apter 7 in	certifying the best of the bes	hat the debt cial Form 3A only). Must	Check	Debtor is if: Debtor's a to insiders all applica A plan is Acceptance	aggregate not s or affiliates) ble boxes: being filed wees of the pla	ncontingent I) are less that with this petition were solicity	s defined in 11 U.S.C or as defined in 11 U.S.C or as defined in 11 U iquidated debts (exc. n \$2,190,000. on. on. oted prepetition from with 11 U.S.C. § 112	J.S.C. § 101(51D). Inding debts owed one or more
Statistical/Administrative Info ■ Debtor estimates that funds v □ Debtor estimates that, after a there will be no funds availa	will be available ny exempt prop	for distrib erty is exc	oution to ur cluded and	administrat	editors.	es paid,		THIS	S SPACE IS FOR COU	RT USE ONLY
Estimated Number of Creditors	200-	1,000- 5,000	5,001- 10,000	10,001- 25,000	25,001- 50,000	50,001- 100,000	OVER 100,000			
Estimated Assets	\$500,001 to \$1	\$1,000,001 to \$10 million	\$10,000,001 to \$50 million	\$50,000,001 to \$100 million	\$100,000,001 to \$500 million	\$500,000,001 to \$1 billion	More than \$1 billion			
Estimated Liabilities	\$500,001 to \$1	\$1,000,001 to \$10 million	\$10,000,001 to \$50 million	\$50,000,001 to \$100 million	\$100,000,001 to \$500 million	\$500,000,001 to \$1 billion				

B1 (Official Form 1)(1/08) Page 2 Name of Debtor(s): Voluntary Petition Outdoor Living, Inc. (This page must be completed and filed in every case) All Prior Bankruptcy Cases Filed Within Last 8 Years (If more than two, attach additional sheet) Location Case Number: Date Filed: Where Filed: - None -Location Case Number: Date Filed: Where Filed: Pending Bankruptcy Case Filed by any Spouse, Partner, or Affiliate of this Debtor (If more than one, attach additional sheet) Name of Debtor: Case Number: Date Filed: - None -District: Relationship: Judge: Exhibit B Exhibit A (To be completed if debtor is an individual whose debts are primarily consumer debts.) (To be completed if debtor is required to file periodic reports (e.g., I, the attorney for the petitioner named in the foregoing petition, declare that I have informed the petitioner that [he or she] may proceed under chapter 7, 11, forms 10K and 10Q) with the Securities and Exchange Commission 12, or 13 of title 11, United States Code, and have explained the relief available pursuant to Section 13 or 15(d) of the Securities Exchange Act of 1934 under each such chapter. I further certify that I delivered to the debtor the notice and is requesting relief under chapter 11.) required by 11 U.S.C. §342(b). ☐ Exhibit A is attached and made a part of this petition. Signature of Attorney for Debtor(s) (Date) Exhibit C Does the debtor own or have possession of any property that poses or is alleged to pose a threat of imminent and identifiable harm to public health or safety? Yes, and Exhibit C is attached and made a part of this petition. No. Exhibit D (To be completed by every individual debtor. If a joint petition is filed, each spouse must complete and attach a separate Exhibit D.) ☐ Exhibit D completed and signed by the debtor is attached and made a part of this petition. If this is a joint petition: ☐ Exhibit D also completed and signed by the joint debtor is attached and made a part of this petition. Information Regarding the Debtor - Venue (Check any applicable box) Debtor has been domiciled or has had a residence, principal place of business, or principal assets in this District for 180 days immediately preceding the date of this petition or for a longer part of such 180 days than in any other District. There is a bankruptcy case concerning debtor's affiliate, general partner, or partnership pending in this District. П Debtor is a debtor in a foreign proceeding and has its principal place of business or principal assets in the United States in this District, or has no principal place of business or assets in the United States but is a defendant in an action or proceeding [in a federal or state court] in this District, or the interests of the parties will be served in regard to the relief sought in this District. Certification by a Debtor Who Resides as a Tenant of Residential Property (Check all applicable boxes) Landlord has a judgment against the debtor for possession of debtor's residence. (If box checked, complete the following.) (Name of landlord that obtained judgment) (Address of landlord) Debtor claims that under applicable nonbankruptcy law, there are circumstances under which the debtor would be permitted to cure the entire monetary default that gave rise to the judgment for possession, after the judgment for possession was entered, and Debtor has included in this petition the deposit with the court of any rent that would become due during the 30-day period after the filing of the petition. Debtor certifies that he/she has served the Landlord with this certification. (11 U.S.C. § 362(1)).

B1 (Official Form 1)(1/08) Page 3

Voluntary Petition

(This page must be completed and filed in every case)

Signatures

Signature(s) of Debtor(s) (Individual/Joint)

I declare under penalty of perjury that the information provided in this petition is true and correct.

[If petitioner is an individual whose debts are primarily consumer debts and has chosen to file under chapter 7] I am aware that I may proceed under chapter 7, 11, 12, or 13 of title 11, United States Code, understand the relief available under each such chapter, and choose to proceed under chapter 7. [If no attorney represents me and no bankruptcy petition preparer signs the petition] I have obtained and read the notice required by 11 U.S.C. §342(b).

I request relief in accordance with the chapter of title 11, United States Code, specified in this petition.

X

Signature of Debtor

X

Signature of Joint Debtor

Telephone Number (If not represented by attorney)

Date

Signature of Attorney*

X /s/ Paul M. Bach

Signature of Attorney for Debtor(s)

Paul M. Bach 06209530

Printed Name of Attorney for Debtor(s)

Bach Law Offices

Firm Name

1955 Shermer Road Suite 150 Northbrook, IL 60062

Address

Email: paul@bachoffices.com

(847) 564-0808 Fax: (847) 564-0985

Telephone Number

September 10, 2008

Date

*In a case in which § 707(b)(4)(D) applies, this signature also constitutes a certification that the attorney has no knowledge after an inquiry that the information in the schedules is incorrect.

Signature of Debtor (Corporation/Partnership)

I declare under penalty of perjury that the information provided in this petition is true and correct, and that I have been authorized to file this petition on behalf of the debtor.

The debtor requests relief in accordance with the chapter of title 11, United States Code, specified in this petition.

x /s/ Kerston Russell

Signature of Authorized Individual

Kerston Russell

Printed Name of Authorized Individual

President

Title of Authorized Individual

September 10, 2008

Date

Signature of a Foreign Representative

I declare under penalty of perjury that the information provided in this petition is true and correct, that I am the foreign representative of a debtor in a foreign proceeding, and that I am authorized to file this petition.

(Check only one box.)

Name of Debtor(s):

Outdoor Living, Inc.

- ☐ I request relief in accordance with chapter 15 of title 11. United States Code. Certified copies of the documents required by 11 U.S.C. §1515 are attached.
- ☐ Pursuant to 11 U.S.C. §1511, I request relief in accordance with the chapter of title 11 specified in this petition. A certified copy of the order granting recognition of the foreign main proceeding is attached.

X

Signature of Foreign Representative

Printed Name of Foreign Representative

Date

Signature of Non-Attorney Bankruptcy Petition Preparer

I declare under penalty of perjury that: (1) I am a bankruptcy petition preparer as defined in 11 U.S.C. § 110; (2) I prepared this document for compensation and have provided the debtor with a copy of this document and the notices and information required under 11 U.S.C. §§ 110(b), 110(h), and 342(b); and, (3) if rules or guidelines have been promulgated pursuant to 11 U.S.C. § 110(h) setting a maximum fee for services chargeable by bankruptcy petition preparers, I have given the debtor notice of the maximum amount before preparing any document for filing for a debtor or accepting any fee from the debtor, as required in that section. Official Form 19 is attached.

Printed Name and title, if any, of Bankruptcy Petition Preparer

Social-Security number (If the bankrutpcy petition preparer is not an individual, state the Social Security number of the officer, principal, responsible person or partner of the bankruptcy petition preparer.)(Required by 11 U.S.C. § 110.)

•

Date

Address

Signature of Bankruptcy Petition Preparer or officer, principal, responsible person, or partner whose Social Security number is provided above.

Names and Social-Security numbers of all other individuals who prepared or assisted in preparing this document unless the bankruptcy petition preparer is not an individual:

If more than one person prepared this document, attach additional sheets conforming to the appropriate official form for each person.

A bankruptcy petition preparer's failure to comply with the provisions of title 11 and the Federal Rules of Bankruptcy Procedure may result in fines or imprisonment or both 11 U.S.C. §110; 18 U.S.C. §156.

United States Bankruptcy Court Northern District of Illinois

In re	Outdoor Living, Inc.		Case No.	
		Debtor(s)	Chapter	11

LIST OF CREDITORS HOLDING 20 LARGEST UNSECURED CLAIMS

Following is the list of the debtor's creditors holding the 20 largest unsecured claims. The list is prepared in accordance with Fed. R. Bankr. P. 1007(d) for filing in this chapter 11 [or chapter 9] case. The list does not include (1) persons who come within the definition of "insider" set forth in 11 U.S.C. § 101, or (2) secured creditors unless the value of the collateral is such that the unsecured deficiency places the creditor among the holders of the 20 largest unsecured claims. If a minor child is one of the creditors holding the 20 largest unsecured claims, state the child's initials and the name and address of the child's parent or guardian, such as "A.B., a minor child, by John Doe, guardian." Do not disclose the child's name. See 11 U.S.C. § 112; Fed. R. Bankr. P. 1007(m).

(1)	(2)	(3)	(4)	(5)
Name of creditor and complete mailing address including zip code	Name, telephone number and complete mailing address, including zip code, of employee, agent, or department of creditor familiar with claim who may be contacted	Nature of claim (trade debt, bank loan, government contract, etc.)	Indicate if claim is contingent, unliquidated, disputed, or subject to setoff	Amount of claim [if secured, also state value of security]
Internal Revenue Service P.O. Box 21126	Internal Revenue Service P.O. Box 21126	Payroll Taxes		67,720.40
Philadelphia, PA 19114	Philadelphia, PA 19114			
55 North Barron Blvd, LLC 1 Northfield Plaza #300	55 North Barron Blvd, LLC 1 Northfield Plaza #300			66,718.27
Winnetka, IL 60093	Winnetka, IL 60093			
Master Mark Plastics	Master Mark Plastics			65,581.92
P.O. Box 662	P.O. Box 662			00,001.02
Albany, MN 56307	Albany, MN 56307			
United Stated Dept of Labor	United Stated Dept of Labor			34,453.43
Attn Shirley Choen	Attn Shirley Choen			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
230 S. Dearborn	230 S. Dearborn			
Chicago, IL 60604	Chicago, IL 60604			
Oaks Concrete Products	Oaks Concrete Products			31,279.41
51744 Pontaic Trail	51744 Pontaic Trail			
Wixom, MI 48393	Wixom, MI 48393			
Jim Link Services	Jim Link Services			26,029.35
431 Scotland Unit B	431 Scotland Unit B			
Lakemoor, IL 60051	Lakemoor, IL 60051			
Woolf Distributing	Woolf Distributing			22,571.79
8550 Ridgefield Road	8550 Ridgefield Road			
Crystal Lake, IL 60014	Crystal Lake, IL 60014			
Advanced Ground Care	Advanced Ground Care Products			16,043.86
Products	665 W. Armory Drive			
665 W. Armory Drive	South Holland, IL 60473			
South Holland, IL 60473	7			1101001
Thelan Sand & Gravel	Thelan Sand & Gravel 28955 Route 173			14,012.01
28955 Route 173				
Antioch, IL 60002 Master Card American	Antioch, IL 60002 Master Card American Society			12 002 64
Society	aka Bank of America			12,982.64
aka Bank of America	P.O. Box 15026			
P.O. Box 15026	Wilmington, DE 19886			
Wilmington, DE 19886	Trimington, DE 13000			
**************************************	1		ı	

B4 (Office	cial Form 4)	(12/07) -	Cont
In re	Outdoor	Livina.	Inc.

Case	No.	

Debtor(s)

LIST OF CREDITORS HOLDING 20 LARGEST UNSECURED CLAIMS

(Continuation Sheet)

(1)	(2)	(3)	(4)	(5)
Name of creditor and complete mailing address including zip code	Name, telephone number and complete mailing address, including zip code, of employee, agent, or department of creditor familiar with claim who may be contacted	Nature of claim (trade debt, bank loan, government contract, etc.)	Indicate if claim is contingent, unliquidated, disputed, or subject to setoff	Amount of claim [if secured, also state value of security]
Illinois Department of Employ	Illinois Department of Employ Sec	State Uemployment		9,649.36
Sec	P.O. Box 19300	Taxes		
P.O. Box 19300	Springfield, IL 62794			
Springfield, IL 62794				
Illinois Department of Reveue	Illinois Department of Reveue	Sales Taxes		9,289.28
P.O. Box 19035	P.O. Box 19035			
Springfield, IL 62794	Springfield, IL 62794			
Patten Industries	Patten Industries			8,201.98
635 W. Lake Street	635 W. Lake Street			
Elmhurst, IL 60126	Elmhurst, IL 60126			
Caterpillar Financial Services	Caterpillar Financial Services	Caterpillar CB214		19,973.77
P.O. Box 730669	P.O. Box 730669	Rollar Compactor		(40.000.00
Dallas, TX 75373-0669	Dallas, TX 75373-0669	VIN 2140477		(12,000.00
Adding a Desiration Materials	Addison Dullding Metanists	Repossesed		secured)
Addison Building Materials 3201 S. Busse Road	Addison Building Materials 3201 S. Busse Road			6,911.49
Arlington Heights, IL 60004 Heartland Bio Compostes	Arlington Heights, IL 60004 Heartland Bio Compostes			6,884.66
Liquid Capital Exchange	Liquid Capital Exchange			0,004.00
P.O. Box 17000	P.O. Box 17000			
Reading, PA 19606	Reading, PA 19606			
Illinois Department of	Illinois Department of Revenue	Payroll Taxes		6,518.18
Revenue	Bankruptcy Section	l ayron raxes		0,510.10
Bankruptcy Section	100 W. Randolph Street			
100 W. Randolph Street	Chicago, IL 60606			
Chicago, IL 60606				
Eiden & O'Donnel	Eiden & O'Donnel		Disputed	6,469.71
230 Center Street #102	230 Center Street #102			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Vernon Hills, IL 60061	Vernon Hills, IL 60061			
Caterpillar Financial Services	Caterpillar Financial Services	Caterpillar 1 1/4 yd		8,361.42
P.O. Box 730669	P.O. Box 730669	Bucket		, i
Dallas, TX 75373-0669	Dallas, TX 75373-0669	Repossesed		(2,000.00
				secured)
Caterpillar Financial Services	Caterpillar Financial Services	Caterpillar 262B		30,307.22
P.O. Box 730669	P.O. Box 730669	Skidsteer		
Dallas, TX 75373-0669	Dallas, TX 75373-0669	PDT04248		(24,000.00
				secured)

B4 (Offic	cial Form 4) (12/07) - Cont.		
In re	Outdoor Living, Inc.	Case No.	
	Debtor(s)		

LIST OF CREDITORS HOLDING 20 LARGEST UNSECURED CLAIMS

(Continuation Sheet)

DECLARATION UNDER PENALTY OF PERJURY ON BEHALF OF A CORPORATION OR PARTNERSHIP

I, the President of the corporation named as the debtor in this case, declare under penalty of perjury that I have read the foregoing list and that it is true and correct to the best of my information and belief.

Date	September 10, 2008	Signature	/s/ Kerston Russell
			Kerston Russell
			President

Penalty for making a false statement or concealing property: Fine of up to \$500,000 or imprisonment for up to 5 years or both. 18 U.S.C. §§ 152 and 3571.

United States Bankruptcy Court Northern District of Illinois

In re	Outdoor Living, Inc.		Case No	
_	<u>-</u>	Debtor ,		
			Chapter	11

SUMMARY OF SCHEDULES

Indicate as to each schedule whether that schedule is attached and state the number of pages in each. Report the totals from Schedules A, B, D, E, F, I, and J in the boxes provided. Add the amounts from Schedules A and B to determine the total amount of the debtor's assets. Add the amounts of all claims from Schedules D, E, and F to determine the total amount of the debtor's liabilities. Individual debtors must also complete the "Statistical Summary of Certain Liabilities and Related Data" if they file a case under chapter 7, 11, or 13.

NAME OF SCHEDULE	ATTACHED (YES/NO)	NO. OF SHEETS	ASSETS	LIABILITIES	OTHER
A - Real Property	Yes	1	0.00		
B - Personal Property	Yes	50	653,344.31		
C - Property Claimed as Exempt	No	0			
D - Creditors Holding Secured Claims	Yes	5		275,774.14	
E - Creditors Holding Unsecured Priority Claims (Total of Claims on Schedule E)	Yes	4		96,439.48	
F - Creditors Holding Unsecured Nonpriority Claims	Yes	17		400,417.32	
G - Executory Contracts and Unexpired Leases	Yes	1			
H - Codebtors	Yes	1			
I - Current Income of Individual Debtor(s)	No	0			N/A
J - Current Expenditures of Individual Debtor(s)	No	0			N/A
Total Number of Sheets of ALL Schedu	ıles	79			
	T	otal Assets	653,344.31		
		'	Total Liabilities	772,630.94	

United States Bankruptcy Court Northern District of Illinois

Outdoor Living, Inc.			Case No.		
	Debto	or	Chapter	11	
STATISTICAL SUMMARY OF	CERTAIN LIABI	LITIES AN	ND RELATED DA	ATA (28 U.S.C. §	
If you are an individual debtor whose debts are pa a case under chapter 7, 11 or 13, you must report	rimarily consumer debts, a all information requested	as defined in § 1 below.	101(8) of the Bankruptcy	Code (11 U.S.C.§ 101(8	
☐ Check this box if you are an individual debreport any information here.	otor whose debts are NOT	primarily const	umer debts. You are not r	required to	
This information is for statistical purposes only	v under 28 U.S.C. § 159.				
Summarize the following types of liabilities, as			em.		
Type of Liability		Amount			
Domestic Support Obligations (from Schedule E)					
Taxes and Certain Other Debts Owed to Governmenta (from Schedule E)	al Units				
Claims for Death or Personal Injury While Debtor Wa (from Schedule E) (whether disputed or undisputed)	as Intoxicated				
Student Loan Obligations (from Schedule F)					
Domestic Support, Separation Agreement, and Divord Obligations Not Reported on Schedule E	ce Decree				
Obligations to Pension or Profit-Sharing, and Other S (from Schedule F)	imilar Obligations				
	TOTAL				
State the following:					
Average Income (from Schedule I, Line 16)					
Average Expenses (from Schedule J, Line 18)					
Current Monthly Income (from Form 22A Line 12; O Form 22B Line 11; OR, Form 22C Line 20)	R,				
State the following:					
Total from Schedule D, "UNSECURED PORTION column	, IF ANY"				
2. Total from Schedule E, "AMOUNT ENTITLED TO column) PRIORITY"				
3. Total from Schedule E, "AMOUNT NOT ENTITLI PRIORITY, IF ANY" column	ED TO				
4. Total from Schedule F					
5. Total of non-priority unsecured debt (sum of 1, 3, a	and 4)				

101(8)), filing

In re	Outdoor Living, Inc.	Case No	
-		Debtor ,	

SCHEDULE A - REAL PROPERTY

Except as directed below, list all real property in which the debtor has any legal, equitable, or future interest, including all property owned as a cotenant, community property, or in which the debtor has a life estate. Include any property in which the debtor holds rights and powers exercisable for the debtor's own benefit. If the debtor is married, state whether husband, wife, both, or the marital community own the property by placing an "H," "W," "J," or "C" in the column labeled "Husband, Wife, Joint, or Community." If the debtor holds no interest in real property, write "None" under "Description and Location of Property."

Do not include interests in executory contracts and unexpired leases on this schedule. List them in Schedule G - Executory Contracts and Unexpired Leases.

If an entity claims to have a lien or hold a secured interest in any property, state the amount of the secured claim. See Schedule D. If no entity claims to hold a secured interest in the property, write "None" in the column labeled "Amount of Secured Claim." If the debtor is an individual or if a joint petition is filed, state the amount of any exemption claimed in the property only in Schedule C - Property Claimed as Exempt.

Description and Location of Property

Nature of Debtor's Interest in Property

Nature of Debtor's Interest in Property

Nature of Debtor's Interest in Property Property

Output

Deducting any Secured Claim Or Exemption

Amount of Secured Claim

None

Sub-Total > **0.00** (Total of this page)

Total > **0.00**

(Report also on Summary of Schedules)

In re	Outdoor Living, Inc.	Cas	se No
_		Debtor	

SCHEDULE B - PERSONAL PROPERTY

Except as directed below, list all personal property of the debtor of whatever kind. If the debtor has no property in one or more of the categories, place an "x" in the appropriate position in the column labeled "None." If additional space is needed in any category, attach a separate sheet properly identified with the case name, case number, and the number of the category. If the debtor is married, state whether husband, wife, both, or the marital community own the property by placing an "H," "W," "J," or "C" in the column labeled "Husband, Wife, Joint, or Community." If the debtor is an individual or a joint petition is filed, state the amount of any exemptions claimed only in Schedule C - Property Claimed as Exempt.

Do not list interests in executory contracts and unexpired leases on this schedule. List them in Schedule G - Executory Contracts and Unexpired Leases.

If the property is being held for the debtor by someone else, state that person's name and address under "Description and Location of Property." If the property is being held for a minor child, simply state the child's initials and the name and address of the child's parent or guardian, such as "A.B., a minor child, by John Doe, guardian." Do not disclose the child's name. See, 11 U.S.C. §112 and Fed. R. Bankr. P. 1007(m).

	Type of Property	N O N Description and Location of Property E	Husband, Wife, Joint, or Community	Current Value of Debtor's Interest in Property, without Deducting any Secured Claim or Exemption
1.	Cash on hand	Petty Cash	-	150.00
2.	Checking, savings or other financial	Northside Community Bank	-	6,431.78
	accounts, certificates of deposit, or shares in banks, savings and loan, thrift, building and loan, and homestead associations, or credit unions, brokerage houses, or cooperatives.	Savings	-	229.01
3.	Security deposits with public utilities, telephone companies,	Performance Bond	-	2,950.00
	landlords, and others.	Semper Fidelis Mundelein L.P.	-	11,003.34
4.	Household goods and furnishings, including audio, video, and computer equipment.	Х		
5.	Books, pictures and other art objects, antiques, stamp, coin, record, tape, compact disc, and other collections or collectibles.	X		
6.	Wearing apparel.	x		
7.	Furs and jewelry.	X		
8.	Firearms and sports, photographic, and other hobby equipment.	X		
9.	Interests in insurance policies. Name insurance company of each policy and itemize surrender or refund value of each.	X		
10.	Annuities. Itemize and name each issuer.	X		

Sub-Total >	20,764.13
(Total of this page)	

⁴ continuation sheets attached to the Schedule of Personal Property

			_
ln re	Outdoor	Living,	Inc.

Debtor

SCHEDULE B - PERSONAL PROPERTY (Continuation Sheet)

	Type of Property	N O N E	Description and Location of Property	Husband, Wife, Joint, or Community	Current Value of Debtor's Interest in Property, without Deducting any Secured Claim or Exemption
11.	Interests in an education IRA as defined in 26 U.S.C. § 530(b)(1) or under a qualified State tuition plan as defined in 26 U.S.C. § 529(b)(1). Give particulars. (File separately the record(s) of any such interest(s). 11 U.S.C. § 521(c).)	х			
12.	Interests in IRA, ERISA, Keogh, or other pension or profit sharing plans. Give particulars.	X			
13.	Stock and interests in incorporated and unincorporated businesses. Itemize.	X			
14.	Interests in partnerships or joint ventures. Itemize.	X			
15.	Government and corporate bonds and other negotiable and nonnegotiable instruments.	X			
16.	Accounts receivable.	A	ccounts Receivable	-	204,994.53
17.	Alimony, maintenance, support, and property settlements to which the debtor is or may be entitled. Give particulars.	X			
18.	Other liquidated debts owed to debtor including tax refunds. Give particulars.	X			
19.	Equitable or future interests, life estates, and rights or powers exercisable for the benefit of the debtor other than those listed in Schedule A - Real Property.	X			
20.	Contingent and noncontingent interests in estate of a decedent, death benefit plan, life insurance policy, or trust.	X			
21.	Other contingent and unliquidated claims of every nature, including tax refunds, counterclaims of the debtor, and rights to setoff claims. Give estimated value of each.	X			
				Sub-Tota	al > 204,994.53
			(To	otal of this page)	

Sheet <u>1</u> of <u>4</u> continuation sheets attached to the Schedule of Personal Property

n re	Outdoor L	ivina. Inc

Case No.	

Debtor

SCHEDULE B - PERSONAL PROPERTY

(Continuation Sheet)

	Type of Property	N O N E	Description and Location of Property	Husband, Wife, Joint, or Community	Current Value of Debtor's Interest in Property, without Deducting any Secured Claim or Exemption
22.	Patents, copyrights, and other intellectual property. Give particulars.	Х			
23.	Licenses, franchises, and other general intangibles. Give particulars.	X			
24.	Customer lists or other compilations containing personally identifiable information (as defined in 11 U.S.C. § 101(41A)) provided to the debtor by individuals in connection with obtaining a product or service from the debtor primarily for personal, family, or household purposes.	X			
25.	Automobiles, trucks, trailers, and other vehicles and accessories.	Tr	railer Dingo 4336 JC TA	-	1,000.00
	other venicles and accessories.	20	005 Hillsboro 700 54 694 TD 1TH3B6X2651021638	-	5,000.00
			003 Felding 16' Skidsteer Trailer 57 138 TD VIN FTLE162X31014768	-	3,000.00
			997 Felding 16 Skidsteer Trailer VIN 73261928V110589	-	2,000.00
			003 Chevrolet C1500 Pickup 54611 B GCEC19V331320892	-	6,800.00
			999 Chevrolet C2500 Pickup 37461P-B VIN GCG23J0XF098282	-	6,500.00
			006 Chevrolet G1500 Express Van GCFG15X061122541	-	9,000.00
			004 Ford E350 Super Duty 258603 D FDWE35SL54HA69804	-	7,500.00
			005 Ford E350 Super Duty 258602 D FDXE45S15HAS5670	-	8,500.00
			002 Ford E350 Super Duty 258723 D FDWE35L52HB17864	-	6,500.00
			002 Ford E350 Super Duty 258689 D FDWE35L62HA88259	-	6,500.00

Sub-Total > **62,300.00** (Total of this page)

Sheet <u>2</u> of <u>4</u> continuation sheets attached to the Schedule of Personal Property

In re	Outdoor	Living	Inc
111 16	Outuoui	Living,	IIIC

Debtor

SCHEDULE B - PERSONAL PROPERTY

(Continuation Sheet)

	O N Description and Location of Property E	Husband, Wife, Joint, or Community	Current Value of Debtor's Interest in Property, without Deducting any Secured Claim or Exemption
	2003 Chevrolet K3500 Pickup 67451 F VIN 1GBJK34U53E157919	-	12,500.00
	2003 Chevrolet C3500 Pickup 170631 D 1GBK34U83E226389	-	12,500.00
	1998 Chevrolet C1500 Pickup 1GCEK19R1WR121647	-	5,800.00
	2005 International Contractor Dump 91692 H 1HTMMAAM25H122528	-	35,000.00
	1991 GMC Topkick 84275 H 1GDM7H158MJ517111	-	12,000.00
6. Boats, motors, and accessories.	x		
7. Aircraft and accessories.	x		
8. Office equipment, furnishings, and	Office Furniture	-	10,752.00
supplies.	Showroom	-	16,573.00
	Sign	-	3,500.00
9. Machinery, fixtures, equipment, and	Caterpillar 242B Skidsteer CAT#0242BHBXM01258	-	20,000.00
supplies used in business.	Caterpillar 262B Skidsteer PDT04248	-	24,000.00
	Caterpillar 268 Skidsteer CAT 026BBT2BA00981	-	30,000.00
	Caterpillar 904B Wheel Loader B4L00339-Vehicle Repossesed	-	43,000.00
	Caterpillar CB214 Rollar Compactor VIN 2140477 Repossesed	-	12,000.00
	Toro Skiploader and Auger Power Head Repossesed	-	12,000.00
	Caterpillar 1 1/4 yd Bucket Repossesed	-	2,000.00
	1998 Smith Air Compressor 100E #9318	-	2,000.00
	2007 Western Snow Plow 8 1/2 Foot	-	4,000.00
	2007 Aspen Push Box 8' Snow Dozer	-	3,000.00
	2007 Aspen Push Box 10' Snow Dozer	-	4,000.00

Sub-Total > (Total of this page)

Sheet <u>3</u> of <u>4</u> continuation sheets attached to the Schedule of Personal Property

264,625.00

In re	Outdoor Living, Inc.	Case No.	
		Debtor	

SCHEDULE B - PERSONAL PROPERTY

(Continuation Sheet)

Type of Property	N O N E	Description and Location of Property	Husband, Wife, Joint, or Community	Current Value of Debtor's Interest in Property, without Deducting any Secured Claim or Exemption
	Equipment		-	28,925.00
30. Inventory.	Inventory		-	71,735.65
31. Animals.	X			
32. Crops - growing or harvested. Give particulars.	x			
 Farming equipment and implements. 	x			
34. Farm supplies, chemicals, and feed.	X			
35. Other personal property of any kind not already listed. Itemize.	X			

Sub-Total > 100,660.65 (Total of this page)

Total >

653,344.31

Outdoor Living, Inc. Open Invoices As of September 5, 2008

Туре	Date	Num	Aging	Open Balance
SBAR-0708 Invoice	9/5/2008	129		19,333.00
Total SBAR-0708				19,333.00
GOLD-0908 Invoice	9/4/2008	127	1	1,366.00
Total GOLD-0908				1,366.00
PETZ-0808 Invoice	8/28/2008	120	8	1,922.00
Total PETZ-0808				1,922.00
JOHN-0808 Invoice	8/20/2008	116	16	15,130.00
Total JOHN-0808				15,130.00
American General PETZ-0808 Invoice	8/28/2008	121	8	6,922.00
Total PETZ-0808				6,922.00
JOHN-0808 Invoice	8/20/2008	114	16	30,260.00
Total JOHN-0808				30,260.00
WESL-0708 Invoice	8/18/2008	112	18	11,917.00
Total WESL-0708				11,917.00
Total American General				49,099.00
HAYD-0708 Invoice	7/29/2008	102	38	1,519.00
Total HAYD-0708				1,519.00
HUBE-0708				
Invoice Invoice	7/28/2008 7/28/2008	96 97	39 39	6,000.00 2,000.00
Invoice	7/28/2008	98	39	12,000.00
Total HUBE-0708				20,000.00
KOEC-0708 Invoice	7/25/2008	94	42	2,818.00
Total KOEC-0708	112312000	3 4	46	2,818.00
ISNE-0708				2,610.00
Invoice	7/16/2008	89	51	7,250.00
Total ISNE-0708				7,250.00
LANE-0708 Payment	8/7/2008	900023		-10.00
Total LANE-0708				-10.00
STRE-0608 Invoice Invoice	5/22/2008 5/22/2008	56 57	106 106	4,462.00 2,231.00
Total STRE-0608	3/22/2000	31	100	6,693.00
FARM-0608	7/3/2008	66	64	3,176.00
Total FARM-0608	710,200	•		3,176.00
GARI-0508	7/9/2008	77	58	9,655.00
Total GARI-0508		÷ •		9,655.00
SALU 0508 Invoice	7/3/2008	62	64	3,997.00

Outdoor Living, Inc. Open Invoices As of September 5, 2008

Туре	Date	Num	Aging	Open Balance
Total SALU 0508				3,997.00
LABUS 0508 Deposit	8/8/2008			-3,290.22
Total LABUS 0508	0,0,200			-3,290.22
Wilt 0408	9/5/2008	128		2,000.00
Total Wilt 0408				2,000.00
PATE-0508 Invoice	8/12/2008	16	24	903.00
Total PATE-0508				903.00
SCHA-0408 Invoice Invoice	5/13/2008 9/2/2008	21 125	115 3	6,553.00 554.00
Total SCHA-0408				7,107.00
MCWD-0208 Invoice Credit Memo	2/21/2008 9/1/2008	17190 132	197 4	389.70 -389.70
Total MCWD-0208	G, 1/12000		•	0.00
Semper Fidelis Mund	elein LP			
Payment Invoice	8/15/2008 8/1/2008	7279 106	35	-48.00 731.00
Invoice	9/1/2008	131	4	827.00
Total Semper Fidelis M	lundelein LP			1,510.00
Lacher, Blake & Laur. Invoice	a 3/31/2008	17213	158	3,091.00
Invoice	8/18/2008	109	18	820.00
Total Lacher, Blake & I	Laura			3,911.00
Kunde, Brad Three Season Roo Invoice	om 5/13/2008	28	115	3,131.00
Total Three Season		20	115	3,131.00
	11100111			
Total Kunde, Brad ARON-0807				3,131.00
Payment	6/30/2008	09972		-300.00
Total ARON-0807				-300.00
EUTS EUTS-WSB104				
Invoice	8/8/2008	38	28	14,581.00
Total EUTS-WSB1	04			14,581.00
EUTS 0100 Invoice Invoice	5/22/2008 6/4/2008	17270 37	106 93	9,308.00 9,308.00
Total EUTS 0100	01-112-000	07	55	18,616.00
EUTS - WSB 98				15,515,55
Invoice	8/6/2008	36	30	14,189.00
Total EUTS - WSB	98			14,189.00
EUTS - Other Deposit	8/4/2008	5768		-10.00
Total EUTS - Othe	r			-10.00
Total EUTS				47,376.00
CASH Invoice	7/30/2008	113	37	698.75

7:13 PM 09/05/08

Outdoor Living, Inc. Open Invoices As of September 5, 2008

Туре	Date	Num	Aging	Open Balance
Total CASH				698.75
TOTAL				204,994.53

NATE IN THE	DESC	STONE SAW	MFGR	AMERICAN SAW			
	MODEL	AMERICUTTER 20	SERIAL #	240	сивнеит уасие	\$2,000	
1	STATUS	SHOP	HOTDEN FIEN	NONE	CURR		
HEBINUN TIND	DESC	SHOP AIR COMPRESSOR	MFGR	INGERSOL RAND	<u> </u>		
	Woder		SERIAL #	977394	CURRENT VALUE	\$900	10
2	STATUS	SHOP	HOLDEN	NONE	CUB		
инт нимвен	DESC	COMMERCIAL LAWMOWER	MEGR	EXMARK	UE		
3	MODEL		SERIAL •	561936	CURRENT VALUE	\$1,000	
J	STATUS	SHOP	LIEN HOLDER	NONE	20		. 6
илт нимвея	DESC	VERTICAL BAND SAW	NFGA	DELTA	# #		
4	MODEL		SERIAL #	02H64859	CURRENTVALUE	\$500	
	STATU5	SHOP	LIEN HOLDER	NONE	G		
UNIT HUMBER	DESC	DRUM SANDER	MFGR	DELTA			
5	MODEL		SERIAL #	02B17347	CURHENT VALUE	\$250	
7	STATUS	SHOP	HOLDER	NONE	ថ		
UNIT NUMBER	DESC	STATIONARY PLANER	MEGR	DELTA			
6	MODEL		SERIAL .	28022	CURRENT VALUE	\$400	
0	STATUS	SHOP	HOLDEN HOLDEN	NONE			The state of the s
UNIT HUUBER	pesc.	MORTIS-TENON DRILL	NFQR	FISCH	371		
7	MODEL		SERIAL.	Q0147	CURRENT VALUE	\$400	
1	STATUS	SHOP	HOLDER HOLDER	NONE	б		
UNIT NUMBER	DESC	MIG WELDER	MFGR	MILLER	LUE		Service Servic
8	MODEL	MILLERMATIC	SERIAL #	LJ151326N	CURRENT VALUE	\$600	
O .	STATUS	SHOP	HOLDEH	NONE	ថ		
PARKUN TIMU	DESC	DRILL PRESS	иFOR	DELTA	TITE		
9	MODEL		SERIAL #	013489W1074	CURRENT VALUE	\$400	
	STATUS	SHOP	HOLDEN	NONE			
ABBROWN THAT	DESC	SCROLL SAW	ufafi	RIGID	INE		
10	MODEL		SERIAL	SS16501	CURRENT VALUE	\$100	
ייו	STATUS	SHOP	LIEN HOLDER	NONE	75		

инт нимвен	DESC	12" RADIAL ARM SAW	LFGA	DELTA			and the state of t
	MODEL		SERIAL .		CURRENT VALUE	\$600	
11	STATUS	SHOP	LIEN HOLDER	NONE	CURRE	****	
UNIT NUMBER	DESC	10" TABLE SAW	MFGR	DELTA	ш.		
40	MODEL		SERIAL .	9VE145TBFR5503AX	CURRESTIVALUE	\$750	
12	STATUS	SHOP	HOLDEN	NONE	C.B.		
UNIT HULLBER	DESC	6" JOINTER	LEGA.	DELTA	JI.		
10	MODEL		SERIAL 4	1032	CURRENT VALUE	\$400	
13	STATUS	SHOP	HOLDER	NONE	3		
UNIT NUMBER	DESC	LATHE	1.FGA	DELTA	#		
14	WODEL		SERIAL #	11170	CURRERT VALUE	\$400	To J
14	STATUS	SHOP	LIEN HOLDER	NONE	5		
UNIT NUMBER	DESC	COMPOUND MITERSAW	MFCA	RIGID	35		
15	MODEL		SERIAL		CURRENT VALUE	\$150	
פ	STATUS	SHOP	HOLDER	NONE	8		
UNIT NUMBER	DESC	PORTABLE TABLE SAW	rean	RYOBI	UE		
16	JAODEL		SERIAL .		CURRENTVALUE	\$150	
פ	STATUS	SHOP	HOLDER	NONE	3		
ИНП МИМВЕЯ	DESC	PLATE COMPACTOR	urga 1	MBW	UE		
17	MODEL		SERIAL	1230078	CURRENT VALUE	\$800	
17	STATUS	SHOP	HOLDEN	NONE	B		
UNIT HUMBER	DESC	GAS ENGINE GENERATOR	LIFGR	COLEMAN	1E		
18	1.AODEL		SERIAL .	E20501889B	CURRENT VALUE	\$300	
10	STATUS	SHOP	HOLDER	NONE	N3		
UHIT NUMBER	DESC	AIR COMPRESSOR	MFQA	RIGID	JE.		
19	MODEL		SERIAL .		CURRENTVALUE	\$150	RIEGIE
פו	STATUS	SHOP	LIEN HOLDER	NONE	8		1977
UNIT NUMBER	DESC	TRASH PUMP - GAS ENGINE	MFGA	KOSHIN	JE JE		
20	1AODEL		SERIAL •	OF45150B	CURRENT VALUE	\$200	
2 U	STATUS	SHOP	LIEN HOLDER	NONE	8		

UNIT NUMBER	DESC	POWER WASHER	MFGPI	CRAFTSMAN	LVA COLOR		
Ironauci	MODEL	I OTTEN TACHEN	SERIAL	5665834	CURNENT VALUE	\$200	
21		SHOP	nex	NONE	CURRE	Ψ200	
	STATUS		HOLDER				
REBIAUAT TISTU	DESC	POWER WASHER	MFGR	EXCELL	LVALUE	0000	
22	MODEL		SERIAL #	2655048096	CURRENT VALUE	\$200	
	STATUS	SHOP	HOLDER	NONE			
UNIT NUMBER	DESC	JUMPING JACK	LIFGR.	MBW	MUE		
23	MODEL		SERIAL #	4810770	CURPENT VALUE	\$500	
	STATUS	SHOP	HOLDER	NONE			
UNIT NUMBER	DESC	BRUSH TRIMMER	MFGFI	STIHL	ALUE		
24	MODEL		SERIAL #	F5450	CURRENT VALUE	\$150	
4	STATUS	SHOP	HOLDER	NONE			
UNIT NUMBER	DESC	COMPOUND MITER SAW	MFGR	PORTER CABLE			
25	Model		SERIAL #	17887	СИВНЕРЛ УАLUE	\$100	
23	STATUS	SHOP	LIEN HOLDER	NONE	75		200
FEBRUM TIMU	DESC	ROUTER TABLE	MFGA	DELTA	UE		
26	MODEL		SERIAL #		CURRENT VALUE	\$200	
20	STATUS	SHOP	HELL	NONE	3		J.; COURT
UNIT NUMBER	DESC	GENERATOR - GAS ENGINE	MFGP	BRIGGS & STRATTON	JA N		Kara I
07	MODEL		SERIAL #	1013566258	CURRENT VALUE	\$150	TO STATE OF THE PARTY OF THE PA
27	STATUS	SHOP	LIEN HOLDER	NONE	3		
UNIT MUMBER	DESC	COMPRESSOR - PORTABLE	MFCR	DEWALT	Æ		
00	MODEL		SERIAL .	20044349	CUBREPIT VALUE	\$100	DAWALE
28	STATUS	SHOP	HOLDEN	NONE	. COL		
UNIT NUMBER	DESC.	COMPOUND MITER SAW	MFGR	DELTA	E		
	Model		SERIAL#	hard a share a share and a share had been all the share of the share and	CURRENT VALUE	\$150	
29	STATUS	SHOP	LIEN	NONE	EUR		
UNIT MUMBER	DESC	PORTABLE TABLE SAW	MFGP	RYOBI	<u> </u>		n R
Transfer and the second of the second of	MODEL		SERIAL «	r saaksiseel sel sõus aadisele salta 1880–1977 leel riidiseleel källisele sakaasat riiksi mõiteseleel saltaste	CURRENT VALUE	\$150	
30	STATUS	SHOP	HOLDER	NONE	CURP		
I	: 1		1 }		į į		

UNIT NUMBER	DESC	RECIP SAW	NEGR	MILWAUKEE	J.			
24	MODEL	SAWZALL	SERIAL		CURRENT VALUE	\$75	/ 4	
31	EUTATE	SHOP	LIEN HOLDER	NONE	8			
UNIT HUMBER	DESC	GRINDER - RIGHT ANGLE	NFGR	MASTER FORCE	<u>щ</u>			
32	redder.		SERIAL	676	CURPLENT VALUE	\$35		
32	STATUS	SHOP	HOLDER	NONE	8			
UNIT NUMBER	DESC	ROTARY LASER	LFGA	TOP CON	#			
33	WODEL		SERIAL •		CURRENT VALUE	\$1,000	PHOTO HOL AVAR, ABLE	
33	STATUS	SHOP	HOLDEN	NONE	13		T CALLEGE TO THE STATE OF THE S	
ASBUUK TIKU	DESC	HAMMER DRILL	MFGR	BOSCH	3			
24	MODEL		SERIAL •	690005505	CURRENTVALUE	\$100		
34	STATUS	SHOP	HOLDER HOLDER	NONE	133			
PSGMUN TINU	D£5C	JIG SAW	LFGFL	BOSCH	JE.			
9E	WODEL		SERIAL •	783000740	CURRENT VALUE	\$75		
35	STATUS	SHOP	HOLDER	NONE	5			
UNIT NUIBER	DEBC	SAWSALL	l.FGR	DEWALT	JE.			
26	MODEL	PROPERTY AND AND THE SECOND AND AND AND AND AND AND AND AND AND A	SERIAL #	987959	CURRENT VALUE	\$75		
36	STATUS	SHOP	HOLDEN	NONE	ing .			
UNIT HUMBER	pesc	DRYWALL SCREWGUN	MFGR	DEWALT	3			
27	MODEL		SERIAL	967593	CURREPITVALUE	\$50	The second second	
37	EUTATE	SHOP	LIEN HOLDEN	NONE	3			
UNIT HUMBER	DESC	20 INC SAW	J.FGR	EDCO	# H			
20	MODEL	EDCO 20	SERIAL #	LM000402	CURRENTVALUE	\$2,000	PROTO HOT AVAILABLE	
38	STATUS	REPOSSESSED	LIEN HOLDER	CATERPILLAR FINANCIAL	큠			
UNIT HUMBER	DESC	PLATE COMPACTOR	MFGR	MBW	Æ			
20	MODEL	MBW COMPACTOR	SERIAL	70210266	CURREPUT VALUE	\$1,000	PROTOTION AVAILABLE	
39	STATUS	REPOSSESSED	LIEN HOLDER	CATERPILLAR FINANCIAL	10			
UHIT HUMBER	DESC	SOD CUTTER	MFGR	?	백			
40	MODEL		SERIAL F	?	CURRENT VALUE	\$1,000	PROTO NOT AVAILABLE	
40	STATUS	REPOSSESSED	LEN HOLDER	PATTEN / CAT ACCESS	155 E			

UNIT FAUNDER	DESC	STONE CUTTER	MFGP	STIHL	THE STATE OF		
44	MODE1.		SERIAL #	42210071009	CURRENT VALUE	\$400	CHES.
41	STATUS	SHOP	LIEN HOLDER	NONE	CUP		
DIALL WORKER	DESC	CUT OFF SAW	rikev	HITACHI	y		
42	MODEL		SERIAL #	500612	CURRENT VALUE	\$150	
42	STATUS	SHOP	LIEN HOLDER	NONE	3		
unit humber	DESC	BENCH GRINDER	MFGR	BLACK & DECKER	LUE		V. A.
43	MODEL		SERIAL *	9236	CURREINT VALUE	\$50	
70	STATU5	SHOP	HOLDER	NONE	8		
инт нимвен	DESC	COMPOUND MITER SAW	l.FGA	HITACHI			
44	MODEL		SERIAL #	H920894	CURRENT VALUE	\$200	
	STATUS	SHOP	HOLDER	NONE	ថ		
UNIT NUMBER	DESC	ORBITAL SANDER	MFGR	RIGID	# #		Ricon Park
45	MODEL		SERIAL #	BB07091073	CURRENT VALUE	\$50	
Ť	STATUS	SHOP	HOLDER	NONE	8		
UNIT NUMBER	DESC	JIG SAW	MFGR	MASTER MECHANIC			
46	HODEL		SERIAL .	A09	CURREPATIVALUE	\$50	
TU	SUTATE	SHOP	HOLDER	NONE	5		
UNIT (NUMBER	DESC	HAND PLANER	MFGR	RYOBI	LUE		
47	MODEL		SERIAL F	BB06477864	CURRENT VALUE	\$75	
7,	STATUS	SHOP	HOLDER	NONE	ਰ		And the second of the second o
UNIT NUMBER	DESC	JIG SAW	MFGP	BOSCH	33		
48	MODEL		SERIAL #	601581634	CURRENT VALUE	\$100	
70	STATUS	SHOP	LIEN HOLDER	NONE	5		
UNIT NUMBER	DESC	BELT SANDER	MFGR	RIGID	ue		
49	MODEL		SERIAL #	G053206319	CURRESAT VALUE	\$75	
73	STATUS	SHOP	HOLDER	NONE	70		
UNIT HUMBER	DESC	PALM SANDER	MFGR	RIGID	UE		
50	MODEL		SERIAL #	G053206319	CURRENT VALUE	\$50	
טט	STATUS	SHOP	LIEN HOLDER	NONE	3		

UNIT HUMBER	DESC	CORDLESS ROUTERS	NFGP	SENCO	Щ.		
E-1	MODEL		SERIAL#		CURRENT VALUE	\$100	- ∵ ∵ ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` `
51	STATUS	SHOP	LIEN HOLDER	NONE	6		
WAT NUMBER	DESC	SCRUGUN	MFGR	BLACK & DECKER	UE		
52	WODEL		SERIAL «	m _{ar} digungan's mandan'n dy a mis again a s'is an	CURNENT VALUE	\$50	
	STATUS	SHOP	LIEN HOLDER	NONE			Section of the sectio
UNIT HUUBER	DESC	DRYWALL ROUTER	NFGR	BLACK & DECKER	35		
53	NODEL	* ************************************	SERIAL		CURREIST VALUE	\$50	
30	STATUS	SHOP	KEN HOLDER	NONE	0		
PARAMIN THU	DESC	CORDLESS DRILL	MFQR	RIGID	LUE		
54	MODEL		SERIAL.		CURRENT VALUE	\$50	
JT	STATUS	SHOP	HOTDEU NEU	NONE	5		
равичи тич	DESC	CIRCULAR SAW	WEGA	SKILSAW	TUE E		A I
55	MODEL		SERIAL .		CURRENT VALUE	\$50	
JJ	STATUS	SHOP	HOTDEN	NONE	8		
UNIT NUMBER	DESC	DRILL	MFGF	BLACK & DECKER	LUE		. STILL STATE OF THE STATE OF T
56	MODEL		SERIAL		CURRERT VALUE	\$50	
30	STATUS	SHOP	HOLDER REGLIOH	NONE	0		
PASMUH THE	DESC	ORBITAL SANDER	MFQA	RIGID	TOPE		
57	WODEL		SERIAL •		CURRENT VALUE	\$50	
J,	STATUS	SHOP	LIEN HOLDER	NONE	5		
UNIT NUMBER	DESC	BISCUIT JOINTER	MFGR	PORTER CABLE	ıve		
58	MODEL		SERIAL	NO. 1-2-10-10-20-20-20-20-20-20-20-20-20-20-20-20-20	CURRENT VALUE	\$100	
30	EUTATB	SHOP	HOYDEN	NONE	8		111111111111111111111111111111111111111
UNIT (MUNDER	pesc	IMPACT	MEGF	RIGID	I.VE		
59	MODEL.		SERIAL 4	er er skriver in der skriver for er er skriver in der skriver in der skriver in der skriver in der skriver in	CURHENT VALUE	\$75	
	STATUS	SHOP	LIEN HOLDER	NONE	ថ		
VINT NUMBER	DESC	SHOP VACUUM	J.F.G.F.		106		
60	WODEL		SERIAL •	and the control of th	CURRENT VALUE	\$100	
00	STATUS	SHOP	HOLDER HOLDER	NONE	ថ		

UNIT NUMBER	DESC	24 FT EXTENSION LADDER	1.FGA	WERNER	UE		1 1/1
61	MODE1		SERIAL .	·	CURRENT VALUE	\$100	
01	BUTATB	SHOP	LIEN HOLDER	NONE	8		
HEBMUN TINU	DESC	14 FT STEP LADDER	MFGR	WERNER	J. I.		
62	NODEL		SERIAL #	openius gas op sementale entrettag op de kanton, park skrivet en kanton op de kanton op de kanton.	CURRENT VALUE	\$75	周崇
	STATUS	SHOP	HOLDER	NONE			
UNIT HUMBER	DESC	10 FT STEP LADDER	AFGR	WERNER	an I		
63	MODEL		SERIAL #	gan ir nga shangan kapa nghhi nghi khi yang nga ngang pang khang na a rang, namun pag nga man nga ng	CURRENT VALUE	\$50	温精
00	STATUS	SHOP	HOLDER	NONE	5		
UNIT NOMBER	DESC	10 FT STEP LADDER	JÆGPI	WERNER			
64	MODEL		SERIAL #	e. Guida peli populariste jakaikanan jog akkipika ayanakanap jap kanona yyojining a mogalisin a pagama.	CURRENT VALUE	\$50	
04	STATUS	SHOP	HOLDER	NONE	ថ		
инт нимвен	DESC	LADDER	MFGR	LITTLE GIANT	3		9a
65	MODEL	SHOP	SERIAL #	NONE	CURRENT VALUE	\$200	
UNIT NUMBER	DESC	LADDER	MFGR	GORILLA	<u>u</u>		De la
00	MODEL		SERIAL #		CURRENT VALUE	\$200	
66	STATUS	SHOP	LIEN HOLDER	NONE	CUR		
UNIT NUMBER	DESC	8 FT STEP LADDER	JAFGR	WERNER	빌		
67	MODEL		SERIAL •		CURRENT VALUE	\$75	
67	STATUS	SHOP	HOLDEN	NONE	8		
REGMUN TINU	DESC	24 FT EXTENSION LADDER	MFGR	WERNER	UE		
60	MODEL		SERIAL #		CURRENT VALUE	\$100	
68	STATUS	SHOP	LIEN HOLDER	NONE	3		
UNIT HUMBER	DESC	12V CORDLESS DRILL	MFGR	HITACHI	UE		
60	MODEL		BERIAL #	J380430	CURRENT VALUE	\$75	PHOTOTIOL AVAILABLE
69	STATUS	SHOP	LIEN HOLDER	NONE	6		
UNIT MUMBER	DESC	ROTARY LASER	IAFGR	TOP CON	胡		
70	MODEL		SERIAL #		синнент уд ие	\$1,000	PROTOTEST SVALABLE
70	STATUS	SHOP	LIEN HOLDER	NONE	50		

WHIT HULLIER	DESC	GAS ENGINE BLOWER	MFGR	STIHL	뷬		
202-1	MODEL		SERIAL #		CURRENT VALUE	\$75	
202-1	STATUS	TRUCK 202	LIEN HOLDER	NONE	8		
UHIT NUMBER	DE5C	SAWZALL	MFGR	RIGID	뱀		C
202-2	MODEL	BB0653 173	SERIAL #	690005535	CURRENT VALUE	\$75	CHOYO OOT AVAILABEE
202-2	STATUS	TRUCK 202	Horbey New	NONE			
REBUUK TIKU	DESC	JIG SAW	MFGP.	BOSCH	3		
202 2	MODEL		SERIAL •	683003838	CURRENT VALUE	\$50	PHOTO NOT AVAILABEL
202-3	STATUS	TRUCK 202	LIEN HOLDER	NONE	5		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
ABEKUN TINU	DE5C	AUTO FEED DRILL	MFGR	MILWAWKEE	- E		
200 4	MODEL		SERIAL #	143A507360388	CURRENT VALUE	\$150	PHOTOTICS AVAILABLE.
202-4	STATUS	TRUCK 202	LIEN HOLDER	NONE	. 13		
LIMIT NUMBER	DESC	CIRCULAR SAW	NFGP	SKILSAW	国		
000 5	MODEL		SERIAL #	HF-197068	CURRENT VALUE	\$75	PERA BAVA TOB OFORM
202-5	STATUS	TRUCK 202	LIEN HOLDER	NONE	li c		
PERMUNT THIU	DESC	NAIL GUN	MFGA	SENCO	里 们		
202-6	1.4OBEL		SERIAL #	701XP	CURRENTVALUE	\$200	HEUR HOU OT CHEL
202-0	STATUS	TRUCK 202	LIEN HOLDEA	NONE	8		ADDITIONAL
NHT NUMBER	DESC	ELECTRIC DRILL	AFGA	RIGID	UE		L/A). The manufacture of
202-7	MODEL		SERIAL W	BB065223914	CURRENT VALUE	\$75	PRESCOOL AVAILABLE
202-1	STATUS	TRUCK 202	HOTDEN	NONE	3		
UNIT NOMEER	DESC	CORDLESS DRILL	MEGR	RIGID	30		
202-8	MODEL		SERIAL #	GO65244156	CURRENT VALUE	\$75	PHOTOTION AVAILABEL
202-0	BUTATE	TRUCK 202	LIEN HOLDER	NONE	8		
UNIT NUMBÉR	DESC	CORDLESS DRILL	LFGA	RIGID	핅		
202-9	MODEL		SERIAL •	BB064128420	CURRENT VALUE	\$75	PHOTO HAS AWAR AREL
ZUZ-8	STATUS	TRUCK 202	HOLDER	NONE	- 5		
UNIT KUUBER	DESC	ROUTER	MEGR	PORTER CABLE	35		
202 42	MODEL		SERIAL #	0129028A2005	CURRENT VALUE	\$150	MICHO HOT AVALABLE.
202-10	STATUS	TRUCK 202	LIEN HOLDER	NONE	ins		

UNIT NUMBER	DESC	NAIL GUN	MFGA	PASSLODE	Щ		To the second management of the second managem
000 44	MODEL	F350S	SERIAL •		CURRENT VALUE	\$200	PROTOTOT AVARABEL
202-11	STATUS	TRUCK 202	HOLDEN	NONE	900		
REGMUN TINU	DESC	CIRCULAR SAW	мғая	SKILSAW	w		
202 12	MODEL	MAG 77	SERIAL .	HALL THE PERSON STREET, WITH THE PERSON STREET, THE	СОННЕИТ УАLUE	\$75	PHOYO UOT AVAILAREL
202-12	STATUS	TRUCK 202	UEN HOLDER	NONE	8		a virtual de la companya de la compa
UNIT NUMBER	DESC	CORDLESS DRILL	recu	MAKITA	H .	·	or and a second an
000 40	MODEL		SERIAL *	6387D	CURRENT VALUE	\$50	PRESTO DOT AVAILABEL.
202-13	STATUS	TRUCK 202	HOLDER	NONE	60		
PARAMENT THRU	DESC	PIPE THREAD KIT	MEGH	WESTWARD	J.		
202-14	MODEL		SERIAL.	44YR89	CURRENT VALUE	\$300	PROTO BOL AVAILABEL
202-14	STATUS	TRUCK 202	UEX HOLDER	NONE	13		
UNIT NUMBER	DESC	SAWSALL	hegy	PORTER CABLE	JE I		
202 15	NODEL		SERIAL *	164182	СИВЯЕНТ УАLUE	\$50	PERSTRANOT AWAR ASSEL
202-15	STATUS	TRUCK 202	LIEN HOLDER	NONE	8		1
UNIT NUMBER	DESC	CONCRETE NAIL GUN	MFGA	RAMSET REDHEA	¥		
202-16	MODEL		SERIAL #	D60	CURREI/IT VALUE	\$200	PROTO DEL AVAILABEL
202-10	STATUS	TRUCK 202	HOLDEN	NONE	3		
UNIT NUMBER	DESC	PIPE THREAD KIT	MEGA	RIGID	UE		
202-17	IAODEL		SERIAL *	E2393	CURRENT VALUE	\$300	Jaba Legg of Get
202-17	STATUS	TRUCK 202	LIEN HOLDER	NONE	3		•
REDMUKTIKIU	DESC	LADDER	Wech	GORILLA	뿔		
200 10	MODEL		SERIAL		CURRENT VALUE	\$150	PROTO HOL AVAILABEL
202-18	STATUS	TRUCK 202	HOCDEN TIEN	NONE	3		
UNIT HUMBER	DESC	LADDER	MFQFI	GORILLA	Æ		
000 40	MODEL		SERIAL.		CURRENT VALUE	\$150	PHOTE HOT AVAILABLE.
202-19	STATUS	TRUCK 202	UEN HOLDER	NONE	· 5		

TRUCK EQUIPMENT VALUE

\$2,475

UNIT NUMBER	DESC	AIR COMPRESSOR	MFGF	RIGID	4		
	MODEL		SERIAL .		CURRENT VALUE	\$200	
203-1	STATUS	TRUCK 203	LIEN HOLDER	NONE	69		
DINT NUMBER	DESC	COMPOUND MITER SAW	MEGA	HITACHI	#		
203-2	MODEL		SERIAL .		CURRENT VALUE	\$300	
203-2	STATUS	TRUCK 203	HOLDEN		8		
UNIT HUMBER	DESC	LADDER	l#GR	GORILLA	me.		
203-3	1.4ODEL		SERIAL •	gaaan si isaana wan aasa kuu araan wa aasan sa aana sa ahaa sa	CURHENT VALUE	\$100	PHOTO HOT AVAILABLE
200-0	STATUS	TRUCK 203	HOTDEN	NONE	ថ		
UNIT HUIJBER	DESC	LADDER	LUGH	GORILLA			
203-4	MODEL		SERIAL #	بالمعافدة والمحافظة والمعافدة والمعافدة والمعافدة والمعافدة والمعافدة والمعافدة والمعافدة والمعافدة	CURRENT VALUE	\$100	PROTO HOT AVAILABLE
	STATUS	TRUCK 203	HOLDEN	NONE		·····	
UNITHUMBEA	DESC	NAIL GUN	MFOR	PASSLODE	THE STATE OF THE S		
203-5	MODEL	5350S	SERIAL •	a singularing that which was the material and the stage of the singular day of the singularing of the singular stage of the singular	CURPENT VALUE	\$150	PROTEIROT AVAILABLE
	STATUS	TRUCK 203	HOLDER	NONE			
UNIT NUMBER	DESC	NAIL GUN	LEGR	PASSLODE			
203-6	MODEL	5350S	SERIAL •	والمستقدة	CURHENT VALUE	\$150	PHOTO HOT AVAILABLE
	STATUS	TRUCK 203	UEN HOLDER	NONE			
HBBILUN TINU	DESC	ROUTER	LUGA	BOSCH	une.		
203-7	MODEL		SERIAL 4	3019	CURRENT VALUE	\$75	Busklikva for o form
	STATUS	TRUCK 203	HOLDEN	NONE	٥		
UNIT NUMBER	DESC	ELECTRIC DRILL HD	MFGR	BLACK N DECKER	an let		
203-8	WODEL		SERIAL	164000	CURRENT VALUE	\$50	PHOTO HOT AVAILABLE
	STATUS	TRUCK 203	HOLDER	NONE	٥		
UNIT NUMBER	DESC	DRYWALL SCREWGUN	LIFGR	DEWALT	- In		
203-9	WODEL	anakkanamakalanikhiskalania anoo ooka oo anka oo anaka oo ana ahoo ahoo ahoo ahoo ahoo ahoo a	SERIAL S	853065	CURRENT VALUE	\$50	PROTO WAT AMAILABLE
	STATUS	TRUCK 203	LIEN HOLDER	NONE	ū		
UNIT HUMBER	DESC	PLANER	MFGR	воѕсн			
203-10	MODEL	a kadalan kabu kabu kabu kabu kabu kabu kabu kabu	SERIAL #	687000999	CURRENT VALUE	\$75	PHOTO DOT AVAILABLE
	STATUS	TRUCK 203	HOLDER	NONE	ថ		

UNIT HUMBER	DESC	ROTARY HAMMER	MFGA	воѕсн	4		Total Control of the
000 44	MODEL		SERIAL	782003428	CURRENT VALUE	\$100	PHESO OUT AVAILABLE
203-11	STATUS	TRUCK 203	HOLDEN	NONE	3		TO STORY TO
UNIT FILLE	DESC	PALM SANDER	NF CF	RYOBI	щ		•
000 40	MODEL		SERIAL .	213265	CURRENT VALUE	\$50	PHENONDI AVAILABLE
203-12	STATUS	TRUCK 203	LIEN HOLDEN	NONE	100		
РЭВИИМ ТИИ	DESC	PALM SANDER	ŅŒŖ	RIGID	H		
202 42	MODEL		SERIAL #	G05206320	CURRENT VALUE	\$50	PERFECTE AVAILABLE
203-13	STATUS	TRUCK 203	HOLDEN HOLDEN	NONE	8		
UNIT NUMBER	DESC	ROUTER	MFGR	PORTER CABLE	JE NE		
000 44	MODEL		SERIAL #	248612	CURRENT VALUE	\$100	PROTOTROL AVAILABLE
203-14	STATUS	TRUCK 203	LIEN HOLDER	NONE	מח		
PAGNUK TIKU	DESC	BELT SANDER	MFGA	HITACHI	J. DE		
000 45	MODEL		SERIAL #	620039	СОЯВЕНТ VALUE	\$50	PROTO DOT AVARAGOE
203-15	STATUS	TRUCK 203	LIEN HOLDER	NONE	5		A. A
UNIT NUMBER	DESC	HAND SAW	NFGP.	PORTER CABLE	J. P.		
000 46	MODEL		SERIAL.	01666A3021	сиянемт уацие	\$100	PHOTO GOT AVAILABLE
203-16	STATUS	TRUCK 203	UEN HOLDER	NONE	5		
РЭВИИН ТИШ	₽€SC	CIRCULAR SAW	We co	SKILSAW	ы		
000 47	MODEL	MAG 77	SERIAL •		CURPENT VALUE	\$100	PROTOTOS AVAILABLE
203-17	STATUS	TRUCK 203	LIEN HOLDER	NONE	8		
Paggara Tiku	DESC	JIGSAW	MFGA	воѕсн	y y		
000 10	MODEL		SERIAL •	78300694	CURRENT VALUE	\$75	PROTOTRALABLE
203-18	STATUS	TRUCK 203	LIEN HOLDER	NONE	3		
ABBINDIN TIMU	DESC	CORDLESS DRILL	MFQF	DEWALT	当		
203-19	INODEL		SERIAL.	225921	CURRENT VALUE	\$75	GERTO DOS AVAILADES
203-19	STATUS	TRUCK 203	LIEN HOLDER	NONE	8		
инт нимвея	DESC	AUTO FEED DRILL	l.fGA	MILWAWKEE	5		
202 20	1/KODEL		SERIAL •	143 A 507380397	CURNENT VALUE	\$150	PHOTO FEG ASARLABLE
203-20	STATUS	TRUCK 203	LIEN HOLDER	NONE	5		

UNIT YOUNGER	DESC	SCREW GUN	MEGR	RIGID	щ		
000 04	MODEL		SERIAL #	BB064216944	CURRENT VALUE	\$50	PROTO DOT AVAILABLE
203-21	STATUS	TRUCK 203	LIEN HOLDEN	NONE	13		
RESKUNTINU	DESC	SAWSALL	MFCJA	DEWALT) 		
203-22	MODEL		SERIAL •	27490064149	CURRENT VALUE	\$100	PRESTO LIGHT AVAILABLE
203-22	STATUS	TRUCK 203	HOLDERI	NONE	כה		
UNIT HUMBER	DESC	12V CORDLESS DRILL	LFCR	RIGID	UE		
203-23	MODEL		SERIAL #	G063219141	CLIFFENT VALUE	\$75	PHOTO HOT AVAICABLE
203-23	STATUS	TRUCK 203	HOTOEU FIEM	NONE	75		
NABRION TONO	DESC	12V CORDLESS DRILL	MFGFI	RIGID	JUE .		
203-24	MODEL		SERIAL #	G065242042	СИРРЕНТ УАЦИЕ	\$75	PROTO PROFAVAILABLE
203-24	STATUS	TRUCK 203	HOLDER	NONE	73		
UNIT NUMBER	DESC		MFGA		UE		
	MODEL		SERIAL #		CURRENT VALUE		PROTO HOT AVAILABLE
	STATUS		LIEN	NONE	3		CONTRACTOR OF THE PROPERTY OF
Habilust Tinu	DESC		MFGR		JJE		
	MODEL		SERIAL #		CURRENT VALUE		PROTO-HOT AVAILABLE
	STATUS		LIEN HOLDER	NONE	3		
инт ничвея	DESC		NFGA		JUE		
Common to Common to	MODEL		SERIAL II		RRENT VALUE		HISTO DOL AVAILAGUE
To de la constitución de la cons	STATUS		HOLDEA	NONE	8		
UNIT NUMBER	DE5C		MFCLFI		UE		
	MODEL		SERIAL #		CURRENT VALUE		PHOTOTED AVAILABLE
	STATUS		UEN HOLDER	NONE	3		
UNIT HUUBÉR	DESC		MFGR		JE		
	MODEL		SERIAL #		сиваеят удств		PHOTO (FOT SWARLARGER
	STATUS	The second secon	HOTDEY DEM	NONE	מח		
LIMIT MUMBER	DESC		MFGA		3		
	MODEL	The state of the s	SERIAL .		CURPENT VALUE		PROFOCIO LAVARABLE
	STATUS	The second secon	LIEN HOLDER	NONE	8		***

WIIT HUMBER	DESC	PLATE COMPACTOR	l.FGA	MBW	릐		
600 4	MODEL		SERIAL #		CURRENT VALUE	\$800	
602-1	STATUS	TRUCK 602	HOLDER	NONE	8		
UNIT NUMBER	DESC	PLATE COMPACTOR	MFGR	WACKER	9		
	MODEL		SERIAL		CURRENT VALUE	\$800	管理的
603-1	STATUS	TRUCK 602	LIEN HOLDER	NONE	6		
UNIT NUMBER	D€SC		LFGR		¥		
	MODEL		SERIAL •		CURRENT VALUE		PHOTO HOT AVAILABLE
	STATUS	WORKER THE CONTRACT THE STATE OF THE STATE O	HOLDER HOLDER		j.		
UNIT HUMBER	DESC		MFGR		Æ		CA LUT WAR BOARD
APRICA CONTROL OF THE PROPERTY	NODEL.		SERIAL #		CURRENT VALUE		PROTO HOT AVAILABLE
	STATUS		HOLDER		5		
CHIT HUMBER	DESC		MFGA		H.		
	MODEL	ales and in an allies of Free count bashed of America Att in Free Art Color And Art Color And Art Color Art Color And Art Color Art Colo	SERIAL 4	and the second different and second s	CUPRENT VALUE		PERMITAYALARE
in on secondary	STATUS	erre et en minimum et flessoch 1 Million et fleste	HOLDEN		CO.		
UNIT NUMBER	DESC		MFQA		Щ	Material (1997)	
	MODEL	ann ann an Airm Airm ann an Airm Airm Airm Airm Airm Airm Airm Airm	SERIAL	морить (ней д тарадите выдачи, паря в томая (1975 дін) добрато (1975 дін) до тарадит дене транст	CURRENT VALUE		FIND OF AVAILABLE
	STATUS		NEN HOLDER		8		
UNIT NUMBER	DESC		MFQF		H		
	MODEL	a committe de de la bell de la classifie y de l'état de l'estre de l'estre de la classifie de	SERIAL		CURRENT VALUE		PHRITOTROT AVAILABLE
	STATUS		HOLDER		5		
инп нимвен	DESC		1.FGA		H		
	MODEL		SERIAL .	113 303 303 30 30 30 30 30 30 30 30 30 30	CURPENT VALUE		PHOTO HOT AVAILABLE
	STATUS		LIEN HOLDER		5		
UNIT HUMBER	DESC		MFGA		Ш		
	MODEL		SERIAL #		CURRENT VALUE		POSTULENS AVAILABLE
	STATUS		LIE) I HOLDER		25		
UNIT HUMBER	DESC		JAFGR		#1		
	MODEL		SERIAL #		CURRENT VALUE		PHENTO MODE AVAILABLE
	STATUS		LIEN HOLDER		50		- Marie

HEBILUITINU	DESC	STONE CUTTER - GAS ENG	MEGA	AMERICAN SAW	<u> </u>		2,01-3.
C00.4	MODEL	AMERICUTTER 14	SERIAL .		CURRELAT VALUE	\$1,000	更是 D esign
603-1	STATUS	TRUCK 603	HOLDER	NONE	6		
UNIT NUMBER	pesc	SOD CUTTER	MEGR	TURFCO	H .		
603-2	MODEL		SERIAL .	33197	CURRENT VALUE	\$750	
003-2	STATUS	TRUCK 603	HOLDER	NONE	8		
UHIT NUMBER	DE5C	STONE CUTTER - GAS ENG	MFGR	STIHL	30		
	WODEL		SERIAL #		CURRERITVALUE	\$400	1-1-5
	STATUS	TRUCK 603	HOLDER	NONE	8		
UNIT HUMBER	DESC.		MEGR		当		
	MODEL		SERIAL #		CURRENT VALUE		PROTO NOT AVAILABLE
	STATUS		LIEN HOLDER		73		
PERMUN THU	DESC		MFCR		- F		
	MODEL	·	SERIAL #		CURRENT VALUE		PROTO HOT AVAILABLE
	STATUS		LIEN HOLDER		8		
ОНП НОМВЕЯ	DESC		NEGR				
	MODEL		SERIAL #		CUPPENT VALUE		BLEENING PROFESTORS
	STATUS		HOLDEA		្រី		
UNIT NUMBER	DE5C		MFCA		IDE		
	Model		SERIAL •		CURRENT VALUE		PROTOTOL AVAILABLE
	STATUS		HOLDER		5		
UNIT HUMBER	DESC		MFGA		35		
	MODEL		SERIAL P		CURRENT VALUE		PHOTOTEST AVAILABLE
	STATUS		HOLDER		ਰ 		
UNIT HUMBER	DESC		MFGA		- Tope		
	JAODEL		SERIAL		CURRENTVALUE		PROFOROT AVAILABLE
	STATUS		nari Radjori				
UNIT HULLBER	DE5C		MECS		301		
	MODEL		SERIAL #		CURRENT VALUE		PHOTO DOT AVAILABLE
	STATUS		LIEN HOLDER		8		

5	
5	
⋖	
_	
N	
÷	
o,	

80/90/60

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
Inventory 10B0114 15-S2S1N-A 3279-1 33820SL	PL Premium adhes Regal II for the sho Single Access Door Side Burner Site In	128 1	5.50 1,711.74 219.96 260.18	704.00 1,711.74 219.96 260.18	0.3% 0.8% 0.1% 0.1%	0.00	0.00 0.00 0.00 0.00	%0 %0 %0
Anderson Windows AW-C24(LR) AW-C25 AW-CX14(L) AW-CX14(R) AW-FWH3168(AR) AW-FWH3168(AR) AW-P3040 AW-P5040 AM-P5040 Anderson Windows - Other	4'-0" x 4'-0" Double 4'-0" x 5'-0" Double 2'-8" x 4'-0" Casem 2'-8" x 4'-0" Casem 3'-1" x 6'-8" French 3'-1" x 6'-8" French 3'-0" x 4'-0" Picture	. 040000000	658.02 649.76 408.22 408.22 941.34 890.96 336.53 530.42	2,599.03 0.00 0.00 0.00 0.00 0.00 0.00 0.00	0 %0 0 %0 0 %0 0 %0 0 %0	0000000000	0.0000000000000000000000000000000000000	%%000000000000000000000000000000000000
Total Anderson Windows AOG Grills 24NB 36-B-13 36NB AOG Grills - Other	AOG 24" Grill Spit Rod for 36" A AOG 36" Grill	4 80000	639.00 0.00 901.00 0.00	2,599.03 1,278.00 0.00 0.00	1.20% 0.6% 0% 0% 0%	0000	0.00	0.00% 0 %0 0 %0
Total AOG Grills ASD-10001 AZEK	Sod	N C	89.46	1,278.00	0.60% 0%		0.00	0.00%
CORNERBOARDS - FRONTIER AZ-CBF544410 CORNERBOARDS - FRONTIER - Other Total CORNERBOARDS - FRONTIER	5/4" x 4" x 4" x 10'	000	36.03 0.00	72.06 0.00	%0 %0 0.00%	0.00	0.00	%0 %0 0.00%
SHEETS - TRADTIONAL - Other SHEETS - TRADTIONAL - Other Total SHEETS - TRADTIONAL	3/8" x 4' x 10' Shee	11 0 1	69.98	769.78 0.00 769.78	0.4% 0% 0.40%	0.00	0.00	%0 %0 0.00%
AZ-TBF010218 AZ-TBF011018 AZ-TBF011018 TRIMBOARDS - FRONTIER - Other	1" x 2" x 18' Trimb 1" x 10" x 18' Trim	9 8 9	8.76 52.82 0.00	78.84 158.46 0.00 237.30	0% 0.1% 0% 0.10%	0.00	0.00 0.00 0.00	%0 %0 %0
AZEK - Other Total AZEK Boulder Greek		25	0.00	1,079.14	0.50%	0.00	0.00	%00°0 ·
16S2020	Base Mortar Mix 8	0	8.25	0.00	%0	0.00	0,00	%0

Page 1

9:27 AM	80/90/60

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
BC-16S2000 Boulder Creek - Other	Metal Lath 27" x 96"	00	92.20	0.00	%0 %0	0.00	0.00	%0 %0
Total Boulder Creek		0		0.00	0.00%		0.00	0.00%
BULK MATERIALS			!	,	i	1	i i	ì
BM-00186	7x2 Michigan Cobb	0 (19.49	0.00	%0	0.00	0.00	%0
BM-10001	Grade 8 Limestone	-56.66	10.55	-597.81	-0.3% -0.3%	0.00	0.00	% 0
BM-10002	Grade 9 Limestone	S '	70.35	207.00	U.1%	0.00	000	°, °
BM-10003	Limestone Screeni	0	13.00	0.00	%0	0.00	0.00	%0
BM-10004	Pea Gravel	4.05	6.70	27.14	%0	0.00	0.00	%0
BM-10005	Topsoil - Pulverized	2	9.00	189.00	0.1%	0.00	0.00	%0
BM-10006	Mulch - Premium -	9	16.57	99.43	%0°	0.00	0.00	%) ()
BM-10007	l orpedo Sand	27.1	13.04	353.41	0.2%	0.00	0.00	%O
BM-10008	Concrete Heady Mi	041 RA	9.0	-119.05	, c.c.	00.0	00.0	%0 %0
	Mason's Sand	Šrů	4.25	-21.25	%	0.00	0.00	%0 20
D. 00.00	# 8 Stone - Washe	-3.64	9.95	-36.23	%O-	0.00	0.00	%0
BM-10030	Clean Fill	0	7,50	0.00	%0	0.00	0.00	%0
BM-10040	2' x 3' Bluestone	0	6.35	0.00	%0	6.35	0.00	%0
BM-10060	18" x 48" x 5.25" F	O	32.71	0.00	%0	0.00	0.00	%0
BM-SOD600	SOD - KY Blue Gr	5,847	0.17	964.75	0.4%	0.00	0.00	%0
BM-SOD700	SOD - KY Blue Gr	4,200	0.15	630.00	0.3%	0.00	0.00	%0
BULK MATERIALS - Other		ത	47.14	424.22	0.5%	0.00	0.00	% 0
Total BULK MATERIALS		10,163.85		2,619.27	1.20%		0.00	0.00%
2007.31000		440	0.33	144 5B	0.1%	0.00	0.00	%0
CROSSTIMBERS BALUSTER		r r						!
C-1310560	Crosstimbers 12"x	6	15.69	141.21	0.1%	0.00	0.00	%0 ***
C-1310563	Crosstimbers 12"x	64	12.99	831.36	0.4%	0.00	0.00	%0 0
C-1310569	Crosstimbers 12"x	0	15.69	0.00	%0	0.00	0.00	%0
BALUSTER - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total BALUSTER		73		972.57	0.50%		0.00	0.00%
C-1310539	Crosstimbers 12'x2	7	28.46	199.22	0.1%	0.00	0.00	%0
C-1310540	Crosstimbers 12'x2	_	23.71	23,71	%0	0.00	00.0	%0
C-1310542	Crosstimbers 12'x2	0	28.46	0.00	%0	0.00	0.00	%0
DECKING - EMBOSSED				1	;	1	6	č
C-1310513	Crosstimbers 12'x5	0	25.69	0.00	%0 -	0.00	0.00	%0
C-1310520	Crosstimbers 12'x5	34	24.53	833.93	0.4%	0.00	0.00	%0 %0
C-1310521	Crosstimbers 16'x5	180	32.83	5,909.30	Z.7%	0.00	0.00	%0
C-1310522	Crosstimbers 20'x5	45	42.82	1,926.90	0.9%	0.00	0.00	%0
C-1310530	Crosstimbers 12'x5	ট	21.44	321.60	0.1%	0.00	0.00	%0
DECKING - EMBOSSED - Other		0	0.00	0.00	%0	0.00	0.00	%
Total DECKING - EMBOSSED		274		8,991.73	4.20%		0.00	0.00%
HIDDEN FASTENING SYSTEM								

:2/ AM	80/90/6
6	60

Outdoor crying, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
C-1310630 C-1310630A HIDDEN FASTENING SYSTEM - Other	Crosstimbers EZ B Crosstimbers EZ B	800	103.82 24.09 0.00	311.46 0.00 0.00	0.1% 0% 0%	00.0	0.00	%0 %0
Total HIDDEN FASTENING SYSTEM		(C)		311.46	0.10%		0.00	0.00%
POST CAPS C-1310660	Crosstimbers Post	56	4.57	118.82	0.1%	0.00	0.00	%0
C-1310663	Crosstimbers Post	- 6	5.67	5.67	%0	00:0	0.00	%0 %0
C-1310666 C-1310669	Crosstimbers Post	S 8	4.57	100.54	%°°	0.00	0.00	%0 %0
POST CAPS - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total POST CAPS		7.1		325.57	0.20%		0.00	0.00%
POST SKIRTS C-1310680	Crosstimbers Post	24	4.74	113.80	0.1%	0.00	0.00	%0
C-1310683	Crosstimbers Post	-	5.17	5.17	%0	0.00	0.00	%0
C-1310686	Crosstimbers Post	61	4.59	87.21	%0	0.00	0.0	%0 0
C-1310689 POST SKIRTS - Other	Grossilinders Post	<u> </u>	0.00	0.00	%0 *0	0.00	0.00	%0 %0
Total POST SKIRTS		29		266,22	0.10%		0.00	0.00%
POSTS	Crosstimbers 54"x	9	29.14	174.84	0.1%	0.00	0.00	%0
C-1310583	Crosstimbers 54"x		29.14	87.42	%0	0.00	0.00	%0
C-1310589	Crosstimbers 54"x	0 0	29.14	0.00	%0 %0	0.00	0.00	%0 %0
Total POSTS		6		262.26	0.10%		0.00	0.00%
SKIRTING - EMBOSSED	;	•		•	č	ć	c c	ò
C-1310620	Crosstimbers 12'x1 Grosstimbers 12'x1	o <u>č</u>	15.29 38.15	0.00	%°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°	0000	00.00 00.00	%0 0
C-1310625	Crosstimbers 12'x1	iro	30.95	154.75	0.1%	00.00	0.00	%0
C-1310628 SKIRTING - EMBOSSED - Other	Crosstimbers 12'x1	00	38.15 0.00	0.00	%0 %0	0.00	0.00	%0 %0
Total SKIRTING - EMBOSSED	4	17		612.55	0.30%		0.00	0.00%
SOLID BOARDS - EMBOSSED C-1310676	Crosstimbers 12'x5	99	28.50	1,938.33	0.9%	0.00	0.00	%0
C-1310677	Crosstimbers 12'x5	0	24.73	0.00	%0	0.00	0.00	%0
C-1310679 SOLID BOARDS - EMBOSSED - Other	Crosstimbers 12'x5	0 0	29.54		%D	0.00	0.00	%0 %0
Total SOLID BOARDS - EMBOSSED		68		1,938.33	0:30%		0.00	0.00%
CHOSSTIMBERS - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total CROSSTIMBERS		579		13,903.62	6.50%		0.00	0.00%

CULTURED STONE

Ξ	æ
2	0
٠.	ō
-	0
Ŋ	<u> </u>
30	õ

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
CHS-1002	OCCultured Stone	0	24.96	0.00	%0	0.00	0.00	%0
CPC-1213	24" X 24" Flagston	-	151.73	151.73	0.1%	266.20	266.20	0.5%
CS-420066	Pro-Fit Alpine Ledg	0	69.38	0.00	%0	93.60	0.00	%0
CS-420114	-	0	65.60	0.00	%0	0.00	0.00	%0
CSV-2022-C	OC Cultured Stone	0	64.20	0.00	%0	85.88	0.00	%0
CSV-2022-F	OC Cultured Stone	0	66.53	0.00	%0	87.38	0.00	%0
CSV-2030-C	OC Cultured Stone	0	73.61	0.00	%0	85.88	0.00	%0
CSV-2030-F	OC Cultured Stone	0	79.74	0.00	%0	87.38	0.00	%0
CSV-2035-C	OC Cultured Stone	0	64.20	0.00	%0	85.88	00.00	%0
CSV-2035-F	OC Cultured Stone	14	70.03	980.42	0.5%	87.38	1,223.32	1%
CSV-2054-C	OC Cultured Stone	0	64.32	0.00	%0	117.40	0.00	%0
CSV-2054-F	OC Cultured Stone	0	55.62	0.00	%0	100.38	0.00	%0
CULTURED STONE - Other		4	64.75	259.00	0.1%	0.00	0.00	% 0
Total CULTURED STONE		19		1,391.15	0.60%		1,489.52	1.20%
DECKORATORS								
DB35062	Frantier Scenic Co	0	5.48	0.00	%0	0.00	0.00	%0
DB35072	Frontier Scenic Co	O.	5.48	0.00	%0	0.00	0.00	%0
DB35082	Frontier Scenic Co	0 0	5.48	0.00	%0	0.00	000	%0 %0
DECKORATORS - Other		7	00.0	0.00	80 	0.00	8.0	0
Total DECKORATORS		0		0.00	0.00%		0.00	0.00%
DOC-BOX		c	, 0	72.00	0 7 0	E4 78	75 77 1	70 + 07
Wad	Doc-box will wilde	ים ע	38 53	154 19	 	54.50	15.55 FO 812	2.5%
Down Other		r 0	0.00	0.00	%0	0.00	0.00	%0
		7		08 P.9C	.0 10%		GP 828	0.30%
לטם-טטר ופוט ו		-		20.00			5	
DRAIN TILE	() () () () () () () () () ()	Ċ	,	1	òò	c c	c	\o C
DT-10011	4" Solid PVC 2' Se	9	1.40	-70.00	-0% -0%	0.00	0.00	%0 %0
DT-10100	4" Plastic Drain Til	1,100	0.57	631.25	0.3%	0.00	0.00	0%
DT-10111	4" Plastic Coupling	57	1.72	97.84	%O	0.00	0.00	%n
DT-10122	4" Plastic Y Conne	12	4.73	56.80	%0	0.00	0.00	%0 0%
DT-10123	4" Plastic TEE Con	2 .	3.B5	00.77	%0	0.00	0.00	% 0 0
DT-10125	4" Plastic Lubing C		2.40	14.40	%) 0	Da :	00.12	°/0
DT-10133	4" Plastic drain tile	N Ç	ن ان ب	05.30	%	000	0.00	9/0
DI-10142	4" FIEX CONTINGUE	2 ₹	0.0	10.30	9 6	000	000	800
/e101-10	4 Pop-Op Valve	- -	18.03 20.81	00.763 00.891	 	000	00.0	%0
DRAIN TILE - Other		0	00.0	0.00	%0	0.00	0.00	%0
Total DRAIN TILE		1,182		1,287.89	0.60%		21.60	0.00%
EGH ATHBG	2.5 Galvanized Met	,-	58,90	58.90	%0	0.00	0.00	%0
ELECTRICAL								,
60AMPBRKR	60 AMP Breaker	0	6.86	0.00	%0	0.00	0.00	%0 0%
8GAUGEBLK	8 Gauge Black Wire	, (215.18	215.18	0.1%	0.00	0.00	%0 0
BWF600CGV	600-CGV Thru Alu	N	4.70	9.39	U76	מיח	מינה	U.70

Page 4

	_
ξ	80
1	9
:27	8
6	0

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
	Th Al.:	C	7 05	45.80	760	000	000	%0
BWF601CGV	יייחש אווות אוחרייים	u i	3 6	20.03	8,0	8 6	800	790
COMP12CONN	1/2" Compression	S	6.	4.40	% <u>`</u> O	0.00	0.00	9/0
COMP12COUP	1/2" Compression	24	1.00	24.02	%0	0.00	0.00	%0
COMPACONN	3/4" Compression	4	2.73	10.92	%D	0.00	0.00	%0
COMPACOUP	3/4" Compression	ø	3.97	23.81	%0	0.00	00'0	%0
COND1290GALV	1/2" 90 Deg Galv E	17	3.00	50.99	%0	0.00	00:0	%0
CONDISTEEL	1/2" Galv Steel Co	194	0.97	188.55	0.1%	0.00	00:0	%0
CONDAGORALV	3/4" 90 Den Galv	. 00	2.43	19.47	%0	0.00	0.00	%0
	3/4" 90 Den PVC F	<u> </u>	0.72	8.61	%0	0.00	00'0	%0
CONDOCTED	3/4" EMT Conduit	1 2	0.42	29.15	%0	0.00	0.00	%0
	3/4" Galv Steel He	120	000	264.23	0.1%	0.00	00.0	%0
0011034110	SA Cary Close Fig.	j	910	7 73	% 		00.0	%0
CONNOCACINI	9/4 GC TITE O	ga	5 5	מייי	%		000	%0
COINGASEAL	0/4 0EAL111 C CC	2 5	÷ c	0r (5)	7°0	6		%D
COUP34PVC	3/4 PVC Coupling	ָלָי נְלָ	0 0	04.40	° è	8 6	oo o	700
COUP34SCREMT	3/4" EMI SCIEW S	S ·	0.33	9 C	% 5 6	000	00.0	° 0
DUCT2x60	2 x 60 YD Duct Tape	 - 1	0.20	0.20	200	0.00	000	8/0
JB664PVC	6" x 6" x 4" PVC Ju	יי	19.83	59.49	%0	0:00	0.00	0.70
MEYER34HUB	3/4" Meyer's Hub	ε0	3.22	25.77	%0	0.00	0.00	%n
MINI34HGR	3/4" Galv Steel Min	<u>ਨ</u>	0.38	5.75	%0	0.00	0.00	%0
SEAL34EF	3/4" SEALTITE Co	82	0.65	11.61	%0	0.00	0.00	%0
SPADISCEO	Spa Disconnect 50	0	140.00	0.00	%0	0.00	0.00	%0
SPADISCED	Spa Disconnect 60	CV	166.60	333.20	0.5%	00:0	0.00	%0
STRAP3/4EMT	3/4" EMT Strap	92	0.19	17.05	%0	0.00	0.00	%0
WIRE10GBN	10 Gauge Green	290	0.24	70.46	%0	00:0	00'0	%0
WIBEIDWHT	10 Gauge White W	-	91.66	81.66	%0	00'0	0.00	%0
WIRERIK	6 Gauge Black Wire	0	0.71	0.00	%0 ·	0.00	0.00	%0
ELECTRICAL - Other	,	0	0.00	0.00	%0	000	0.00	%0
Total ELECTRICAL		766		1,548.28	0.70%		0.00	0.00%
FASTENEDS								
86417-8	T-10 Star Drive Bit	151	23.99	3,622.54	1.7%	0.00	0.00	%0
E-09G2450	3-5/8" Ledger Lok (한	16.26	195,12	0.1%	0.00	0.00	%0
F-09G2451	5" Ledaer Lok	7	19.10	133.70	0.1%	0.00	0.00	%0
F-09G3451	8" Timberlok (250	-50	72.19	-3,609.50	-1.7%	0.00	00:00	%0
F-15002	8x2" Star Drive AC	0	15.37	0.00	%0	0.00	0.00	%0
F-15003	8x2-1/2" Star Drive	0	15.16	0.00	%0	0.00	0.00	%0
F-16005	8 x 1 1/2" Composi	14	26.01	364.14	0.2%	0.00	0.00	%0
F-16007	8 x 2" RT Composi	-	26.01	286.11	0.1%	43.35	476.85	0.4%
F-16079	8 x 2-1/2" RT Com	Ξ	26.01	286.11	0.1%	43.35	476.85	0.4%
F-16081	8 x 2-3/4" RT Com	Ņ	26.01	-52.02	%O-	43,35	-86.70	-0.1%
F-16083	8 x 3-1/8" RT Com	CΔI	26.01	52.02	%0	0.00	0.00	%0
F-30002	2-3/8"x.113 Pneum	4	25.10	100.40	%0	0.00	00.00	%0
F-30003	3"x.120 Pneumatic	80	30.95	247.56	0.1%	0.00	0.00	%0
F-30004	3-1/4"x.120 Pneum	7	37.00	-37.00	%O-	0.00	0.00	%0
F-30010	1-1/2x.148 Positive	CV3	28.50	57.00	%0	0.00	0.00	%0
F-612414	1/2" x 4 1/4" Wedg	-301	0.47	-141.47	-0.1%	0.00	0.00	%0
F-638334	3/8" × 3 3/4" Wedg	0	0.29	0.00	%0	0.00	0.00	%0
								Page 5

Ā	90/
9:27	90/60

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
F-80111	11 oz Paver & Bloc	0	1.43	0.00	%0	0.00	0.00	%0
F-80229	Deck Adhesive / Q	0	1.69	0.00	%0	0.00	0.00	%0
F-8HGRSPD	8d HG Bulk Nail	4	31.88	127.52	0.1%	00:0	0.00	%0
F-AB44Z	4x4 Post Anchor B	34	1.00	34.00	%0	0.00	0.00	%0
F-C38032	3/8" x 3-1/2" HG C	334	0.11	38.30	%0	0.00	0.00	%0
F-C3805	3/8" x 5" HG Carria	ო	0.14	0.41	%0	0.00	0.00	%0
F-C3806	3/8" x 6" HG Carria	142	0.18	24.92	%0	0.00	0.00	%0
F-C3807	3/8" X 7" HG Carri	311	0.26	81.18	%0	00:00	0.00	%0
F-C3808	3/8" x 8" HG Carria	1,037	0.31	321.33	0.1%	0.00	00'0	%0
F-C3814	3/8" x 14" HG Carri	-100	0.00	0.00	%0	0.00	00.00	%0
F-L.S3803	3/8"x3" HG Lag Sc	259	0.10	27.04	%0	0.00	0.00	%0
F-LS3806	3/8" x 6" HG Lag S	8	0.00	0.00	%0	00:00	0.00	%0
F-LS38412	3/8" x 4-1/2" HG La	4	0.15	2.10	%0	0.00	0.00	%0
F-LUS2102Z	2x10 Double Joist	49	1.15	56.35	%0	0.00	0.00	%0
F-LUS210Z	2x10 Joist Hanger	228	0.58	132.24	0.1%	0.00	0.00	%0
F-LUS26Z	2 X 6 Joist Hanger	-18	0.42	-7.56	%0-	0.00	0.00	%0
F-LUS282Z	2x8 Double Joist H	175	1.17	204.71	0.1%	0.00	0.00	%0
F-LUS28Z	2x8 Joist Hanger	346	0.57	195.70	0.1%	0.00	0.00	%0
F-N38	3/8" HG Hex Nut	6,220	0.02	127.21	0.1%	0.00	0.00	%0
F-S229A	3" HG Maze Nail	다	90.6	108.72	0.1%	00:00	0.00	%0
F-SUL210Z	Left 45 2 x 10 Joist	5	5.79	86.85	%0	0.00	0.00	%0
F-SUL26Z	Left 45 2 x 6/8 Joi	38	3.82	137.44	0.1%	0.00	0.00	%0
F-SUR210Z	Right 45 2 x 10 Joi	5	5.79	86.85	%0	0.00	00.00	%0
F-SUR26Z	Right 45 2 x 6/8 Joi	36	3.82	137.44	0.1%	0.00	0.00	%0
F-W38	3/8" HG Flat Washer	7,457	0.02	122.30	0.1%	0.00	0.00	%0
F-WF38	3/8" HG Fender W	2	0.00	0.00	%0	0.00	0.00	%0
FASTENERS - Other		0	00.00	0.00	%0	0.00	0.00	%0
Total FASTENERS		16,487		3,549.76	1.60%		867.00	0.70%
FIREMAGIC GBILLS								
12.8181M.4	Custom Stide-In	0	1.167.36	0.00	%0	00'0	0.00	%0
17.000111	Benal II Slide-In P		794.93	00.0	%0	0.00	0.00	%0
10-50	Bar Caddy		288.00	0.00	%0	0000	0.00	%0
23920-1-8	20" x 14" Louvered	0	86.40	0.00	%0	0.00	0.00	%0
23924-5	24" x 17" SS Door	0	116.28	0.00	%0	0.00	0.00	%0
25914-S	Drawer & Propane	0	271.20	0.00	%0	0.00	0.00	%0
2B-S2L1N-61	Monarch Cart Style	0	3,317.97	0.00	%0	4,074.70	0.00	%0
3199-32	Generator - Battery	,-	12.15	12.15	%0	30.00	30.00	%0
3199-60	Ignition Kit w/ Wire	-	18.00	18.00	%0	40.00	40.00	%0
33820-SL	single access door	0	304.02	0.00	%0	00:00	0.00	%0
33820-SR	single access door	0	304.02	0.00	%0	0.00	0.00	%0
33920-SL	Single Access Doo	0	95.40	0.00	%0	212.00	0.00	%0
33920-SR	Single Access Doo	0	95.40	0.00	%0	212.00	0.00	%0
33930S-22	Gourmet Double D	0	482.40	0.00	%0	0.00	0:00	%0
3590A	Refrigerator 4.4 cu. ft	0	274.05	0.00	%0	0.00	0.00	%0
3606G	Heavy Duty Rotiss	0	91.35	0.00	%0	203.00	0.00	%0
3609G	Super Heavy Duty	0	156.15	0.00	%0	0.00	0.00	%0

Page 6

AM	
9:27	

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
		***************************************				0 0	6	è
3644	Cover for Custom I	0	25.20	0.00	%0	26.00	0.00	%0
3647	Thermo Cover for	0	31.50	0.00	%0	0.00	0:00	%O
5188.20	Thermo Madic Hea	-	57.60	57.60	%0	0.00	0.0	%0
DB-4	Gas Reculator	-	10.35	10,35	%0	28.00	28.00	%0
FIREMAGIC GRILLS - Other		0	00.00	0.00	%0	00.00	0.00	%0
Total FIREMAGIC GRILLS		4		98.10	%00.0		98.00	0.10%
FIREDIT ACCESS								
FP-CFG24	24" Firepit Bar Grate	0	87.19	0.00	%0	99.00	00.0	%0
FP-CFG30	30" Firepit Bar Grate	0	109.03	0.00	%0	149.00	0.00	%0
FP-CFG36	36" Firepit Bar Grate	0	130.68	00.00	%0	199.00	0.00	%0
FP-CFG48	48" Firepit Bar Grate	~	250.00	250.00	0.1%	0.00	0.00	%0
FP-SV17PCN	17" Straight Log Li	23	25.00	50.00	%0	33.35	66.70	0.1%
FIREPIT ACCESS - Other		0	0.00	0.00	%0	0.00	0:00	%0
Total FIREPIT ACCESS		6		300.00	0.10%		66.70	0.10%
FIREPITS								
SB-10004	Navajo Firepot - Te	-	543.25	543.25	0.3%	671.25	671.25	0.5%
SB-20003	Evening Glo Firepit		543.25	543.25	0.3%	0.00	0.00	%0
SB-30002	Summer Nights Fir		773.78	773.78	0.4%	0.00	0.00	%0
SB-30003	Summer Nights Fir	0	0.00	0.00	%0	0.00	0.00	%0
SB-40003	Autumn Glow Firep	 1	796.10	796.10	0.4%	0.00	0.00	%0
SB-70003	Gemstone -Sandst	0	1,215.00	0.00	%0	0.00	0.00	%0
FIREPITS - Other	Firepits	0	0.00	0.00	%0	0.00	00:00	%0
Total FIREPITS		4		2,656.38	1.20%		671.25	0.50%
FORTRESS								
F-640000	32" Residential Ral	0	57.38	0.00	%0	91.80	0.00	%0
F-640001-ORB	32" Residential Ral	0	72.70	0.00	%0	145.40	0.00	%0 0
F-640005	36" Residential Rai	ιΩ	97.15	485.75	0.5%	0.00	0.00	%0 **
F-640005-ORB	36" Residential Rai	0	100.28	0.00	%0	222.84	0.00	%0 *0
F-640006-ORB	36" Residential Rai	0	80.12	0.00	%0 **	178.04	0.00	%0
F-640010	Plain Iron Panel 8'	0	78.91	0.00	%0	0.00	0.00	%0
F-640015	72" Residential Fe	0 (98.38	0.00	%0	0.00	0.00	%0 60
F-640050	AL-04 Adjustable B	5 (4.43	0.00	%0	12.73	0.00	0%0
F-640050-ORB	AL-04 - Adjustable	0 6	3	0.00	%0	16.00	0.00	0,0
F-640051	SIM-08 Side Modifil	ם מ		45.02	0,00	7.0	123.50	00
F-640055	Straight Easy Mou	2 6	97.6	403.20	% Z C	4.00 4.00 4.00 4.00	003.00	0.5%
F-54U056		3 .	27.7 30.00	200.10 400.10	5 - C	7.45	4 0.00	%°C C
T-540050	Din Too o' GL	o c	50.20	20.00	0,1.0	5.10	02.44.5	%C
T-04000-0AB	o" v 43" Doet w/ 4"	0 0	13.70	8 6	%0	16.50	000	%0 %0
7-6400/4 1 6-0000	o" < 70" [70" +	0 0	15.27	8 6	%	77.1.2	8.0	%0
000000	2 A 2 A 12 HOLL	0 0	7.0	8 6	%O	800	8 6	%0
F-640082	Collection rost	0 0	70,12	800	8/0	00.00	86	% C
7-540139	GOILGE IFO INSELL	0 0	0.73	9 6	9/0	50.03	800	%0
F-640210		> 0	64:00	0.00	9/0	8.0	800	% °C
F-640215	72" Hesidential Pl	5	9Z.Z!	0.00	P/O	ororo	0.00	0/0

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
F-640255	33" Residential IG	0	43.98	0.00	%0	65.97	0.00	%0
F-640260	42" Residential IG	0	71.51	0.00	%0	0.00	0.00	%0
F-650044	HD-104 Heavy Dut	0	5.77	0.00	%0	8,86	0.00	%0
F-650044-ORB	HD-104 - Heavy D	0	10.24	0.00	%0	20.48	0.00	%0
F.650045	HD-105 Heavy Dut	9	7.44	44.64	%0	0.00	0.00	%0
F-650055-ORB	Hand Rail Brackets	0	8.95	0.00	%0	17.90	0.00	%0
F-650077	Pressed Dome Po	0	0.63	0.00	%0	0.00	0.00	%0
F-650080	Lock 'N Latch Set	αı	25.93	51.86	%0	33.38	66.76	0.1%
F-650085	Tru-Close Commer	4	34.37	137.48	0.1%	0.00	0.00	%0
F-650086	Gate Hinge Set (2/	0	48.00	0.00	%0	36.57	0.00	%0
F-650400	32" Residential Adj	0	67.38	0.00	%0	107.80	0.00	%0
F-650445-ORB	8' - Residential Gra	0	33.19	0.00	%0	66.38	0.00	%0
F-650446-ORB	Hand Rail Return	6	19.62	176.58	0.1%	39.24	353.16	0.3%
F-660000	26" Round Plain Pi	40	1.26	50.48	%0 *0	0.00	0.00	%0
F-650001	26" Round Plain Pi	29	1.45	97.15	%0 	2.42	162.14	0.1%
F-660003		0	1.30	0.00	%0	2.42	0.00	%0
F-660006		0	1.26	0.00	%0 0	0.00	0.00	%0
F-650010		0	3.70	0.00	%0 '	0.00	0.00	%0 0%
F-660011		0	4.15	0.00	%0	6,92	0.00	%0
F-660013		4	3.69	14.76	%0	6.92	27.68	%0
F-660016		0	3.70	0.00	%0	0.00	0.00	%D
F-660020		0	5.92	0.00	%0 %0	0.00	0.00	%0
F-660021			6.65	0.00	%0	11.09	0.00	%0
F-660023		7	5.89	41.23	%0	11.09	77.63	0.1%
F-660050		-367	1.73	-633.90	-0.3%	2.98	-1,093.66	%6.0- .0.9%
F-660052		90	1.61	161.45	0.1%	0.00	0.00	%0
F-660053		24	1.79	42.95	%0	0.00	0.00	0%0
F-660056		82	6.55	537.16	%.'O	1./9	140.78	%I.O
F-660060		ກເ	4.22	12.00	% o	7.50 7.50	00.77	8/O C
F-660066		Si c	4.3/	727.37	0.1% 6.1%	4,50	00.450	6,2.0
F-660070	32" Hound Double	ָי כ	6.46	0.00	%	/0.1	00:00	%) C
F-660076	32" Hound Double	ប៊	0.79	100.49	° è	00.7	00:00	, è
F-660349	Viener-up Paint - A	o ç	14.34	0.00	%0	20.00	8.6	%0
T-0004U0	oe" Straight DV GI	2 6	7.7 24 B4	720.36	%80	000	0.00	%0
0000001	34" Straight DV GI		33 00	66.00	%0	00.0	0.00	%0
F-66052	34" Straight PV GI	10	37.50	0.00	%0	0.00	0.00	%0
F-66052	34" Straight PV Gl	0	37.50	0.00	%0	0.00	0.00	%0
F-660685	Nylon Mounting Sh	10	7.47	74.70	%0	0.00	0.00	%0
F-660977	Fortress Epoxy Kit	7	18.44	-18.44	%O-	36.88	-36.88	%O-
FORTRESS - Other	•	0	00:00	0.00	%0	00'0	0.00	%0
Total FORTRESS		217		3,326.76	1.50%		1,497.32	1.20%
FR-14A9860	Regis 3000 Wall M	56	2.41	134.96	0.1%	0.00	0.00	%0
FREEWIRE	3		:	-	į	1		
FW-1162	Freewire Keyfob &	7 4	11.66	81.59	%1 0.1%	000	00:0	%°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°
		:	i	† • •	:	1		

Æ	8
⋖	6
2	몿
6	ő

FREEWIRE - Other

FW-FWIR

Total FREEWIRE

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

Item Description	ription	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
Freewire Indoor Re	oor Re	6	12.95	116.55 0.00	0.1%	0.00	0.00	%0 %0
		33		367.97	0.20%		0.00	0.00%
FUEL SURCHARGE	HARGE	18	7.30	131.39	0.1%	0.00	0.00	%0
1/2" x 10' Black Pipe	ack Pipe	e rù	9.25	-78.33	%O-	0.00	0.00	%0
3/4" x 1/2" Reducin	educin	24	1.91	45.89	%°	0.00	900	%0 %0
3/4" to 1/2" BEIL HE 3/4" to 1/2" REDU	JEDIJ	0 0 1	40: T	15.84	%°°	00.0	300	%°°
1/2" Black Pipe 90	ipe 90	9 4	0.97	3.86	%0	0.00	0.00	%0
3/4" Black Pipe 90	ipe 90	-	1.11	# ;	%0	0.00	0.00	%0
	x 1/2" Black Pi	8 2 °	1.35	24.35	%0	00.0	9 9	%0
1/2" black Pl 1/2" Black Pl	Black Pipe CO Black Pipe CAP	5	0.87	13.07	%0 0	0.00	300	%0 0
1/2" Black Pi	Black Pipe PL	Ξ	0.71	7.83	%0	0.00	0.00	%0
1/2" Black Pi	Black Pipe UN	6	3.75	33.77	%0	0.00	0,00	%0
1/2" × CLOS	E Blac	93	0.47	14.64	%0	0.00	0.00	%0
1/2" × 1-1/2" Black 4/2" × 2" 日かか Dio	Black	5 5	0.47	7.0B	% 6	0.00	0.00	%0
1/2" x 2-1/2" Black	Black	<u>†</u> 4	0.55	9.93 9.93	%0	0.00	0.00	%0 %0
1/2" x 3" Black Pip	ok Pip	6	09.0	11.40	%0	0.00	0.00	%0
1/2" x 3-1/2" Black	Black	2	0.63	1.26	%0	0.00	0.00	%0
1/2" x 4" Black Pip	용 같	9	0.67	4.03	%0	0.00	0.00	%0
1/2" × 4-1/2" Back	Back	9 1	0.75	4.51	%	0.00	0.00	%0
1/2" X 3" DIBCK PID 1/3" V 5.1/3" RIBCK	SK PIP	ם מ	0.02		% 0 0	00.0	800	%0
1/2" x 6" Black Pip	유민	우	0.92	9.23	%0	0.00	0.00	%0
3/4" x Close Black	Black	ო	0.57	1.72	%0	0.00	0.00	%0
3/4" x 1-1/2" Black	Black	က •	0.62	1.86	%0	0.00	0.00	%0
3/4" x 2" Black Pip	용 - 편	 (0.62	0.62	%0	0.00	0.00	%0
3/4" X Z-1/Z" BIBCK 3/4" X Z-1/Z" BIBCK	Hack 라마	יי מ	0.70	2 i ç	% % •	0.00	8.0	%0
3/4" x 3-1/2" Black	Black	- თ	0.87	2.61	%0	0.00	0.00	%0
3/4" x 4" Black Pip	ck Pip	-	0.87	0.87	%0	0.00	0.00	%0
3/4" x 4-1/2" Black	Black	m	1.09	3.27	%0	0.00	0.00	%0
3/4" × 5" Black Pip	유 Pip	ന	1.09	3.27	%0	0.00	0.00	%0
3/4" X 5-1/2" Biack	5. 5. 5. 5. 5. 5. 5. 5. 5. 5. 5. 5. 5. 5	יי ני		3.70	% 0 0	000	0.00	%0
3/4" x 7" Black Pio		- m	2.07	6.21	%0 0	00.0	0:00	%0
3/4" Black Pipe TEE	ipe TEE	က	1.78	5.33	%0	0.00	0.00	%0
3/4" Black Pipe C	ipe C	m	1.54	4.63	%0	0.00	0.00	%0
3/4" Black Pipe Cap	ipe Cap	ΕVI	1.31	2.61	%0	0.00	0.00	%0
3/4" Black Pipe UN	ipe UN	τ	5.09	5.09	%0	0.00	0.00	%0
3/4" x 10' Black Pipe	ack Pipe	CI	29.55	59.10	%0 '	0.00	0.00	%0
1" NORMAC Male	Male	0	30.13	0.00	%0	0.00	0.00	%0
1" x 3/4" Bell Redu	Hedu	cα	2.40	4.79	%0	0.00	0.00	%0

FUEL SURCHARGE
GAS PIPING
GP-249896
GP-600135
GP-600220
GP-600745
GP-600740
GP-600745
GP-600745
GP-600735
GP-600736
GP-601315
GP-601326
GP-601336
GP-601336
GP-601336
GP-601336
GP-601336
GP-601336
GP-601345
GP-601355
GP-601356
GP-601356
GP-601356
GP-601356
GP-601356
GP-602326
GP-602336
GP-602336
GP-602336
GP-602336
GP-602336
GP-602336
GP-602345
GP-602356
GP-602356
GP-602356

Page 9

GP-602655 GP-602700 GP-602745 GP-602835 GP-602896 GP-603093 GP-603093

	Item Description	On Hand	Avg Cost	Asset Vaiue	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
GP.603025	1" x 1/2" Black Pin	·	2.39	2.39	%0	0.00	0.00	%0
G-503223	1" x Close Black Pi	- u c	0.84	4.20	%0	0.00	00.0	%0
0000000	1" x 2" Black Pine		600	00.0	%0	0.00	00.0	%0
GP_603320	1' x 2-1/2" Black Pi	0	0.97	1.94	%0	00:0	000	%0
G-000053	1" x 3" Black Pipe	1 1 1	26:0	76.0-	%O-	0.00	0.00	%0
GP-603335	1" x 3-1/2" Black Pi	. 0	<u>-</u>	0.00	%0	0.00	0.00	%0
GP-603340	1" x 4" Black Pipe	0	<u>r</u> .	0.00	%0	0.00	0.00	%0
GP-603345	1" x 4-1/2" Black Pl	0	1.43	0.00	%0	0.00	0.00	%0
GP-603350	1" x 5" Black Pipe	0	1,43	0.00	%0	0.00	0.00	%0
GP-603355	1" x 5-1/2" Black Pl	0	1.69	0.00	%0	0.00	0.00	%0
GP-603360	1" x 6" Black Pipe	0	1.69	0.00	%0	0.00	0.00	%0
GP-603480	1" Black Pipe 90 E	0	2.05	0.00	%0	0.00	0.00	%0
GP-603655	1" Black Pipe TEE	4	3.14	12.56	%0	0.00	0.00	%0
GP-603700	1" Black Pipe COU	τ	2.33	2.33	%0	0.00	0.00	%0
GP-603745	1" Black Pipe CAP	0	1.57	0.00	%0	0.00	0.00	%0
GP-603896	1" x 10' Black Pipe	- -	25.15	27.66	%0	0.00	0.00	%0
GP-604220	1-1/4" x 1" Bell Re	0	2.99	0.00	%0	0.00	0.00	%0
GP-605657	Teflon Tape - 1/2"	7	1.03	7.22	%0	0.00	0.00	%0
GP-606575	2" x 100' Pipe Wra	9	5.59	33.55	%0	0.00	0.00	%0
GP-608093	1/2" NORMAC Con	=	19.99	219.92	0.1%	0.00	0.00	%0 *0
GP-608112	1/2" x 100' Poly Ga	0	41.35	0.00	%0	0.00	0.00	%0
GP-608212	1" x 100' Poly Gas	ന	58.68	176.05	0.1%	0.00	0.00	%0 *0
GP-608321	1-1/4" x 100' Poly	2	90.10	180.19	0.1%	0.00	0.00	%0
GP-608572	1/2" Gas Ball Valve	90	6.87	206.16	0.1%	0.00	0:00	%0
GP-650621	1/2" x 60" Flexible	4	20.73	82.92	%0	0.00	0.00	%0
GP-650623	3/8" x 36" Flexible	:	9.47	28.41	%0 '	0.00	0.00	%0 0%
GP-650625	1 1/4 - 1 1/2 NOM	C)	45.44	227.18	0.1%	0.00	0.00	%0
GP-650650	1-1/4" x 1-1/4" IPS	0	48.78	0.00	%0 0	0.00	0.00	%0
GP -650624	1 1/4 -1 1/2 Diamet	298	0.96	286.20	0.1%	0.00	0.00	%0
GAS PIPING - Other		0	0.00	0.00	%0	0.00	0:00	%0
Total GAS PIPING		9.099		1,791.03	0.80%		0.00	0.00%
GENERAL LUMBER								i
GL-020408	2" x 4" x 8' STUD	0	1.69	0.00	%0 0	0.00	0:00	%0
GL-020412 GENEBAL LIIMBER - Other	2" × 4" × 12' SI UD	00	20.00 10.00	S 0	%D	0.00 0.00	0.00	%0 %0
				0	à		0	70000
Total GENERAL LUMBER		0		0.00	0.00%		0.00	%00.0
GEO	Geo Grid 6'x150	0	230.00	0.00	%0	0.00	0.00	%0
Hearth Products		C	0	Ċ	ò	Ċ	Ċ	80
FPLT7W4	4 PC 1/" Woodlan	-	02:00	8 6	%0	0.00	0.00	%0
TTTCOWO	G FC 30 W000lall	0 0	533.00	86	9/ D	800	800	%0
Hearth Products - Other	יייטפוט חט ווא סטירון	o	0.0	3 0 0 0	%0	0.00	0.00	%0 %0
# 1					/800 0		000	/0UU U
lotal Hearth Products		5		0.00	2.00.U		0.00	6,00.0
PE								

. Page 10

=	ထ
ŧ	0
4	Ō
•	0
	6
77	0

Inventory Valuation Summary Outdoor Living, Inc. As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
WI-14S4S WI-16S4S	1" x 4" x 12' Week 1" x 6" x 12' Week	00	16.20 21.84	0.00	%0 %0	0.00	0.00	%0 %0
IPE - Other		0	00.00	0.00	%0	0.00	0.00	%0
Total IPE		0		0.00	0.00%		0.00	0.00%
LATITUDES	:	·	!			i i	ć ć	ò
T-6000	BAD Cap, 5 X 5 La	24	4.40	105.60	0%	0.00	non oron	% 5 6
L-6001	BAD Latitude Natu	99.6	23.88	99,68	0.4%	2000	0.00	0 <u>/</u> 0
L-6002	BAD Cap, post 5 x	D. C.	4.40	132.00	00 00 00	8 6	0.00	% 0 0
L-6003	BAD - Baluster 2X	7. FB8	מַ לַ	019.20	0,3%	0.00	000	% 0 0
L-6004	BAD Post sleeve 4	ה	11.95	3/0.45	0.2%	0.00	8 8	%
L-60612	5/4" x 6" x 12" Dec	ប្ដ	0.46	02.40	0.0	0.0	800	% > C
L-50515 "50500	5/4" x 6" x 20' Dec	ŋ o	0.00	00.0	%0 0	0.0	0.00	%0
L-68218	8' Hand Railing - C	38°	27.75	777.00	0.4%	0.00	0.00	%0
L-68232	32" Balusters - Ce	602	2.50	1,502.69	0.7%	0.00	0.00	%0
L-68242	42" Post Sleeves	-	13.70	150.66	0.1%	0.00	0.00	%0
T-68999	Post Caps - Cedar	S	5.15	10.30	%0	0.00	0.00	%0 0
L-69212	1 x 8 x 12' Fascia	<u>단</u>	25.99	311.88	0.1%	0.00	0.00	%
L-78100	Post Caps - Gray	B 4	4.40	158.40	0.1%	0.00	0.00	% C
L-78116	5/4" x 6" x 16" Dec	۲ د	27.04	0.00	%5	900	000	% 0 0
L-78118	6' Hand Halling - G	27 44	23.86	1,780,80	0.0%	8 6	0.00	%0
L**/012U	39" Balistors - Gray	38.0	2,50	619 20	%:0	00.0	0.00	%0
L-78142	42" Post Sleeves	, , ,	11.95	35.85	%0	0.00	0.00	%0
L-79112	1 x 8 x 12 Fascia B	28	25.58	716.30	0.3%	0.00	0.00	%0
L-88300	Post Caps - Redw	9	4.87	29.22	%0	0.00	00'0	%0 ***
L-88316	5/4" x 6" x 16' Dec	40	27.04	1,081.60	0.5%	0.00	0.00	%0
1-88318	8' Hand Ralling - R	0	27.75	0.00	%0	0.00	0.00	%0
L-88320	5/4" X 6" X 20' Dec	0	33.80	0.00	%D	0:00	0.00	%0 0
L-88332	32" Balusters - Re	156	25.50	390.00	%.co	0.00	000	° è
L-88342	42" Fost Sleeves	- 6	13.70	0.00	%0 0 0	0.00	0.00	0.00 0.00
L-89312	Chainht Dailles Ha	ž c	75.99	00.1.50	%+.O	0.00	000	% 0 0
	Stair Balling Hardw	o c	15.50	00.0	%0 0	0.00	000	%0
L-30453 LATITUDES - Other		0	0.00	0.00	%0	00.00	0.00	%0
Total LATITUDES		1,821		13,230.67	6.10%		0.00	0.00%
LEISURE WOODS						:		ì
LW-cc140cT	14' OCTAGON CE	00	5,636.00	0.0	%0 %0	0.00	0.00	%0 %0
LW-RDS 14	MOCI-DODELS S	o c	1 565 00	00.0	%°°	00.0	0.00	%0
LEISURE WOODS - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total LEISURE WOODS		0		0.00	0.00%		0.00	0.00%
LIMESTONE	Limestone Can - 1	æ	1.50 0.51	00 26	%0	000	00:00	%0
בס-וגו בלישרחי	ביייי כבל	1) - -	1 1 1 1	<u> </u>	1 1 1	1	

AΜ	
9:27	

M-90024 MASTER LATTICE ML-64837 MASTER LATTICE - Other

LS-2424CAPRF LIMESTONE - Other

Total LIMESTONE

LS-1515CAPRF

Total MASTER LATTICE

MISCELLANEOUS

25A1005 CD-4825 M-0000000 M-10010 M-20010 M-40100 M-40110 M-40120 M-40140

M-40210 M-40220 M-40330 M-40332 M-40340 M-40600 M-60102 M-80001 M-81001 M-81001

M-90012 M-90018 M-90030 M-90112

M-40310 M-40320

M-40250

M-40300

M-40232

M-40234

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
Limestone Cap - 1 24" x 24" Limeston	800	17.50 50.93 0.00	140.00 0.00 0.00	0.1% 0% 0%	0.00	0.00	%0 %0 %0
	16		232.00	0.10%		0.00	0.00%
Forming Tube - 24	-	82.32	82.32	%0	0.00	0.00	%0
Privacy 4' x 8' - Bar	34	22.10	751.40 0.00	0.3% 0%	0.00	0.00	%0 %0
	34		751.40	0.30%		0.00	0.00%
3 Mil 32" x 50" Con	72	7.46	537.08	0.5%	0.00	0.00	%0
4" x 8 1/4" Aeromat Vapor Lock 20' x 1	00	25.25 42.34	0.00 0.00	%0 0	25.25 42.34	0.00	%0 0
ULTIMOUNT 36" P	ന	25.91	77.73	%0	0.00	0.00	%0
14" Diamond Blade	27	59.63	1,610.00	0.7%	0.00	0.00	%0
4. x 50. Orange Dia Aluminum Downso	50 0	7.68	0.00	0.1%	0.00	0.00	%0
Aluminum "A" Elbo	18	1.07	19.26	%0	0.00	0.00	%0
Aluminum "B" Elbo	6 6	1.07	19.26	%0	0.00	0.00	%
Aluminum Pipe Cil Aluminum Downso	<u> </u>	7.69	4.92 146.12	0.1%	0.00		%0 %0
Aluminum "A" Elbo	5	1.07	16.05	%0	0.00	0.00	%0
Aluminum "B" Elbo	46	1.07	17.12	%0	0.00	0.00	%0
Aluminum K Gutter Aluminum K Gutter	- G	0.10	9.60	% °°	0.00	2 2 3 3 3 3 3	%0 0
Aluminum K Gutter	9	0.60	3.60	%0	0.00	0.00	%0
Aluminum Pipe Cli	1 0	0.41	6.56	%0	0.00	0.00	%0
Aluminum "Y" Fun	Ç	20.23	20.23	%0 %0	0.00	000	%0 *0
Aluminum "A" Elbo	5 5 6	1.07	12.84	% 0 0	0.00	00:0	%0
Aluminum "B" Elbo	12	1.07	12.84	%0	0.00	0.00	%0
Aluminum K Gutter	09	1.10	66.00	%0	0.00	0.00	%0
Aluminum K Gutter	KD KI	0.60	3.60	%0°C	0.00	9.0	% 6
Aluminum Pipe Cli	. <u>6</u>	0.00	3.00 4.92	%0 0	000	00.0	%0
5" Heavy Duty Qui	8	0.72	21.60	%0	0.00	0.00	%0
Aluminum 2" x 3"	Ф	0.77	4.62	%0	00.0	0.00	%0
2" Cast Iron Drain	7	85.32	-85.32	%0-	0.00	0.00	%0
Shim It 8" Camposi	32	0.87	27.84	%0	0.00	0.00	%0
1" x 4' x 8' Foam In	90	14.62	1,403,52	%/.0	0.00	0.00	% C
47" Forming Libe	ם כככ	4.6	0.00	0,0	0.00	9 6	%
18" Forming Tube	077	10.1	-197.01	20.0	92.5	-197.01	%CQ
30# Bhoting Felt (s	· -	11.00	-11.00	%O-	0.00	0.00	%0
12" Landscape Spi	53	25.75	592.28	0.3%	0.00	0.00	%0

ξ	8
٩	20
2	몽
Ó	0

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
M-91000	8' Snap Edge Pave	-125.5	7.26	-910.96	-0.4%	0.00	0.00	%0
M-93100	3'x100' Weed Barrier 84" x 100' Fiherola	98	16.03 96.30	577.23 288.90	0.3%	180.00	540.00	0.4%
M-931212	10' Deck Flashing	36.	10.00	360.00	0.2%	2:00	72.00	0.1%
M-94400 VIII VEM = 116 = A) MONID	1" x 6" Sod Staples	0 22	18.00	0.00 85.50	% 0	200	000	%0 %0
VULKEM - 116 - GRAY	VULKEM 116 - GR	27	3,17	85.50	%0	0.00	00:0	%0
VULKEM - 116 - WHITE MISCELLANEOUS - Other	VULKEM 116 -WH Forming Tube-24 i	g o	3.17	63.34	%°	0.00	0.00	%0 %0
Total MISCELLANEOUS		846.5		6,211.37	2.90%	•	414.99	0.30%
NATURAL GAS			1		č	Ċ	c c	ì
NG-1/2COCK NG-36NGC	1/2" Gas Shut Off 3/8" x 36" Natural	cu	5.04 9.11	10.08 9.11	%0 0	0.00	0:00	%0 %0
NATURAL GAS - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total NATURAL GAS		က		19.19	0.00%		0.00	0.00%
NIGHTLIFE LIGHTING								
AAL1-GS7	Nightlife Wall Lyter	0	0.00	0.00	%0	0.00	0,00	%0
BL3627-GL	Nightille Flood Par	0 0	0.00	0.0	%0	000	0.00	%0
BL5016-GS7BAB	Nightlife Micro Bull	-	0.00	8 6	%0 %0		000	%0
MB1650	Nightiffe MR16 Sp	0	0.00	00.0	%0	0.00	0.00	%0
PABT 3636	Nightlife Part 36 W	0	0.00	0.00	%0	0.00	0.00	%0
SCW500-12	Nightlife LF 12 Gu	0	00.00	0.00	%0	0.00	0.00	%0
SRL4-A	Nightlife Decklytes	8	20.54	616.20	0.3%	0.00	0.00	%0
13 	Nightilie Analog Ti	0 (0.00	0:00	%0	0.00	0.00	%0 0
TSS983-22 NIGHTLIFE LIGHTING - Other	Nightilite SS Transt	00	0.00	00.00	%0 0	00.0	0.00	%0 %0
Total NIGHTLIFE LIGHTING		30		616.20	0.30%		0.00	0.00%
OAKS PAVERS								
O-01004-E	OAKS - Centurion	98	2.77	238.22	0.1%	2.77	238.22	0.2%
O-01004-SW	OAKS - Centurion	0 0	2,77	0.00	%0 0	2.77	0.00	%O
O-0100/-B	OAKS - CEITURION	<u> </u>	20.7	14.107	0.1.0	17.7	20.03	700
O-0100/-C	OAKS - Centurion	BS BS	0.00	00.0	%0 %0	2.77	235.45	0.5%
O-01007-SW	OAKS - Centurion	6.2	2.76	17.14	%0	2.77	17.17	%0
O-01008-B	OAKS - Centurion	0	2.63	0.00	%0	2.77	00.00	%0
O-01008-C	OAKS - Centurion	24	2.62	62.88	%0	2.77	66.48	0.1%
O-01008-E	OAKS - Centurion	90	2.77	249.30	0.1%	2.77	249.30	0.5%
O-01008-SW	OAKS - Centurion	0	2.77	0.00	%0	2.77	0.00	%0
O-01009-B	OAKS - Centurion	8	2.63	73.64	%0	2.77	77.56	0.1%
O-01009-E	OAKS - Centurion	108	77.7	299,16	%1.0 %0.0	2.77	288.16	%.O.
O-01009-5W	OANS - Centunon	140	2,03	978 72	%°C	77.0	398 888	%E O
0-01010-0	OAKS - Centurion	-	2.63	0.00	%0	2.77	0:00	%0°
}		ı	,					

9:27 AM 09/06/08

O-01010-E O-01010-SW

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

0-11003-C 0-11005-S 0-11005-S 0-20036-M 0-20067-M 0-20067-H 0-20067-T 0-20067-T 0-20067-T 0-20069-G 0-20069-C 0-20069-C 0-20069-C 0-20069-C 0-20069-C 0-20069-C 0-20069-C 0-20069-C 0-20071-G 0-20071-G 0-20071-G 0-20071-G 0-20071-G 0-20071-G 0-20071-T 0-20069-C 0-40088-P 0-40088-P 0-40088-P 0-40148-C Page 14

O-50069-T O-50099-E O-50100-G O-50100-N

Æ	8
	9
:57	몽
ö	0

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
O.FO100.T	OAKS - Bomaneso	132	1.62	214.39	0.1%	1.722	227.30	0.5%
O-50105-1	OAKS - Romaneso	75	1.56	117.00	0.1%	1,644	123.30	0.1%
O-50112-HA	OAKS - Romanesq	297	1.56	463.32	0.5%	1.644	488.27	0.4%
O-50112-N	OAKS - Romanesq	66	1.60	158.40	0.1%	1.644	162.76	0.1%
O-50112-P	OAKS - Romanesq	797	1.56	1,196.52	0.6%	1.644	1,260.95	1%
O-50112-T	OAKS - Romanesq	1,350	1.57	2,117.15	1%	1.644	2,219.40	1.7%
O-50114-CH	OAKS - Romanesq	335	1.60	536.00	0.5%	1.644	550.74	0.4%
O-50114-G	OAKS - Romanesq	0	1.56	0.00	%0	1.644	0.00	%0
O-50114-HA	OAKS - Romanesq	297	1.56	463.32	0.5%	1.644	488.27	0.4%
O-50114-N	OAKS - Romanesq	346	1.56	539.76	0.3%	1.644	568.82	0.4%
O-50114-P	OAKS - Romanesq	66	1.61	159.39	0.1%	1.644	162.76	0.1%
O-50114-T	OAKS - Romanesq	1,010	1.56	1,575.57	0.7%	1.644	1,660.44	1.3%
O-51066-H	OAKS - Fineline P	0	1.80	0.00	%0	2.163	0.00	%0
O-51066-T	OAKS - Fineline P	78	1.73	134.94	0.1%	2.163	168.71	0.1%
O-51069-G	OAKS - Fineline P	113	1.77	200.01	0.1%	2.163	244.42	0.5%
O-51069-M	OAKS - Fineline P	0	1.80	0.00	%0	2.163	0.00	%0
O-51069-T	OAKS - Fineline P	113	1.74	196.88	0.1%	2.163	244.42	0.5%
O-51099-G	OAKS - Fineline P	86	1.77	173.46	0.1%	2.163	211.97	0.2%
O-51099-H	OAKS - Fineline P	0	1,80	0.00	%0	2.163	0.00	%0
O-51099-T	OAKS - Fineline P	98	1.75	171.81	0.1%	2.163	211.97	0.5%
0-59002	OAKS - Enviro Pro	0	3.37	0.00	%0	3.51	0.00	%0
0.60100-55		0	2,60	0.00	%0	2.093	0.00	%0
OAKS PAVERS - Other	•	0	0.00	0.00	%0	00.00	0.00	%0
Total OAKS PAVERS		9,844.2		18,635.61	8.70%		20,792.81	16.20%
OAKS BETENTION								
O-70010-C	OAKS - Castlerok	36	3.16	113.63	0.1%	3,192	114.91	0.1%
0-70010-G	OAKS - Castlerok	144	3.19	459.36	0.5%	3.192	459.65	0.4%
M-01007-O	OAKS - Castlerok	09	3,19	191.26	0.1%	3.192	191.52	0.1%
O-70010-S	OAKS - Castlerok	124	3.19	395.56	0.5%	3,192	395.81	0.3%
O-70020-C	OAKS - Castlerok	240	2.05	492.00	0.5%	2.303	552.72	0.4%
O-70020-S	OAKS - Castlerok	0	2.05	0.00	%0	2.303	0.00	%0
O-71010-C	OAKS - Fieldstone	97.8	7.68	750.74	0.3%	7.859	768.61	0.6%
O-71010-G		20	8.00	400.00	0.5%	7.859	392.95	0.3%
O-71010-M	OAKS - Fieldstane	14.4	8.68	124.99	0.1%	7.859	113.17	0.1%
O-71010-S	OAKS - Fieldstone	28.8	89.68	249.98	0.1%	7,859	226.34	0.2%
O-71012-C	OAKS - Fieldstone	0	8.46	0.00	%0	7.859	0.00	%0
0-71014-C	OAKS - Fieldstane	120	3.87	464.44	0.5%	4.16	499.20	0.4%
O-71014-G	OAKS - Fieldstone	c O	3.95	31.60	%0	4.16	33.28	%0
O-71014-M	OAKS - Fieldstone	32	3,85	123.20	0.1%	4.16	133.12	0.1%
O-71014-S	OAKS - Fieldstone	0	3.85	0.00	%0	4.16	0.00	%0
O-82011-G	OAKS - Ortana Ru	90	2.96	177.60	0.1%	3.003	180.18	0.1%
O-82011-M	OAKS - Ortana Ru	240	3.00	720.72	0.3%	3.003	720.72	0.6%
O-82015-D	OAKS - Ortana Ru	24	5.46	131.04	0.1%	5.258	126.19	0.1%
O-82015-G	OAKS - Ortana Ru	23	5.40	124.20	0.1%	5.258	120.93	0.1%
O-82015-M	OAKS - Ortana Ru	24	5.26	126.19	0.1%	5.258	126.19	0.1%
O-83011-B	OAKS - Ortana Nat	150	1.20	179.50	0.1%	2.25	337.50	0.3%

8
2
90
≅
ő

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
N.83012.N	OAKS - Ortana Nat	0	1.00	00'00	%0	2.174	0.00	%0
D-83015-B	OAKS - Ortana Nat	144	1.94	279.94	0.1%	2.25	324.00	0.3%
O-83016-B	OAKS - Ortana Nat	120	2.00	240.00	0.1%	4.12	494.40	0.4%
O-84011-B	OAKS - Ortana Ble	0	2.14	0.00	%0	2.488	0.00	%0
O-84011-C	OAKS - Ortana Ble	120	2.27	272.40	0.1%	2.488	298.56	0.5%
O-84011-D	OAKS - Ortana Ble	0	2.27	0.00	%0	2.488	00:0	%0
O-84011-G	OAKS - Ortana Ble	-1,020	2.16	-2,203.20	-1%	2.488	-2,537.76	-5%
O-84011-M	OAKS - Ortana Ble	225	2.27	510.75	0.2%	2.488	559.80	0.4%
O-84011-T	OAKS - Ortana Ble	8	2.27	68.10	%0	2,488	74.64	0.1%
O-84012-B	OAKS - Ortana Ble	8	2.14	128.40	0.1%	2.488	149.28	0.1%
O-84012-C	OAKS - Ortana Ble	24	2.40	57.60	%0	2.488	59.71	%0
O-84012-G	OAKS - Ortana Ble	0	2.40	0.00	%0	2.488	0.00	%0
O-84014-C	OAKS - Ortana Ble	72	2.00	144.00	0.1%	2.048	147.46	0.1%
O-84014-G	OAKS - Ortana Ble	0	2.06	0.00	% <u>0</u>	2.048	00.00	%0
O-84015-B	OAKS - Ortana Ble	288	2.14	616.32	0.3%	2.268	653.18	0.5%
0-84015-C	OAKS - Ortana Ble	180	2.40	432.00	0.5%	2.268	408.24	0.3%
O-84015-G	OAKS - Ortana Ble	144	2.33	335.38	0.5%	2,268	326.59	0.3%
O-84016-B	OAKS - Ortana Ble	72	4.98	358.56	0.5%	4.316	310.75	0.5%
O-84016-C	OAKS - Ortana Ble	85	5.	434.35	0.5%	4,316	366.86	0.3%
O-84016-D	OAKS - Ortana Ble	12	5.1	61.32	%0	4.316	51.79	%0
O-84016-G	OAKS - Ortana Ble	24	0.00	0:00	%0	4.316	103.58	0.1%
O-84016-M	OAKS - Ortana Ble	96	4.75	455.B1	%Z:0	4.316	414.34	0.3%
0-84016-N	OAKS - Ortana Ble	48	4.24 6.25	205.44	0.1% 0.0%	4.310	71.70Z	0.2%
O-84017-B	OAKS - Ortana Ble	0	3.64	0.00	%0	3.118	0.00	%0
O-84017-C	OAKS - Ortana Ble	0	3.98	0.00	%0	3.118	0:00	%0
O-84017-D	OAKS - Ortana Bie	24	3.98	95.52	%0	3.118	74.83	0.1%
0-84017-G	OAKS - Ortana Ble	298	3.95	1,177.10	0.5%	3.118	929.16	0.7%
O-84017-M	OAKS - Ortana Ble	48	4.04	193.92	0.1%	3.118	149.66	0.1%
O-84017-T	OAKS - Ortana Ble	ผ	4.37	52.43	%0	3.118	37.42	%0 '
O-91012-BU	OAKS - Splitrok I	-24	5.85	-140.40	-0.1%	5.86	-140.64	-0.1%
O-91021-B		53	5.69	301.57	0.1%	5.632	298.50	0.5%
O-91021-BU	OAKS - Splikak 9"	75	5.85	438.75	0.5%	5.632	422.40	0.3%
O-91021-N		₽.	5.85	70.20	%0	5.632	67.58	0.1%
O-91022-B	OAKS - Splitrok 9"	-48	5.85	-280.80	-0.1%	5.632	-270.34	-0.2%
O-91022-BU	OAKS - Splitrok 9"	102	5.85	596.70	0.3%	5.632	5/4.46	0.4%
O-91022-N	OAKS - Splitrok 9"	72		421.20	0.2%	5.632	405.50	0.3%
O-91023-B	OAKS - Splitrok II	50	5.86	117.18	0.1%	5.632	112.64	0.1%
O-91023-BU	OAKS - Splitrok II	20	5.69	113.80	0.1%	5.632	112.64	0.1%
O-99001-P	OAKS - Ultra Wall	o ·	1.67	0.00	%0	0.00	0.00	%0
OAKS RETENTION - Other		.	0.00	0.00	%0 	0.00	0.00	%0
Total OAKS RETENTION		2,863		10,810.35	2.00%		10,679.39	8.30%
PERMALATT							•	
4x8 2 3/4" DLD	4x8 - 2 3/4" Diago	6 0 (60,05	480.40	0.2%	0.00	0.00	%0
4x8 1-7/8 DK	4x8 - 1-7/8" Diagon	-	70.55	0.00	% 0	0.00	0.00	%0 %0
4x8 1" DLD	4x8 - 1" Diagonal	9 69	107.40	644.40	0.3%	0.00	0.00	%0 %0
								:

9:27 AM

œ
9
õ
ō
⋝
ä
_

Outdoor of Inventory Valu	loor Lwing, Inc.	Valuation Summa	As of September 6, 2008
Outdoor onventory Valu	OOL LIV	Valuat	Septemb

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
PEHMALATT - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total PERMALATT		14		1,124.80	0.50%		00:0	0.00%
PERMALOC PL-21500 PL-30300 PI-spike	BrickBlock 062 x 1 AsphaltEdge 3"x3"	913 157 30	5.20 13.76 50.00	4,747.60 2,160.32 1,500.00	2.2% 1% 0.7%	0.00	00:0	%0 00 00
Total PERMALOC		1,100	9	8,407.92	3.90%		0.00	0.00%
POST CAPS PC-13E0908 POST CAPS - Other	6" Pyramid Top - C	1,	10.25 0.00	143.53 0.00	0.1% 0%	0.00	0.00	%0 %0
Total POST CAPS		14		143.53	0.10%		00'0	0.00%
PROCELL p-13T2002	Procell 1"x5-1/2"x1	c	37.09	00.0	%D	00.00	0.00	%0
P-13T2030	Procell - 5/4" x 6" x	(m)	27.04	81.12	%0	38.63	115.89	0.1%
P-13T2033 P-13T2050 pp.CELLO+her	Procell 1/2" x 11 3/ Procell 1/2" X 11-3/	⊃ c	31.35 31.35	31.35 0.00	%0 0	38.01 62.70 00.0	0.00 62.70 0.00	%°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°°
Total PROCELL		4		112.47	0.10%		178.59	0.10%
RAILWAYS	יים אינט ויים אינט מינט ויים אינט ויים א מינט ויים אינט ויים א	•	9 0 00	98	60	000	000	/a0
1310801	36" X 8" LEVEL PA	- 0	138.24	0.00	%0 %0	00.00	0.00	%0 0
1310805	36" X 6' Stair Rail	-	99.86	99.86	%0	119.36	119.36	0.1%
1310840	5" x 5" x 108" post	OJ I	69.98	139.96	0.1%	84.70	169.40	0.1%
13j0860	5" x 5" cap - WHITE	ന	4.46	13.38	%0	5.40	16.20 8.78	%0 0
1310870 1310885	SS Hardware Kit H	n 0	2.42 15.98	00:0	%°°	19.00	0.00	%0 %0
RAILWAYS - Other		0	00.0	0.00	%0	0.00	0.00	%0
Total RAILWAYS		10		360.32	0.20%		313.75	0.20%
RAIN ESCAPE	Butyl Caulk (Sold	48	5.97	959 79	0 1%	C	00.0	%0
RE-DS-0023	Down Spouts (16 p	1 1	19.23	269.24	0.1%	0.00	0.00	%0
TR-12-0054	12' Trough (16 per	30	15.39	461.70	0.2%	0.00	0.00	%0
TR-16-0078 BAIN ESCAPE - Other	16' Trough (Sold 1	0	19.86 0.00	615.80 0.00	%0°0	0.00	0.00	%0 %0
Total RAIN ESCAPE		123		1,599.46	0.70%		00.00	0.00%
REGIS FENCING	Residential Oron E	C	32 08	00 0	%0	32.08	000	%0
BF-145201	Commercial Drop	001	40.75	0.00	%0	0.00	0.00	%0 %0
HF-14A240 RF-14A5253	D&D Tru-Close H	n (N	34.37	68.74	%0 0	34.37	68.74	0.1%

=	
₹	
7	
ö	

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
RF-14A5255	D&D General-Purp	0	16.42	0.00	%0	16.42	0.00	%0 %0
RF-14A9030	Regis 3230 Fence	0	53.99	0.00	%O	53.99	0.00	%
RF-14A9032	Regis 3230 Fence	4	61.34	858.76	0.4%	0.00	0.00	%0
RF-14A9225	Regis 3230 Gate	0	134.72	0.00	%0	134.73	0.00	%0
RF-14A9235	Regis 3230 Gate-4	m	140.10	420.30	0.5%	140.13	420.39	0.3%
RF-14A9430	Regis 3230 Line P	0	13.09	0.00	%0	13.09	0.00	%0
RF-14A9432	Regis 3230 End P	0	13.09	0.00	%0	13.09	0.00	%0
RF-14A9440	Regis 3230 Line P	<u>5</u>	14.93	194.09	0.1%	0.00	0.00	%0
RF-14A9442	Regis 3230 End P	SI	14.93	29.86	%0	0.00	0.00	%0
RF-14A9490	Regis Blank Post	0	11.43	00:00	%0	0.00	0.00	%0
RF-14A9491	Regis Blank Post	0	13.87	0.00	%0	0.00	0.00	%0
RE-14A9800	Regis 2" Flat Cap	. t	0.96	14.40	%0	0.00	0.00	%0
BE-14 A B 850	Benis 2" x 6 1/2. G	<u> </u>	69.66	00.0	%0	29.70	0.00	%0
14 40001	Denis 9" < 7 1/9' G	0.0	35.63	71.24	%0	95.69	71.24	0.1%
TT:- +A360	Designation Mall M	, 1 (1)	20.00	777 PBC 777-	% % %	. S. C.	200	7/-70
77-14A9000	Degle Soco Wall W	2 +	20.7	02:14]	% - 'c'	00.0	800	% °C
HF-14A9861	Regis 3000 Swivel	<u>N</u> (9	0.10	% <u>^</u>	9 6	000	% C
RF-14A9862	Hegis 3000 Post M	·	50 (C	0.00	%0	0.00	0.00	850 870
RF-14A9870	Touch-Up Spray P	-	9.73	9.73	%0	0.00	0.00	%0
RF-14A9888	Regis #12X1-1 1/4	없	0.27	8.64	%0	0.27	8.64	%0
RF-CB04	Adjustable Collar B	60	13.50	108.00	0.1%	13.50	108.00	0.1%
REGIS FENCING - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total REGIS FENCING		53		1,918.08	0:30%		911.86	0.70%
RHINO DECK								
RD-81612	Hhino - 2" x 4" x 12	0	15.60	0.00	%0	39.82	0.00	%0
RD-88616	Rhíno - 2" x 6" x 16	0	31.20	0.00	%0	82.91	0.00	%0
DIMENSIONAL - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total DIMENSIONAL		0		00.00	0.00%		0.00	0.00%
FASCIA								
BD-85108	Rhino Fascia - 1/2"	55	17.44	959.20	0.4%	0.00	0.00	%0
RD-85208	Rhino Fascia - 1/2"	6	15.67	141.05	0.1%	30.77	276.93	0.2%
RD-85608	Rhino Fascia - 1/2"	99-	12.74	-840.83	-0.4%	30.77	-2,030.82	-1.6%
RD-85612	Rhino Fascia - 1/2"	56	16.00	416.00	0.2%	45.45	1,181.70	0.9%
RD-85808	Rhino Fascia - 1/2"	54	15.67	846.37	0.4%	30.77	1,661.58	1.3%
RD-85812	Rhino Fascia - 1/2"	0	24.00	0.00	%0	45.45	0.00	%0
RD-85908	Rhino Fascia - 1/2"	40	13.54	541.60	0.3%	30.77	1,230.80	1%
RD-87108	Rhino Fascia Moldi	-97	6.54	-634.38	-0.3%	0.00	0.00	%0
RD-87208	Rhino Fascia Moldi	9	6.00	36.00	%0	12.73	76.38	0.1%
RD-87608	Rhino Fascia Moldi	ф	5.36	-42,86	%O-	12.73	-101.84	-0.1%
RD-87808	Rhino Fascia Moldi	0	0.00	0.00	%0	12.73	0.00	%0
RD-87908	Rhino Fascia Moldi	34	5.60	190.40	0.1%	12.73	432.82	0.3%
FASCIA - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total FASCIA		53		1,612.55	0.70%		2,727.55	2.10%
HAHDWARE								

5	
₹	
~	
Ñ	
ö	

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
0-84610	Bhino Deck Flashi	C	157.50	000	%0	357.95	00.00	%0
0.040	Daino Mounting Br	777	1 73	20.0 20.7 GB	%+ C	, o c	563.04	0.4%
HD-02203		- 2	37.	92.442	200	5 6	187.69	7; C
HD-82204	Id gilling blight	Đ.	7/1	05.20	0/D	D 0	00.701	0,1,0
RD-82603	Rhino Mounting Br	144	1.72	247.68	0.1%	3.91	563,04	0.4%
RD-82604	Rhino Mounting Br	42	1.72	72.24	%0	3.91	164.22	0.1%
RD-82803	Rhino Mounting Br	138	1.72	237.36	0.1%	3.91	539.58	0.4%
RD-82804	Rhino Mounting Br	48	1.72	82.56	%0	3.91	187.68	0.1%
RD-82903	Rhino Mounting Br	180	1.72	309.60	0.1%	3.91	703.80	0.5%
RD-82904	Rhino Mounting Br	48	1.72	82.56	%0	3.91	187.68	0.1%
BD-89115	Rhino Vision Deck	7.142	0.21	1,499.82	0.7%	0.72	5.142.24	4%
RD-89175	Rhino Vision Deck		157.50	1,102.50	0.5%	357.95	2.505.65	2%
HARDWARE - Other		. 0	0.00	0.00	%0	0.00	0.00	% 0
Total HARDWARE		7,941		3,964.56	1.80%		10,744.61	B.40%
POST CAPS/SKIRTS								
RD-78050	Rhino Post Cap/Sk	95	10.75	1,021.25	0.5%	0.00	0.00	%0
RD-84205	Rhino Post Cap/Sk	27	6.29	169.84	0.1%	14.77	398.79	0.3%
RD-84605	Rhino Post Cap/Sk	-45	6.25	-281.26	-0.1%	14.20	-639.00	-0.5%
RD-84805	Rhino Post Cap/Sk	56	6.50	364.00	0.5%	14.77	827.12	0.6%
RD-84905	Rhino Post Cap/Sk	0	6.25	0.00	%0	14.20	0.00	%0
POST CAPS/SKIRTS - Other	•	0	00.00	0.00	%0	0.00	0.00	%0
Total POST CAPS/SKIRTS		133		1,273.83	0.60%		586.91	0.50%
POST SLEEVES								
RD-78044	Rhino Post Steeve	128	33.30	4,262.40	5%	0.00	0.00	%0
RD-82206	Rhino Post Sleeve	61	12.98	791.75	0.4%	30.11	1,836.71	1.4%
RD-82606	Rhino Post Sleeve	06	11.38	1,024.38	0.5%	28.98	2,608.20	2%
RD-82806	Rhino Post Sleeve	127	13,24	1,681.05	0.8%	30.11	3,823.97	3%
RD-82906	Rhino Post Steeve	0	12.75	0.00	%0	28.98	0.00	%0
POST SLEEVES - Other		0	00:00	0.00	%0	0.00	00:00	%0
Total POST SLEEVES		406		7,759.58	3.60%		8,268.88	6.40%
RAIL KITS								
RD-78038	Ahino Rail Kit - 6'	53	87.71	4,648.63	2.2%	0.00	0.00	%0
RD-79038	Rhino Stair Rail Kit	8	89.45	3,577.93	1.7%	0.00	0.00	%0
RD-79039	Rhino Stair Rail Klt	43	71.70	3,083,10	1.4%	0.00	0.00	%0
RD-79040	Rhino Stair Rail Kit	48	73,45	3,525.60	1.6%	0.00	0.00	%0
RD-79041	Rhino Deck Stair R	5	73.45	954.85	0.4%	0.00	0.00	%0
RD-83206	Rhino Rail Kit - 6'	47	72.44	3,404.86	1.6%	166.93	7,845.71	6.1%
RD-83606	Rhino Rail Kit - 6'	42	70.18	2,947.43	1.4%	162.95	6,843.90	5.3%
RD-83806	Rhino Rail Kit - 6'	F	73.45	807.95	0.4%	166.93	1,836.23	1.4%
RD-83906	Hhino Rail Kit - 6'	0	71.70	0.00	%0	162.95	0.00	%0
RAIL KITS - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total RAIL KITS		297		22,950.35	10.70%		16,525.84	12.90%
SHINO								
RD-80212	Rhino I - 12' x 5/4"	=	15.60	171.60	0.1%	35.45	389.95	0.3%

5	
5	
_	
2	
÷	

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
	DE: 1 40; .: E[4]	14	0000	00 80+	/0C	70.71	AF AFC.	70° ∪-
HD-802 19	** +/3 < 01 - 10 10 10 10 10 10 10	? ;	20.07	101:00		11.0) i
RD-80612	Hhino I - 12' x 5/4"	64	12.48	7.06.7.5	0.4%	30.40	2,205.00	0,0,1
RD-80616	Rhino I - 16' x 5/4"	6	20.80	-624.00	-0.3%	47.27	-1,418.10	-1.1%
RD-80812	Rhino I - 12' x 5/4"	48	15.60	748.80	0.3%	35.45	1,701.60	1.3%
RD-80816	Hhino I - 16' x 5/4"	0	20.80	0.00	%0	47.27	0.00	%0
RD-80912	Rhino I - 12' x 5/4"	96	14.40	1,382.40	%9.0	35.45	3,403.20	2.6%
RD-80916	Hhino I - 16' x 5/4"	0	20.80	0.00	%0	47.27	0.00	%0
RD-81112	Rhino I - 12' x 5/4"	89	20.64	1,403.52	0.7%	0.00	0.00	%0
RD-81116	Rhino I - 16' x 5/4"	0	20.80	0.00	%0	0.00	0.00	%0
RHINO I DECKING - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total RHINO I DECKING		252		3,777.04	1.80%		6,109.10	4.80%
RHINO II DECKING								
RD-87616	Rhino II - 16' x 1" x	0	20.00	0.00	%0	45.45	0.00	%0
RD-87916	Rhino II - 16' x 1" x	0	20.00	0.00	%0	45.45	0.00	%0 *0
RD-87920	Rhino II - 20' x 1" x	0	25.00	0.00	%0 *	56.82	0.00	%D
RHINO II DECKING - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total RHINO II DECKING		0		0.00	0.00%		0.00	0.00%
RHINO VISION DECKING								
RD-89212	Rhino Vision - 12' x	127	14.61	1,855.56	0.9%	35.45	4,502.15	3.5%
RD-89216	Rhino Vision - 16' x	46	20.80	956.80	0.4%	47.27	2,174.42	1.7%
RD-89312	Rhino Vision - 12' x	-107	20.64	-2,208.48	%1-	0.00	00:00	%0
RD-89316	Rhino Vision - 16' x	166	27.52	4,568.32	2.1%	0.00	0.00	%0
RD-89320	Rhino Vision - 20' x	309	34.40	10,629.60	4.9%	0.00	0.00	%0
RD-89612	Rhino Vision - 12' x	202	13.25	2,675.95	1.2%	35.45	7,160.90	
RD-89616	Rhino Vision - 16' x	30	17.87	536.17	0.5%	47.27	1,418.10	
RD-89620	Rhino Vision - 20' x	34	26.00	884.00	0.4%	59.09	2,009.06	1.6%
RD-89812	Rhino Visian - 12' x	5	12.28	748.80	0.3%	35.45	2,162.45	1.7%
RD-89816	Rhino Vision - 16' x	4	20.80	291.20	0.1%	47.27	661.78	0.5%
RD-89820	Rhino Vision - 20' x	0	26.00	0.00	%0	59.09	0.00	%0
RD-89912	Rhino Visian - 12' x	103	15.60	1,606.80	0.7%	35.45	3,651.35	2.8%
RD-89916	Rhino Vision - 16' x	138	20.80	2,870.40	1.3%	47.27	6,523,26	5.1%
RD-89920	Rhino Vision - 20' x	138	26.00	3,588.00	1.7%	59.09	8,154.42	6.3%
HAINO VISION DECKING - OTRET		>	3	3.0	0,0	9	5	
Total RHINO VISION DECKING		1,261		29,003.12	13.50%		38,417.89	29.90%
RHINO DECK - Other		0	0.00	0.00	%0	00:00	0.00	%0
Total PHINO DECK		10,343		70,341.03	32.70%		83,380.78	64.90%
RUBBER MULCH								
GHOUND COVER EGC-BRW-RB	Ground Cover - Br	2	0.00	0.00	%0	11.67	23.34	%0
EGC-COP-RB	Ground Cover - Co	ro c	291.00	1,455.00	0.7%	11.67	58.35	%0
EGC-GRN-RB	Ground Cover - Gr	N C	0.00	0.00	% 0	10.11	43.34	%0
EGC-GAN-30	Ground Cover - Re	0 0	00:0	0.0	%0	11.67	23.34	%0

Ξ	
₹	
2	
ņ	
o	

Inventory Valuation Summary As of September 6, 2008

Outdoor Living, Inc.

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
EGC-RDW-SS GROUND COVER - Other	Ground Cover - Re	00	450.00 0.00	0.00	%0 %0	303.93 0.00	0.00	%0 %0
Total GROUND COVER				1,455.00	0.70%		128.37	0.10%
PLAYGROUND MULCH ES-GRN-SS ES-RDW-SS PLAYGROUND MULCH - Other	Playground Mulch Playground Mulch	000	481.11 481.11 0.00	0.00 0.00	%0 %0 %0	0.00 0.00 0.00	0.00	%0 %0 %0
Total PLAYGROUND MULCH		0		0.00	%00:0		0.00	0.00%
RUBBER MULCH - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total RUBBEH MULCH		=		1,455.00	0.70%		128.37	0.10%
SALT SDR35 PVC Pipe	Salt	49	4.00	196.00	0.1%	0.00	0.00	%0
PVC-0410	4" x 10' Light Wall	0	9.50	0.00	%0	9.50	00:0	%0
PVC-0604A	Downspout adapte	5	12.30	61.50	%0	24.60	123.00	0.1%
PVC-0610-S	Straight Solid 6"x10"	100	2.65	265.00	0.1%	5.30	530.00	0.4%
PVC-06116B	Solvent Weld Coup	ល់	5.00	25.00	%0	10.00	50.00	%0 ''0
PVC-0614B	Solvent weld 1/4 b	91	7.60	121.60	0.1%	15.20	243.20	0.2% 0.2%
PVC-0616B	Solvent weld 1/16	0 ç	10.00	0.00	% 0	20.00	164.00	0% 0 1%
PVC-0518B	DOD to valve 6"	-	18 40	18.40	% 0 0	72.60	72.60	0.1%
TO COST OF	Solvent Weld TEE	- 0	11.16	0.00	%0	22.32	0.00	%0
PVC-06Y	Solvent Weld WYE	ιΩ	16.05	80.25	%0	32.10	160.50	0.1%
PVC-10140	4" SDR 35 Solid W	85	2.72	231.11	0.1%	0.00	0.00	%0
PVC-10150	2" x 3" x 4" Downs	28	2.65	153.58	0.1%	00.00	0.00	%0
PVC-10160	3" x 4" x 4" Downs	9	3.85	23.10	%0	3.85	23.10	%0 %0
PVC-112100	1-1/2" x 10' Solid P	- (4.51	15.51	%0	0.00	0.00	%0
PVC-112200	1-1/2" 90 ELL PVC	e 6	1.80	59.55 94.91	% % 0	000	0000	%0 0
SDR35 PVC Pipe - Other	יייים אומום טייי	30	0.00	0.00	%0	0.00	0.00	%0
Total SDR35 PVC Pipe		354		1,149.81	0.50%		1,366.40	1.10%
SIMPSON								
F-ABE66Z	6" X 6" Post base	116	10.79	1,251.95	0.6%	14.00	1,624.00	1.3%
F-BC6Z	a x a Post Cap a	<u>.</u>	0 9	00.84	6.0°	0.00	000	%/O
F-LUS283Z	2 x 8 triple joist ha	19	2. 2. V	40.28	%0 0	00:00	0.00	%°
F-50L262	SYSYA DBL 1018	2 6	7.7	181 25	 	0000	00.0	% &
FESCHAGE	1/2"v5 1/9" Wedne	52 44	0.52	23.52	%0	000	0.00	%0 %0
SIMPSON - Other	1	0	0.00	0.0	%0	0.00	0.00	%0
Total SIMPSON		235		1,726.69	0.80%		1,624.00	1.30%
SPINDLE	+ + - - - - - - - - -	c	i i	c c	ò	Ċ	Ċ	òC
13E0905 CL-00015610	s Copper rop Cedar configured h	-	0.00	0.00	%0 %0	0.00	0.00	%0 %0

₹	α,
₹	9
4	ũ
	9
Y	ð
ח	ē

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
CL-00015677	Cedar colonial new	-	75.61	75.61	%0	0.00	0.00	%0
CL-00016946	3X3 -36" Cedar col	,	11.60	11.60	%0	0.00	0.00	%0
CL-00017688	Cedar designer de	Υ-	75.61	75.61	%0	0.00	0.00	%0
CL-00017690	Cedar designer spi	Υ-	11.60	11.60	% 0	0.00	0.00	%0
CL-00017691	Cedar Montgomery		75.61	75.61	%0	0.00	0.00	%0
CL-00017692	Cedar Montgomery		24.48	24.48	% 0	0.00	0.00	%0
CL-00017693	Cedar colonial new	,-	75.61	75.61	%0	0.00	0.00	%0
FCC6	6" Flat Top Post Cap	46	8.88	408.40	0.5%	0.00	0.00	%0
8001	Cedar 8" Flat Top	36	17.02	612.76	0.3%	18.06	650.16	0.5%
SPINDLE - Other	•	0	0.00	0.00	%0	0.00	0.00	% 0
Total SPINDLE		06		1,371.28	0.60%		650.16	0.50%
TECHNISEAL					,	1	1	ì
3266-00	Applicator	S	4.50	9.00	%0	0.00	0.00	%0 *
T-121-123	Techniseal WL1 Pr	우	24.72	247.18	0.1%	0.00	0.00	%0 *0
T-121-126	Techniseal WL1 Pr	우	103.20	1,031.96	0.5%	0.00	0.00	%0
T-121-534	Techniseal Efflores	4-	14.69	-58.76	%O-	0.00	0.00	%0
T-121-721	Techniseal RG Co	ςŅ	2.51	-5.02	%O-	0,00	0.00	%0
T-121-738	Techniseal RG Pol	110	14.80	1,628.00	0.8%	0.00	0.00	%0 **O
T-121-748	Techniseal RG Pol	51	14.80	754.80	0.4%	0.00	0.00	%0
TECHNISEAL - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total TECHNISEAL		177		3,607.16	1.70%		0.00	0.00%
TIGERFLEX								
TFP-112100	1-1/2" x 100' TIGE	1,200	1.37	1,646.80	0.8%	0.00	0.00	%0
TIGERFLEX - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total TIGERFLEX		1,200		1,646.80	0.80%		0.00	%00:0
TOUCHSTONE ARCHITECTURAL FLOOD ACCESSORIES								
FMB3BZ	3" Flush mount gar	0	5.30	0.00	%0	0.00	0.00	%0
FMB3PB	3" Flush mount gar	0	5.50	0.00	%0	0.00	0.00	%0
FMBBZ ARCHITECTIIRAL FLOOD ACCESSOBIES - Ot	Flush Mount Brack	o c	800	00.0	%0 %0	0.00	0.00	%0 %0
Total ARCHITECTURAL FLOOD ACCESSORIES		0		0.00	0.00%		00:0	0.00%
ARCHITECTURAL FLOOD FIXTURES	7 2 4 4 5 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6	*	6	ć.	ò	c c	ć	ò
AZIZBHASS	Small flood bronze	- a	24.54 06.90	263.70	%1.0 %1.0	300	00.0	%°°°
A212DZ A919DB	Small flood, plated	0	0.00	0.00	%0 %-::	0.00	00:0	%0
A232BZ	Wide flood, bronze	0	35.00	0.00	%0	0.00	0.00	%0
ARCHITECTURAL FLOOD FIXTURES - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total ARCHITECTURAL FLOOD FIXTURES		10		307.12	0.10%		0.00	0.00%
CABLE								
C10/250 W C12/500 BR	10/2 gauge x 250' 12/2 gauge x 500'	1,404 5,149	0.43	600.94 1,441.72	0.3%	0.00	00:00	%0 %0

Ā	/08
9:27	90/60

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
C8/250 BL CABLE - Other	8/2 gauge x 250' bl	1,070	0.56	600.85	0.3% 0%	0.00	0.00	%0 %0
Total CABLE		7,623		2,643.51	1.20%		00.00	0.00%
CONNECTORS BWN	Blue Wire Nut	100	0.22	22.00	%0	0.00	0.00	%0
GCS	Ground cable strip	0	5.75	0.00	%0	0.00	0.00	%D
JBR2	2' junction base lid	0	4.50	0.00	%0 %0	0.00	0.00	%0
17.095	Silicone connector	1,200	0.65	780.00	0.4%	B0:0	0.00	%n
TS8100	B" black UV tie stra	0.5	5.74	2.87	%0	0.00	0.00	°°°
WNBS CONNECTORS - Other	5.3 oz tube of silicon	00	0.00	0.00	%0 %0	0.00	0.00	%0 %0
Total CONNECTORS		1,300.5		804.87	0.40%		0.00	0.00%
DECK & WALL FIXTURES								
D225BZ	Deck 'N Wall "Half	0	16.42	0.00	%0	0.00	0.00	%0
D225C	Deck 'N Wall "Haff	ਜ਼ _:	17.00	527.00	0.2%	0.00	0.00	%0
D225N	Deck 'N Wall "Haif	אינ	17.00	X04.00	%L.O	0.00	0.00	0.00
D226BZ	Wall 'N Siep "Louv	7 0	19.00	45.00	%0	00.00	00.07	0. I. 0 0. I. 0
DZSC	Wall N Step Louv	0 0	00.71	5.5	%0	26.00	00.0	%0
D228GR	Deck 'N Post - Bro	100	17.18	1.889.27	0.9%	0.00	0.00	%0
D228C	Deck 'N Post - Ra	22	25.48	-509.60	-0.2%	0.00	0.00	%0
D228N	Deck 'N Post nicke	က	17.00	51.00	%0	0.00	0.00	%0
D228PC	Deck 'N Post fixtur	0	17.00	0.00	%0	0.00	0.00	%0
D228WH	Deck 'N Post - White	42	16.00	192.00	0.1%	26.00	312.00	0.5%
DECK & WALL FIXTURES - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total DECK & WALL FIXTURES		154		2,452.67	1.10%		390.00	0.30%
DESIGNER SERIES GARDEN FIXTURES	Oscillo Dick	c	00 81	0	%C	0	0	%C
DESIGNER SERIES GARDEN FIXTURES - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total DESIGNEH SERIES GARDEN FIXTURES		0		0.00	0.00%		0.00	0.00%
GARDEN & WALKWAY ACCESSORIES	:			1	Ì	1		į
RB38-ST GABDEN & WAI KWAY ACCESSOBIES - Other	Riser Boot 3" Tall x	60 C	0.00	80.00 0.00	%0 %0	28.00	224.00	%0 0.2%
Total GABDEN & WAI KWAN ACCESSORIES		a		BO OO	%00.0		224 00	%08.0
GARDEN & WALKWAY FIXTURES		,		 				
G486ST-RBST	Commino rusty ste	9	43.45	434.55	0.2%	0.00	0.00	%0 *0
COMMINO - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total COMMINO		10		434.55	0.20%		0.00	0,00%
COPPERTINO G384C-RBST	Coppertino series,	æ	42.91	343.23	0.2%	0.00	0.00	%0

9:27 AM 09/06/08

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
CSSANL DBNI	Connecting pickle p	7	48.00	336.00	%6.0	00.0	00.00	%0
GSS4XT-BBST	Coppering series	· 6	32.00	512.00	0.5%	0.00	0.00	%0
G484C-BBST	Coppertino series,	0	38.00	0.00	%0	0.00	0.00	%0
COPPERTINO - Other		0	00.00	0.00	%0	0.00	0.00	%0
Total COPPERTINO		33		1,191.23	0.60%		00.00	0.00%
GARDEN & WALKWAY FIXTURES - Other		0	0.00	0.00	%0	0.00	0.00	%0
Total GARDEN & WALKWAY FIXTURES		41		1,625.78	0.80%		0.00	%00.0
LAMPS BI-PIN HALOGEN LAMPS								
ВЈЗ5Н	35 watt JC6.35 bas	64	3.25	208.00	0.1%	0.00	0.00	%0
BJSOH	50 watt JC6.35 Ba	44	3.25	143.00	0.1%	0.00	0.00	%0
BI-PIN HALOGEN LAMPS - Other		0	0.00	0.00	%n	0.00	0.00	%0
Total BI-PIN HALOGEN LAMPS		108		351.00	0.20%		0.00	0.00%
BI-PIN XENON LAMPS								ļ
BJ10X	10 walt JC4.00 bas	176	0.51	90.26	%0	0.00	0.00	%0
BJ20X	20 watt JC4.00 bas	0 0	5.25	0.00	%°	0.00	0.00	%0
BJ35X BI-PIN XENON LAMPS - Other	35 wall Jub.35 das	0	00.00 00.00	0.00	%0 %0	0.0	0.00	%0 0
Total BI-PIN XENON LAMPS		176		90.26	0:00%		0.00	0.00%
MD.18 AMDS								
B20/10	20 watt MR-16 seal	20	3.25	162.50	0.1%	0.00	0.00	%0
B20/38	20 watt MR-16 seal	113	2.55	288.60	0.1%	0.00	0.00	%0
B20/60	20 wt. MR-16 seale	42	3.25	136.50	0.1%	0.00	0.00	%0
B35/10	35 wt. MR-16 seale	48	3.25	156.00	0.1%	0.00	0.00	%0
B35/38	35 wt. MR-16 seale	5	3.25	48.75	%0	0.00	0.00	%0
B35/60	35 wt. MR-16 seale	54	3.01	162.50	0.1%	0.00	00:00	%0
B50/10	50 wt. MR-16 seale	49	3.25	159.25	0.1%	00:0	0.00	%0
B50/38	50 wt. MR-16 seale	8	3.25	65.00	%0	0.00	0.00	%0
B50/60	50 watt MR-16 seal	48		156.00	0.1%	0.00	0.00	%0
MH-16 LAMPS - Ciner			0.00	00:00	970	0.00	00.00	
Total MR-16 LAMPS		439		1,335.10	0.60%		0.00	0.00%
SPECIALTY LAMPS		ć	i C			c c	C	č
BW18X SPECIALTY LAMPS - Other	35 wall JC4.00 das	G 0	0.03	0.00	%I.n 0%	0.00	0.00	%0
Total SPECIALTY LAMPS		09		195.00	0.10%		0.00	0.00%
WELL LAMPS	;	:	1	1	j			Ì
PARTS6/35L PARTS6/35WFL	35 watt par 36 1100 35 watt par 36 wid	ဂ္ဂဝဂ္ဂ	9.99	300.00 0.00 0.00	%1.0 0%	0.00	0.00	%0 %0
WELL CAMPO - Cillei			9	5	0	200	255	90
Total WELL LAMPS		20		300.00	0.10%		0.00	0.00%

AM	90/9
9:27	0/60

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
LAMPS - Other	and the state of t	0	0.00	0.00	%0	0.00	0.00	%0
Total LAMPS		833		2,271.36	1.10%		00:00	%00:0
OTHER EF-B	Fixture flag Blue	200	0.09	18.00	%0	0:00	0.00	%0
2 - H	Fixture flag Green	100	0.09	00.6	%D	0.00	0.00	%0 %0
O 4. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.	Fixture flag Pink	9 0	60.0	0.0	%0 *0	0.00	0.00	%0 %0
FF-Y FFLED Other	Fixture flag yellow	001	0.09	00.60 00.00	%0	0.00	0.00	%0 %0
Total OTHER		200		45.00	%00.0		0.00	0.00%
RUBBER MOUNT SUPERSTAKE ACC. 7RM	Rubber Mount ON	Ø	15.50	31.00	%0	0.00	0.00	%0 0
PS8 RUBBER MOUNT SUPERSTAKE ACC Other	Plastic Stake, 8"	82 O	2.00 0.00	46.00 0.00	%0	6.00 0.00	138.00	0.1%
Total RUBBER MOUNT SUPERSTAKE ACC.		25		77.00	0.00%		138.00	0.10%
RUMMBERMOUNT SUPERSTAKE KITS	Superclake 17" wit	Ę	00 66	220.00	0.1%	00'0	0.00	%0
HMSS-2-17-K	Superstake, 17" w	<u> </u>	0.00	0.00	%0 0	0.00	0.00	%0 200
SS7RM-K RUMMBERMOUNT SUPERSTAKE KITS - Other	Superstake, 7" with	00	15.50 0.00	0 0 0 0	%°	0.00	0.00	%0 %0
Total RUMMBERMOUNT SUPERSTAKE KITS		10		220.00	0.10%		00:00	0.00%
SPECIALTY FIXTURES GR100N-F	Grill Light Brushed	4	34.99	139.96	0.1%	0:00	. 0.00	%0
W240BR-V SPECIALTY FIXTURES - Other	Underwater, Solid	4 0	30.98	123.92 0.00	0.1%	0.00	0.00	%0 %0
Total SPECIALTY FIXTURES		8		263.88	0.10%		0.00	0.00%
TRANSFORMER ACCESSORIES	7 Day digital progr	Œ	18.00	108.00	0.1%	000	0.00	%0
THE	10' plug-in swivel	φ,	25.23	151.38	0.1%	0.00	0.00	%0 %0
TRSPC	7" plug-in swivel m	- 52	14.50	304.50	0.1%	00.0	8 6 6	%0
HANSTOHMEN ACCESSONIES - Other			0.00	מימים	0,0	0.0	00.0	7000
Total THANSFORMER ACCESSORIES		34		572.88	0.30%		0.00	0.00%
TRANSFORMERS TR150 BE	150 watt, Button-E	0,	46.65	0.00	%0	0.00	0.00	%0
TR150PT TR300SS	150 Watt, Photo-c 300 Watt Trans. 6"	- N	88.96 180.00	360.00	0.2% 0.2%	0.00	0.00	%0 0
TR300U	300 Watt Transfor	ω c	146.15	876.88	0.4%	0.00	0.00	%0 0
TR600SS TR600U	600W, Universal m 600 Watts 3' Cord	40	219.00 161.00	876.00 0.00	0.4%	0.00	0.00	%0 %0

Ξ	
⋖	
<u>.</u>	
N	
0	

80/90/60	

	item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
TD60011.CC.09	m lesseviou Wood	C	219.00	0.00	%0	0.00	0.00	%0
TB-000-32-22	900 Watt 6' Cord	· 	280.00	280.00	0.1%	0.00	0.00	%0
1890U	900 Watt 3' Cord	_	222.00	222.00	0.1%	0.00	0.00	%0
TR900U-SS-22	900W, universal m	0	280.00	0.00	%0	00:00	0.00	%0
TRANSFORMERS - Other		0	00:00	0.00	%0	0:00	0.00	%0
Total TRANSFORMERS		15		2,703.83	1.30%		0.00	0.00%
TOUCHSTONE - Other		-	1,250.00	1,250.00	%9:0	0.00	0.00	%0
Total TOUCHSTONE		10,562.5		15,317.90	7.10%		752.00	0.60%
TREATED LUMBER						i	1	i
TL-01248	1/2" X 4' X 8' Treat	ō	23.47	211.20	0.1%	0.00	0.00	%0
TL-020408	2" x 4" x 8" ACQ Tr	232	2.71	628.50	0.3%	0.00	0.00	%0
TL-020412	2" x 4" x 12' treated	φ	4.23 E 7.	-33.84	%n-	0.00	0.00	%0
TL-020610	2" x 6" x 10' treated	6 990	4. n	41.04	%C 0-	22.0	08.00	%°C
1. 2021		002-	0.01 8.50	2 505 54	1.0%	800	000	%0
T-020819	2 x 0 x 10 Heated		11.40	68.40	%0	0.00	0.00	%0
TI-021012	2" X 10" X 12" Trea	92,	0.00	0.00	%0	0.00	0.00	%0
TL-021212	2" x 12" x 12' Treat	ന	21.49	64.47	%0	00:00	0.00	%0
TL-021220	2" x 12" x 20' Treat	ς	39.05	-195.10	-0.1%	0.00	0.00	%0
TL-02416	2" x 4" x 16' treated	0	6.93	0.00	%0	6.93	0.00	%0
TL-02808	2" x 8" x 8' treated	48	4.95	237.60	0.1%	0.00	0.00	%0 0
TL-02816	2" x 8" x 16' treated	20	15.06	752.76	0.3%	0.00	0.00	%0
TL-040616	4" x 6" x 16' Treated	0	22.50	0.00	%0	0.00	0.00	%0 %0
TL-040618	4" x6" x18' Treated	9	22.90	0.00	%0	0.00	0.00	%0
TL-04408	4" x 4" x 8" Ireated	/ 6	6.45	525.42	0.3%	000	0.00	0/0 /ac
TL-060612	6" x 6" x 12" reated	% °	30.36	789.40	0.4%	0.00	0.00	%0
TL-060614	6" x 6" x 14' Treated	0 (35.50	00:0	%1	0.00	0.00	%0
TL-06608	6" x 6" x 8" treated	;	18.82	56.505, F-	-0.7%	0.00	0.00	%0 %0
TL-06610	6" x 6" x 10' treated	24	16.65	399.60	0.2%	0.00	0.00	0%
TL-21016	2" x 10" x 16' freated	45.	14.14	480.83	% % O	0.00	000	% 6
1L-21208	2 X 12 X 0 calcu	† Ç	08.1.7	305 30	6/0 //C	8 6	86	%0
T - D - 24i20	Standard affice 2	<u>.</u>	7 67	03.55	840	00.0	00.0	%0 %0
TREATED LUMBER - Other		-38	0.00	0.00	%0	0.00	0.00	%0
Total TREATED LUMBER		432		4,044.87	1.90%		55.98	0.00%
TREX DECKING								
TX-10010	Trex - 5/4" x 6" x 1	0	32.29	0.00	%0	0.00	0.00	%0
HEX DECKING - Other			0.00	00.0	0/O	0.0	0.00	0/0
Total TREX DECKING		0		00'0	0.00%		00.00	0.00%
UNDER DECK	- - - - - - - - - - - - - - - - - - -	•	1		č	i i	Ċ	è
UD-10CP12-T	10" Collector Panel	0 0	20.77	0.00	%0	0.00	900	%°
UD-1G12-T	Joist Gutter - 12'	0	28.25	0.00	%°°	0.00	0.00	%0 %0

Ξ	
⋖	
2	
ö	

Outdoor Living, Inc. Inventory Valuation Summary As of September 6, 2008

	Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
UD-JR36-W	Joist Rail - 36" - W	0	3.29	0.00	%0	0.00	00:00	%0
UD-WD12-W	Water Diverter - 12	0	3.05	0.00	%0	0.00	0.00	%0
Weather Strip	5" Pre-Cut	0	0.75	0.00	%0	0:00	0.00	%0
UNDER DECK - Other		0	0.00	0.00	%0	0.00	0.00	% 0
Total UNDER DECK		0		0.00	0.00%		0.00	0.00%
Weekes Forest Products					į	,		•
BEAM-312x1178		0 (205.74	0.00	%0	0.00	0.00	%0
CDR-010414	1X4X14 S1S2E	0	5.67	0.00	%0	0.00	0.00	%0
CDH-010612	1X6X12 5152E	⊃ 	7.28	0.00	% 0 0 7 7	0,00 64 64	0.00	07/0
CUR-U10812	1 A D A 12 O 102E	ם כ	04.7	14.20	9 è	20.03	2027	0.17./Q
CDH-010816	1 X 8 X 10 3 13ZE	n c	24.02	. C	% 0	9.0	00.0	% 0
CDD-011012	1 X 10 X 16 S 155C	-	10.07	20.05 80.05	8 %	21.5	21.16	%0
CDB-011214	1X12X14 S1S2E	- m	38.40	115.20	0.1%	0.00	0.00	%0
CDR-011216	1 X 12 X 16 S1SZE	7	26,84	187.91	0.1%	0.00	00:00	%0
CDH-020242	2 X 2 X 3.5" CEDA	-33	1.15	-37.95	%0-	1.83	-60.39	%0-
CDR-020408	2X4X8 RS CEDAR	ကု	7.08	-21.23	%O-	0.00	0.00	%0
CDR-020408-S	2X4X8 S4S CEDAR	-17	8.60	-146.20	-0.1%	0.00	0.00	%0 **O
CDH-020410R	2 x 4 x 10' HS Cedar	20	12,37	247.30	0.1%	0.00	0:00	%0
CDR-020412-S	2 x 4 x 12' S4S CE	26	8.64	224.72	0.1%	0.00	0.00	%0
CDR-020416	2 x 4 x 16 RS CED	8, 1	10.68	363.04	%7.0	13.30	452.20	0.4%
CDR-020416-S	2 × 4 × 16 848 C	<u>.</u>	22.52	58.781 CO.C.	%1.0 %0.1%	0.00	0.00	% C
כביייים ביייים בייים ביייים בייים ביים בייים בייים בייים בייים ביים בייים ביים בייים ביים ביים ביים בייים בייים ביים ביים ביים בייים ביים ביים ביים ביים ביים ביים בייים	SYEXTS DS CEDAD	י ע	30.75	 00.05	%- C-	000	800	%0
CDR-020612 CDR-020612-S	2 X 6X 12 S4S	9 0	27.29	00.0	%0	00:0	00.0	%0
CDB-020616	2 x 6 x 16 RS CED	0	17.12	0.00	%0	23.68	0,00	%0
CDR-020616-S	2" x 6" x 16' S4S C	- - -	24.00	-264.01	-0.1%	0.00	00:00	%0
CDR-020808-S	2' X B" X B' S4S C	39	12.69	494.91	0.2%	00.00	00:00	%0
CDR-020808-S1SZE	2" x 8" x 8' S1S2E	O	14.07	0.00	%0	0.00	0.00	%0 *0
CDR-020812	2X8X12 RS CEDAR	0	17.22	0.00	%0	0.00	0.00	%0
CDR-020812-S	2x8x12 S4S CEDAR	o ·	19.42	0.00	%6	0.00	0.00	%0
CDR-020816	2 X 8 X 16 HS CE	4 (53.15	08.51.5	O.1%	42.43 5000	2/:82	0.1% %0.0
CDH-020816-5	2 X B X 10 040 CE 2" < R" < 16' S182	00	28 14 28 14	Boo	% °C	9.0	00.0	%0 0
CDB-020810-3132E	2" X B" X 20' FIS	0	0.00	0.00	%0	0.00	0.00	%0 220
CDH-021008-S	2"×10"×8'S4S	-	35.00	35.00	%0	00:00	0.00	%0
CDR-021012	2X10X12 RS CED	-	27.84	27.84	%0	0.00	0.00	%0
CDR-021016	2 X 10 X 16 RS C	o	37.97	0.00	%0	20.67	0.00	%0
CDR-021016-S	2X10X16 S4S CE	0	33.66	0.00	%0 	0.00	0.00	%0 %0
CDR-021018-S1S2E	2" X 10" X 18' S1S	, . .	47.16	47.16	%0	0.00	0.00	%0
CDR-021020	2" X 10" X 20'	0	00:0	0.00	%0	0.00	0.00	%0
CDR-021216	2 X 12 X 16 HS CE	0 0	44.54	0.00	%0 *0	59.31	0.00	%0
CDH-021216-5152E	7: X 1Z: X 10: 01 02: X: Z	.	50.31	8 6	% 0	0.00	00.0	%0
CDR-040408	4 ×4 ×0 nd Cecal	0 4	- H. G.	745 29	%°C	200.00	853 20	%20
CDR-040412-S	4X4X12 S4S CED	Ծ	25.41	127.05	0.1%	00.0	0.00	%0
								Page 27

Ā	90/
51	90/6
ö	ö

Item Description	On Hand	Avg Cost	Asset Value	% of Tot Asset	Sales Price	Retail Value	% of Tot Retail
6 X 6 X 8 RS CED	0	55.46	0.00	%0	60.64	0.00	%0
6" x 6" x 8' S4S CE	4	48.14	192.56	0.1%	0.00	0.00	%0
6" x 6" x 10' RS Ce	g	99.53	597.20	0.3%	0.00	0.00	%0
6X6X12 RS CEDAR	0	74.77	0.00	%0	0.00	0.00	%0
6" X 6" X 14" RS	-	83.57	83.57	%0	00.0	0.00	%0
6" x 6" x 18' HS Ce	e	115.88	347.65	0.5%	0.00	0.00	%0
1/2" X 4' X 8' STD	0	16.65	0.00	%0	0.00	0.00	%0
1.25 x 6 x 8' AK H	0	5,38	0.00	%0	0.00	0.00	%0
1.25 X 6 X 12 AK	0	9.77	0.00	%0	11.85	0.00	%0
1.25 X 6 X 14 AK	0	16.10	0.00	%D		0.00	%0
1,25X6X16 RADIU	26	21.48	558.42	0.3%		431.34	0.3%
1.25X6X18 RADIU	0	13.34	0.00	%0		0.00	%0
1.25 X 6 X 20 AK	0	15.49	0.00	%0		0.00	%0
2 X 12 X 16 RS CE	0	44.48	0.00	%0		0.00	%0
1X6X14 T&G CED	0	10.91	0.00	%0		0.00	%0
1 X 6 X 16 T&G C	4	13,35	53.40	%0		64.20	%0
	0	0.00	0.00	%0		0.00	%0
	193		4,634.99	2.20%		2,123.45	1.70%
	129	30.96	3,993.84	1.9%	0.00	00.00	%0
	150	0.56	83.96	%0	00.00	0.00	%0
	71,735.65		215,251.00	100.00%		128,457.34	100.00%
	71,735.65		215,251.00	100.00%		128,457.34	100.00%

CDR-060608
CDR-060610
CDR-060612
CDR-060614
CDR-060618
CDR-120408D
CDR-540608
CDR-540608
CDR-540612
CDR-540616
CDR-540616
CDR-540616
CDR-540616
CDR-540610
CDR-540610
CDR-540610
CDR-540610
CDR-540610
CDR-540610
CDR-540610

Total Weekes Forest Products

wl-17545 WS-1242 Total Inventory

TOTAL

•		
In re	Outdoor Living, Inc.	Case No

SCHEDULE D - CREDITORS HOLDING SECURED CLAIMS

State the name, mailing address, including zip code, and last four digits of any account number of all entities holding claims secured by property of the debtor as of the date of filing of the petition. The complete account number of any account the debtor has with the creditor is useful to the trustee and the creditor and may be provided if the debtor chooses to do so. List creditors holding all types of secured interests such as judgment liens, garnishments, statutory liens, mortgages, deeds of trust, and other security interests.

List creditors in alphabetical order to the extent practicable. If a minor child is a creditor, the child's initials and the name and address of the child's parent or guardian, such as "A.B., a minor child, by John Doe, guardian." Do not disclose the child's name. See, 11 U.S.C. §112 and Fed. R. Bankr. P. 1007(m). If all secured

guardian, such as "A.B., a minor child, by John Doe, guardian." Do not disclose the child's name. See, 11 U.S.C. §112 and Fed. R. Bankr. P. 1007(m). If all secured creditors will not fit on this page, use the continuation sheet provided.

If any entity other than a spouse in a joint case may be jointly liable on a claim, place an "X" in the column labeled "Codebtor", include the entity on the appropriate schedule of creditors, and complete Schedule H - Codebtors. If a joint petition is filed, state whether the husband, wife, both of them, or the marital community may be liable on each claim by placing an "H", "W", "J", or "C" in the column labeled "Husband, Wife, Joint, or Community".

If the claim is contingent, place an "X" in the column labeled "Contingent". If the claim is unliquidated, place an "X" in the column labeled "Unliquidated". If the claim is disputed, place an "X" in the column labeled "Unliquidated". (You may need to place an "X" in more than one of these three columns.)

Total the columns labeled "Amount of Claim Without Deducting Value of Collateral" and "Unsecured Portion, if Any" in the boxes labeled "Total(s)" on the last sheet of the completed schedule. Report the total from the column labeled "Amount of Claim" also on the Summary of Schedules and, if the debtor is an individual with primarily consumer debts, report the total from the column labeled "Unsecured Portion" on the Statistical Summary of Certain Liabilities and Related Data.

Check this box if debtor has no creditors holding secured claims to report on this Schedule D.

CDEDITIONIC NAME	C	Hu	sband, Wife, Joint, or Community	Ç	U	D	AMOUNT OF	
CREDITOR'S NAME AND MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	H & J C	DATE CLAIM WAS INCURRED, NATURE OF LIEN, AND DESCRIPTION AND VALUE OF PROPERTY SUBJECT TO LIEN	COX +	NLIQUIDAT	I S P U T E D	CLAIM WITHOUT DEDUCTING VALUE OF COLLATERAL	UNSECURED PORTION, IF ANY
Account No. xxx-xxxxxx9-000			Purchase Money Security Interest] ⊤ [T E D			
Caterpillar Financial Services P.O. Box 730669 Dallas, TX 75373-0669		-	Caterpillar 242B Skidsteer CAT#0242BHBXM01258		ט			
			Value \$ 20,000.00				7,659.02	0.00
Account No.			Catarnillar Financia Sarvicca					
Representing: Caterpillar Financial Services			Caterpillar Financia Services 2120 West End Avenue Nashville, TN 37203					
			Value \$	1				
Account No. xxx-xxx1135		Г	Purchase Money Security Interest	П				
Caterpillar Financial Services P.O. Box 730669 Dallas, TX 75373-0669		-	Caterpillar 262B Skidsteer PDT04248					
			Value \$ 24,000.00	$\mid \mid$			30,307.22	6,307.22
Account No. Representing: Caterpillar Financial Services			Caterpillar Financial Services 2120 West End Avenue Nashville, TN 37203				55,567.22	3,301.22
				ubt	ota	1		
continuation sheets attached			(Total of t	his p	oag	(e)	37,966.24	6,307.22

In re	Outdoor Living, Inc.		Case No.	
•		Debtor	,	

CREDITOR'S NAME AND MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions.)	C O D E B T O R	H	NATURE OF LIEN, AND DESCRIPTION AND VALUE	CONTINGEN	UNLIQUIDA	SPUTE	AMOUNT OF CLAIM WITHOUT DEDUCTING VALUE OF COLLATERAL	UNSECURED PORTION, IF ANY
Account No. xxx-xx5552	T		Purchase Money Security Interest	Ϊ	A T E D			
Caterpillar Financial Services P.O. Box 730669 Dallas, TX 75373-0669		-	Caterpillar 268 Skidsteer CAT 026BBT2BA00981		D			
			Value \$ 30,000.00				33,498.45	3,498.45
Account No. Representing: Caterpillar Financial Services			Caterpillar Financial Services 2120 West End Avenue Nashville, TN 37203					
			Value \$	1				
Account No. xxx-xxx3085	1	T	Purchase Money Security Interest					
Caterpillar Financial Services P.O. Box 730669 Dallas, TX 75373-0669		-	Caterpillar 904B Wheel Loader B4L00339-Vehicle Repossesed					
			Value \$ 43,000.00	1			41,556.58	0.00
Account No. xxx-xxx7320 Caterpillar Financial Services P.O. Box 730669 Dallas, TX 75373-0669		-	Purchase Money Security Interest Caterpillar CB214 Rollar Compactor VIN 2140477 Repossesed Value \$ 12,000.00				19,973.77	7,973.77
Account No.	╁	+	Value \$ 12,000.00	┢			19,973.77	7,913.11
Representing: Caterpillar Financial Services			Caterpillar Financial Services 2120 West End Avenue Nashville, TN 37203					
			Value \$					
Sheet <u>1</u> of <u>4</u> continuation sheets att Schedule of Creditors Holding Secured Clain		ed to	S (Total of the	his			95,028.80	11,472.22

In re	Outdoor Living, Inc.		Case No.	
•		Debtor	_,	

CREDITOR'S NAME AND MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions.)	C O D E B T O R	Hu H C	sband, Wife, Joint, or Community DATE CLAIM WAS INCURRED, NATURE OF LIEN, AND DESCRIPTION AND VALUE OF PROPERTY SUBJECT TO LIEN	COZH_ZGWZ	Z Q D <	DISPUTED	AMOUNT OF CLAIM WITHOUT DEDUCTING VALUE OF COLLATERAL	UNSECURED PORTION, IF ANY
Account No. xxx-xxx2303 Caterpillar Financial Services P.O. Box 730669			Purchase Money Security Interest Toro Skiploader and Auger Power Head Repossesed	Т	T E D			
Dallas, TX 75373-0669		-	Value \$ 12,000.00				6,456.55	0.00
Account No.			·				·	
Representing: Caterpillar Financial Services			Caterpillar Financial Services 2120 West End Avenue Nashville, TN 37203					
			Value \$					
Account No. xxx-xxx7090			Purchase Money Security Interest					
Caterpillar Financial Services P.O. Box 730669 Dallas, TX 75373-0669		-	Caterpillar 1 1/4 yd Bucket Repossesed					
			Value \$ 2,000.00				8,361.42	6,361.42
Account No.								
Representing: Caterpillar Financial Services			Caterpillar Financia Services 2120 West End Avenue Nashville, TN 37203					
			Value \$					
Account No. xxx-xxxx-x9267	\dashv		Purchase Money Security Interest					
GMAC P.O. Box 9001952 Louisville, KY 40290-1952		-	2003 Chevrolet K3500 Pickup 67451 F VIN 1GBJK34U53E157919					
		L	Value \$ 12,500.00				6,948.50	0.00
Sheet 2 of 4 continuation sheets a Schedule of Creditors Holding Secured Cla		d to	(Total of t	ubt nis p		- 1	21,766.47	6,361.42

In re	Outdoor Living, Inc.	Case No
•		Debtor

CREDITOR'S NAME AND MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions.)	CODEBTOR	Hu H W J C	sband, Wife, Joint, or Community DATE CLAIM WAS INCURRED, NATURE OF LIEN, AND DESCRIPTION AND VALUE OF PROPERTY SUBJECT TO LIEN	COXF_XGEX	0 Z J _ Q D _ D 4	DISPUTED	AMOUNT OF CLAIM WITHOUT DEDUCTING VALUE OF COLLATERAL	UNSECURED PORTION, IF ANY
Account No. Representing: GMAC			GMAC 15303 S. Saginaw Street Flint, MI 48502	Ť	ATED			
Account No. Representing: GMAC			Value \$ GMAC P.O. Box 380902 Minneapolis, MN 55438					
Account No. Representing: GMAC			Value \$ GMAC PO Box 130424 Roseville, MN 55113					
Account No. Northside Community Bank 5103 Washington Street Gurnee, IL 60031	_	-	Value \$ Cross Collateralized w/ 1991 GMC Topkick 1998 Chevrolet C1500 Pickup 1GCEK19R1WR121647					
Account No. x4485 Northside Community Bank 5103 Washington Street Gurnee, IL 60031		-	Value \$ 5,800.00 Purchase Money Security Interest 2005 International Contractor Dump 91692 H 1HTMMAAM25H122528				3,810.35	0.00
			Value \$ 35,000.00				13,391.93	0.00
Sheet <u>3</u> of <u>4</u> continuation sheets att. Schedule of Creditors Holding Secured Claim		d to	S (Total of th	ubt nis j		- 1	17,202.28	0.00

In re	Outdoor Living, Inc.		Case No.	
•		Debtor	,	

CREDITOR'S NAME AND MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions.)	СОПШВНОК	Hu H W J C	sband, Wife, Joint, or Community DATE CLAIM WAS INCURRED, NATURE OF LIEN, AND DESCRIPTION AND VALUE OF PROPERTY SUBJECT TO LIEN	COZH_ZGWZ	DZ LL GD LL ZC	E	AMOUNT OF CLAIM WITHOUT DEDUCTING VALUE OF COLLATERAL	UNSECURED PORTION, IF ANY
Account No. x4690			Purchase Money Secruity Interest	Ť	T E D	l		
Northside Community Bank 5103 Washington Street Gurnee, IL 60031		_	1991 GMC Topkick 84275 H 1GDM7H158MJ517111		D			
			Value \$ 12,000.00				3,810.35	0.00
Account No.			Accounts Rec/Inventory/Blanket Lien				·	
Northside Community Bank 5103 Washington Street Gurnee, IL 60031	x	_	Accounts Receivable					
			Value \$ 204,994.53				100,000.00	0.00
Account No.								
A AN	H		Value \$					
Account No.								
	H		Value \$					
Account No.			Value \$					
Sheet 4 of 4 continuation sheets attac		d to	S (Total of th	ubt		- 1	103,810.35	0.00
Schedule of Creditors Holding Secured Claims	3		(Report on Summary of Sc	T	ota	1	275,774.14	24,140.86

In re	Outdoor Living, Inc.		Case No.	
-		, Debtor		

SCHEDULE E - CREDITORS HOLDING UNSECURED PRIORITY CLAIMS

A complete list of claims entitled to priority, listed separately by type of priority, is to be set forth on the sheets provided. Only holders of unsecured claims entitled to priority should be listed in this schedule. In the boxes provided on the attached sheets, state the name, mailing address, including zip code, and last four digits of the account number, if any, of all entities holding priority claims against the debtor or the property of the debtor, as of the date of the filing of the petition. Use a separate continuation sheet for each type of priority and label each with the type of priority.

The complete account number of any account the debtor has with the creditor is useful to the trustee and the creditor and may be provided if the debtor chooses to do so. If a minor child is a creditor, state the child's initials and the name and address of the child's parent or guardian, such as "A.B., a minor child, by John Doe, guardian." Do not disclose the child's name. See, 11 U.S.C. §112 and Fed. R. Bankr. P. 1007(m).

If any entity other than a spouse in a joint case may be jointly liable on a claim, place an "X" in the column labeled "Codebtor," include the entity on the appropriate schedule of creditors, and complete Schedule H-Codebtors. If a joint petition is filed, state whether the husband, wife, both of them, or the marital community may be liable on each claim by placing an "H," "W," "J," or "C" in the column labeled "Husband, Wife, Joint, or Community." If the claim is contingent, place an "X" in the column labeled "Contingent." If the claim is unliquidated, place an "X" in the column labeled "Unliquidated." If the claim is disputed, place an "X" in the column labeled "Disputed." (You may need to place an "X" in more than one of these three columns.)

Report the total of claims listed on each sheet in the box labeled "Subtotals" on each sheet. Report the total of all claims listed on this Schedule E in the box labeled

"Iotal" on the last sheet of the completed schedule. Report this total also on the Summary of Schedules. Report the total of amounts entitled to priority listed on each sheet in the box labeled "Subtotals" on each sheet. Report the total of all amounts entitled to priority listed on this Schedule E in the box labeled "Totals" on the last sheet of the completed schedule. Individual debtors with primarily consumer debts report this total also on the Statistical Summary of Certain Liabilities and Related Data. Report the total of amounts not entitled to priority listed on each sheet in the box labeled "Subtotals" on each sheet. Report the total of all amounts not entitled priority listed on this Schedule E in the box labeled "Totals" on the last sheet of the completed schedule. Individual debtors with primarily consumer debts report the total also on the Statistical Summary of Certain Liabilities and Related Data.
☐ Check this box if debtor has no creditors holding unsecured priority claims to report on this Schedule E.
TYPES OF PRIORITY CLAIMS (Check the appropriate box(es) below if claims in that category are listed on the attached sheets)
☐ Domestic support obligations
Claims for domestic support that are owed to or recoverable by a spouse, former spouse, or child of the debtor, or the parent, legal guardian, or responsible relation of such a child, or a governmental unit to whom such a domestic support claim has been assigned to the extent provided in 11 U.S.C. § 507(a)(1).
☐ Extensions of credit in an involuntary case
Claims arising in the ordinary course of the debtor's business or financial affairs after the commencement of the case but before the earlier of the appointment of trustee or the order for relief. 11 U.S.C. \S 507(a)(3).
☐ Wages, salaries, and commissions
Wages, salaries, and commissions, including vacation, severance, and sick leave pay owing to employees and commissions owing to qualifying independent sal representatives up to \$10,950* per person earned within 180 days immediately preceding the filing of the original petition, or the cessation of business, whichever occurred first, to the extent provided in 11 U.S.C. § 507(a)(4).
☐ Contributions to employee benefit plans
Money owed to employee benefit plans for services rendered within 180 days immediately preceding the filing of the original petition, or the cessation of busin whichever occurred first, to the extent provided in 11 U.S.C. § 507(a)(5).
☐ Certain farmers and fishermen
Claims of certain farmers and fishermen, up to \$5,400* per farmer or fisherman, against the debtor, as provided in 11 U.S.C. § 507(a)(6).
☐ Deposits by individuals
Claims of individuals up to \$2,425* for deposits for the purchase, lease, or rental of property or services for personal, family, or household use, that were not delivered or provided. 11 U.S.C. § 507(a)(7).
■ Taxes and certain other debts owed to governmental units
Taxes, customs duties, and penalties owing to federal, state, and local governmental units as set forth in 11 U.S.C. § 507(a)(8).
☐ Commitments to maintain the capital of an insured depository institution
Claims based on commitments to the FDIC, RTC, Director of the Office of Thrift Supervision, Comptroller of the Currency, or Board of Governors of the Feder Reserve System, or their predecessors or successors, to maintain the capital of an insured depository institution. 11 U.S.C. § 507 (a)(9).
☐ Claims for death or personal injury while debtor was intoxicated
Claims for death or personal injury resulting from the operation of a motor vehicle or vessel while the debtor was intoxicated from using alcohol, a drug, or another substance. 11 U.S.C. § 507(a)(10).

continuation sheets attached

^{*} Amounts are subject to adjustment on April 1, 2010, and every three years thereafter with respect to cases commenced on or after the date of adjustment.

In re	Outdoor Living, Inc.	Case No	
	- ·		

SCHEDULE E - CREDITORS HOLDING UNSECURED PRIORITY CLAIMS

(Continuation Sheet)

Taxes and Certain Other Debts
Owed to Governmental Units

TYPE OF PRIORITY Husband, Wife, Joint, or Community U N CODEBTOR AMOUNT NOT ENTITLED TO PRIORITY, IF ANY CREDITOR'S NAME, ONTINGENT SPUTED AND MAILING ADDRESS Н LIQUIDATED AMOUNT DATE CLAIM WAS INCURRED INCLUDING ZIP CODE, W AND CONSIDERATION FOR CLAIM OF CLAIM AMOUNT ENTITLED TO PRIORITY C AND ACCOUNT NUMBER (See instructions.) Account No. xxxx514-7 State Uemployment Taxes Illinois Department of Employ Sec 0.00 P.O. Box 19300 Springfield, IL 62794 9,649.36 9,649.36 Account No. **Attorney General** State of Illinois Representing: 500 S. Second Street Illinois Department of Employ Sec Springfield, IL 62706 Account No. xxxx-7917 Sales Tax Illinois Department of Revenue 0.00 **Bankruptcy Section** 100 W. Randolph Street Chicago, IL 60606 158.00 158.00 Account No. **Illinois Attorney General** 100 W. Randolph Street Representing: Chicago, IL 60606 Illinois Department of Revenue **Payroll Taxes** Account No. Illinois Department of Revenue 0.00 **Bankruptcy Section** 100 W. Randolph Street Chicago, IL 60606 6,518.18 6,518.18 Subtotal 0.00 Sheet 1 of 3 continuation sheets attached to

(Total of this page)

Schedule of Creditors Holding Unsecured Priority Claims

16,325.54

16,325.54

In re	Outdoor Living, Inc.	Case No.	
	<u>.</u> .		

SCHEDULE E - CREDITORS HOLDING UNSECURED PRIORITY CLAIMS

(Continuation Sheet)

Taxes and Certain Other Debts
Owed to Governmental Units

TYPE OF PRIORITY Husband, Wife, Joint, or Community CODEBTOR UNLIQUIDATED AMOUNT NOT ENTITLED TO PRIORITY, IF ANY CREDITOR'S NAME, ONTINGENT SPUTED AND MAILING ADDRESS Н AMOUNT DATE CLAIM WAS INCURRED INCLUDING ZIP CODE, W AND CONSIDERATION FOR CLAIM OF CLAIM AMOUNT ENTITLED TO PRIORITY AND ACCOUNT NUMBER J С (See instructions.) Account No. **Illinois Attorney General** 100 W. Randolph Street Representing: Chicago, IL 60606 Illinois Department of Revenue Sales Taxes Account No. Illinois Department of Reveue 0.00 P.O. Box 19035 Springfield, IL 62794 9.289.28 9.289.28 Account No. **Attorney General** State of Illinois Representing: 500 S. Second Street Illinois Department of Reveue Springfield, IL 62706 Payroll Taxes Account No. Internal Revenue Service 0.00 P.O. Box 21126 Philadelphia, PA 19114 67,720.40 67,720.40 Account No. D. Patrick Mularkey Room 7894, JCB Building Representing: 555 4th Street N.W. **Internal Revenue Service** Washington, DC 20001 Subtotal 0.00 Sheet **2** of **3** continuation sheets attached to

(Total of this page)

Schedule of Creditors Holding Unsecured Priority Claims

77,009.68

77,009.68

In re	Outdoor Living, Inc.	Case No
_	<u> </u>	•

SCHEDULE E - CREDITORS HOLDING UNSECURED PRIORITY CLAIMS

(Continuation Sheet)

Taxes and Certain Other Debts Owed to Governmental Units

TYPE OF PRIORITY Husband, Wife, Joint, or Community CODEBTOR UNLIQUIDATED AMOUNT NOT ENTITLED TO PRIORITY, IF ANY CREDITOR'S NAME, ONTINGENT SPUTED AND MAILING ADDRESS Н DATE CLAIM WAS INCURRED **AMOUNT** INCLUDING ZIP CODE, W AND CONSIDERATION FOR CLAIM OF CLAIM AMOUNT ENTITLED TO PRIORITY C AND ACCOUNT NUMBER (See instructions.) Account No. **United States Attorney** 219 S. Dearborn Street Representing: Chicago, IL 60604 **Internal Revenue Service** Account No. xx-xxx4996 **Federal Payroll Taxes** Internal Revenue Service 0.00 P.O. Box 21126 Philadelphia, PA 19114 3,104.26 3,104.26 Account No. Account No. Account No. Subtotal 0.00 Sheet 3 of 3 continuation sheets attached to (Total of this page) Schedule of Creditors Holding Unsecured Priority Claims 3,104.26 3,104.26 0.00

(Report on Summary of Schedules)

96,439.48

96,439.48

In re	Outdoor Living, Inc.		Case No.	
-		Debtor		

SCHEDULE F - CREDITORS HOLDING UNSECURED NONPRIORITY CLAIMS

State the name, mailing address, including zip code, and last four digits of any account number, of all entities holding unsecured claims without priority against the debtor or the property of the debtor, as of the date of filing of the petition. The complete account number of any account the debtor has with the creditor is useful to the trustee and the creditor and may be provided if the debtor chooses to do so. If a minor child is a creditor, state the child's initials and the name and address of the child's parent or guardian, such as "A.B., a minor child, by John Doe, guardian." Do not disclose the child's name. See, 11 U.S.C. §112 and Fed. R. Bankr. P. 1007(m). Do not include claims listed in Schedules D and E. If all creditors will not fit on this page, use the continuation sheet provided.

If any entity other than a spouse in a joint case may be jointly liable on a claim, place an "X" in the column labeled "Codebtor," include the entity on the appropriate schedule of creditors, and complete Schedule H - Codebtors. If a joint petition is filed, state whether the husband, wife, both of them, or the marital community may be liable on each claim by placing an "H," "W," "J," or "C" in the column labeled "Husband, Wife, Joint, or Community."

If the claim is contingent, place an "X" in the column labeled "Contingent." If the claim is unliquidated, place an "X" in the column labeled "Unliquidated." If the claim is disputed, place an "X" in the column labeled "Disputed." (You may need to place an "X" in more than one of these three columns.)

Report the total of all claims listed on this schedule in the box labeled "Total" on the last sheet of the completed schedule. Report this total also on the Summary of Schedules and, if the debtor is an individual with primarily consumer debts, report this total also on the Statistical Summary of Certain Liabilities and Related Data.

☐ Check this box if debtor has no creditors holding unsecured claims to report on this Schedule F.

MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	0 0	Hu H V J C		G E N	N L I Q U	DISPUTED	3	AMOUNT OF CLAIM
Account No.				Т	Е			
55 North Barron Blvd, LLC 1 Northfield Plaza #300 Winnetka, IL 60093		-			D			66,718.27
Account No.						Г	1	
Action Fence Contractors, Inc. 945 Tower Road Mundelein, IL 60060		-						420.00
Account No. x0712	\dashv			┢		H	+	
Addison Building Materials 3201 S. Busse Road Arlington Heights, IL 60004		-						6,911.49
Account No.						T	†	
Advanced Ground Care Products 665 W. Armory Drive South Holland, IL 60473		-						16,043.86
			S (Total of t	ubt his			,	90,093.62

In re	Outdoor Living, Inc.	Case No.	
_		Debtor	

SCHEDULE F - CREDITORS HOLDING UNSECURED NONPRIORITY CLAIMS (Continuation Sheet)

CDEDWORK VALVE	С	Tr	lusband, Wife, Joint, or Community		: U		D	
CREDITOR'S NAME, MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	F V	DATE CLAIM WAS INCURRED AND CONSIDERATION FOR CLAIM. IF CLAIM		U N L I Q U I D A T E D	! !	DISPUTED	AMOUNT OF CLAIM
Account No.				- ['	Ę			
American National 924 Turret Court Mundelein, IL 60060		-						108.50
Account No. xxxx-xxxxxx-x2005		T				T		
Amex Business Gold Card Nationwide Credit Inc. Atlanta, GA 30374		-						
								3,362.81
Account No.	T	t		1	T	Ť		
Anasco Incorporated 1515 West Fullerton Avenue Addison, IL 60101		_						1,753.40
Account No.	┢	+		+	+	+	+	<u> </u>
Arlington Power Equipment 20175 North Rand Road Palatine, IL 60074		-						181.04
Account No.		t		+	+	\dagger	\dashv	
Arrow Plumbing Inc. 547 North Avenue Grayslake, IL 60030		-						212.53
Sheet no1 of _16_ sheets attached to Schedule of	_	•		Sul	otot	al	\exists	£ 610 00
Creditors Holding Unsecured Nonpriority Claims			(Total o	f this	pa	ge)	5,618.28

In re	Outdoor Living, Inc.	Case No.	
_		Debtor	

SCHEDULE F - CREDITORS HOLDING UNSECURED NONPRIORITY CLAIMS (Continuation Sheet)

	_				_	_	1
CREDITOR'S NAME,	ļç	Hu	sband, Wife, Joint, or Community	15	Ü	P	
MAILING ADDRESS	CODEBTOR	Н	DATE OF A DAMAG DIGUIDATE AND	CONTINGENT	UNLL	DISP	
INCLUDING ZIP CODE,	E	w	DATE CLAIM WAS INCURRED AND	Ţ	١	P	
AND ACCOUNT NUMBER	Ť	J	CONSIDERATION FOR CLAIM. IF CLAIM	'n	ŭ	Ť	AMOUNT OF CLAIM
(See instructions above.)	O	С	IS SUBJECT TO SETOFF, SO STATE.	G	. QU _ D	E	
<u> </u>	Ľ			Ϊ́ν	Ā	٦	
Account No.			847 231 6707	T	I D A T E D		
	1				D		
AT&T							
PO Box 8100		l_					
Aurora, IL 60507							
							120.58
	┡	┢	500 0004 004 5	\vdash	⊢		
Account No.			566 0391 324 5				
AT&T							
PO Box 8100		-					
Aurora, IL 60507							
Adioid, 12 00001							
							252.62
Account No.	1	T		T			
recount ito.	ł						
B & B Permanent Seeding Inc.							
21402 W. Highway 60		-					
Mundelein, IL 60060							
							420.00
	_	_		_	L	L	
Account No.							
	1						
Carol Melcer							
3171 Indian Creek Court		l_					
Buffalo Grove, IL 60089							
							68.96
Account No.	\vdash	\vdash		\vdash	\vdash	H	
Account No.	l						
L		1		1			
CommEd							
Bill Payment Center		-		1	l		
Chicago, IL 60668-0001		1		1	l		
_ ·		1		1	l		
		1		1			3,033.40
							3,033.40
Sheet no. 2 of 16 sheets attached to Schedule of				Subt	ota	1	
Creditors Holding Unsecured Nonpriority Claims			(Total of t	his	pag	e)	3,895.56

In re	Outdoor Living, Inc.	Case No	_
•		Debtor	

SCHEDULE F - CREDITORS HOLDING UNSECURED NONPRIORITY CLAIMS (Continuation Sheet)

CREDITOR'S NAME,	Ç	Hu	sband, Wife, Joint, or Community	C	: [ì	D	
MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	C A H	DATE CLAIM WAS INCURRED AND CONSIDERATION FOR CLAIM. IF CLAIM IS SUBJECT TO SETOFF, SO STATE.			77 - 27 041	SPUTED	AMOUNT OF CLAIM
Account No.			ComEd		. [
Representing:			Three Lincoln Center	L	Ī	5		
CommEd			Villa Park, IL 60181					
Account No. xxxxxx0019			Baron Blvd					
CommEd Bill Payment Center Chicago, IL 60668-0001		_						
								561.64
Account No.			ComEd	T	Ť	1		
Danies antinu.			Three Lincoln Center					
Representing:			Villa Park, IL 60181					
CommEd								
Account No.	_				+	1		
Conway Freight								
P.O. Box 5160		_						
Portland, OR 97208-5160								
								4,165.37
Account No.					T			
DeBuck's Sod Farm								
N6127 County P.		-						
Delavan, WI 53115								
								804.38
Sheet no. 3 of 16 sheets attached to Schedule of			•	Sul	oto	tal		E E24 20
Creditors Holding Unsecured Nonpriority Claims			(Total of	this	pa	age	e)	5,531.39

In re	Outdoor Living, Inc.	Case No.	
_		Debtor	

CREDITOR'S NAME,	C	H	lusband, Wife, Joint, or Community	Ç	U	D	
MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	J C	CONSIDERATION FOR CLAIM. IF CLAIM	CONTINGENT	UNLIQUIDATED	DISPUTED	AMOUNT OF CLAIM
Account No.				Т	E		
Duxler Libertyville Firestone 902 S. Milwaukee Libertyville, IL 60048		-			D		598.22
Account No.	┢						
Eiden & O'Donnel 230 Center Street #102 Vernon Hills, IL 60061		-				x	
							6,469.71
Account No.							
Excel Graphics & Promotions 400 South Vermont Street Palatine, IL 60067		-					2,164.76
Account No.				\vdash		\vdash	2,104.70
Fastenal Industrial & Const Supply 2001 Theurer Blvd. Winona, MN 55987		-					62.25
Account No.							02.23
G & D Electric 33206 North Park Grayslake, IL 60030		-					5,015.20
Sheet no4 of _16_ sheets attached to Schedule of	<u> </u>			Subt	tota	ıl	
Creditors Holding Unsecured Nonpriority Claims			(Total of t	his	pag	ge)	14,310.14

In re	Outdoor Living, Inc.	Case No.	
-		Debtor	

		_		_		_	1
CREDITOR'S NAME,	0	l	usband, Wife, Joint, or Community		UNLI	D I S P	
MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	C 1 M		CONTINGENT	LIQUIDATED	۱۲	AMOUNT OF CLAIM
Account No.				٦ [T E		
Grainger Dept 866537558 Palatine, IL 60038		-			D		1,050.60
Account No.							
Groot Industries 2500 Lanmeier Road Elk Grove Village, IL 60007		-					
							2,183.36
Account No.							
Hearth and Home Technolgies 4251 W. 129th Street Alsip, IL 60803		-					1,239.42
Account No.	┢	H	Hearth and Home Technologies	\vdash	-	┢	.,
Representing: Hearth and Home Technolgies			20802 Kensington Blvd Lakeville, MN 55044				
Account No.		T					
Heartland Bio Compostes Liquid Capital Exchange P.O. Box 17000 Reading, PA 19606		_					6,884.66
Sheet no5 of _16_ sheets attached to Schedule of				Sub	tota	ıl	11,358.04
Creditors Holding Unsecured Nonpriority Claims			(Total of t	his	pag	ge)	11,330.04

In re	Outdoor Living, Inc.		Case No	
_		Debtor		

CREDITOR'S NAME,	C	Н	lusband, Wife, Joint, or Community	C	U	D	
MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	J H	CONSIDERATION FOR CLAIM. IF CLAIM	CONTINGENT	UNLIQUIDATED	DISPUTED	AMOUNT OF CLAIM
Account No.]⊤	T E		
Helen D. Wilcox 1145 Vista Drive Gurnee, IL 60031		-			D		- 5,763.75
Account No.		t					
Hinkley Springs P.O. Box 660579 Dallas, TX 75266-0579		-					124.00
Account No.		+		\vdash			124.00
Illinois Secretary of State 213 State Capitol Springfield, IL 62756		-					106.00
Account No.		T					
Illinois Tollway 2700 Ogden Avenue Downers Grove, IL 60515		-					106.00
Account No.		T					
Integrity Phone Solutions Inc. 170 Commerce Drive Grayslake, IL 60030		-					140.75
Sheet no6 of _16 sheets attached to Schedule of		•		Subt			6,240.50
Creditors Holding Unsecured Nonpriority Claims			(Total of t	his	pag	ge)	

In re	Outdoor Living, Inc.	,	Case No.
		Debtor	

		_		_		_	
CDEDITOD'S NAME	Č	Нι	sband, Wife, Joint, or Community	C	U	D	
CREDITOR'S NAME, MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	C A M	DATE CLAIM WAS INCURRED AND CONSIDERATION FOR CLAIM. IF CLAIM IS SUBJECT TO SETOFF, SO STATE.	CONTINGENT	I D	۱۲	AMOUNT OF CLAIM
Account No.			Debtor believes that at most \$3000 of repairs	Т	A T E		
James & Christine Schleiter C/O Petti Murphy & Associates 22 S. Fourth Street Suite B Geneva, IL 60134		-	is necessary. Claimant is claiming amounts in excess of \$45000. Debtor disputes that amount		D	х	
							3,000.00
Account No.							
JBA Custom Electric 5814 Miller Road Wonder Lake, IL 60097		-					
							3,963.83
Account No.							
Jim Link Services 431 Scotland Unit B Lakemoor, IL 60051		-					26,029.35
Account No.	┢	┢		-	\vdash	H	
Kessler Orlean Silver and Company 1101 Lake Cook Road Deerfield, IL 60015		-					1,299.00
Account No.						T	
Kingsford Fastner, Inc. 25604 North Gilmer Mundelein, IL 60060		-					540.20
Sheet no. 7 of 16 sheets attached to Schedule of				Subt	tota	ıl	24 922 20
Creditors Holding Unsecured Nonpriority Claims			(Total of t	his	pag	ge)	34,832.38

In re	Outdoor Living, Inc.	Case No.	
		Debtor	

CREDITOR'S NAME, MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.) Account No.	CODEBTOR	H W J C	CONSIDERATION FOR CLAIM. IF CLAIM	CONTINGENT	UNLIQUIDATED	DISPUTED	AMOUNT OF CLAIM
Law Offices of Christopher Cook 41040 N Route 83 Antioch, IL 60002		-					307.00
Account No. Law Offices of Michael Betar 25 North County Street Waukegan, IL 60085		-					1,211.00
Account No. xxxx-xxxx-7198 Master Card American Society aka Bank of America P.O. Box 15026 Wilmington, DE 19886		-					12,982.64
Account No. Representing: Master Card American Society			Bank of America P.O. Box 15184 Wilmington, DE 19850-5184				
Account No. Master Mark Plastics P.O. Box 662 Albany, MN 56307		-					
							65,581.92
Sheet no. _8 of _16 sheets attached to Schedule of Creditors Holding Unsecured Nonpriority Claims			(Total of t	Sub his			80,082.56

In re	Outdoor Living, Inc.		Case No	
_		Debtor		

CREDITOR'S NAME, MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.) Account No.	CODEBTOR	H W J	CONSIDERATION FOR CLAIM. IF CLAIM	CONTINGENT	UNLIQUIDATED	DISPUTED	AMOUNT OF CLAIM
North Shore Gas P.O. Box A3991 Chicago, IL 60690		_			E D		760.72
Account No. xxxxxxxxx6446 North Shore Gas P.O. Box A3991 Chicago, IL 60690		_	55 N. Barron				920.59
Account No. Northwest Electrical Supply 660 East Rand Road Mount Prospect, IL 60056		_					32.07
Account No. Oaks Concrete Products 51744 Pontaic Trail Wixom, MI 48393		_					31,279.41
Account No. Representing: Oaks Concrete Products			Oaks Concrete Products 1900 Vulcan Blvd□□ Bartlett, IL 60103				
Sheet no. _9 of _16 _ sheets attached to Schedule of Creditors Holding Unsecured Nonpriority Claims	•	•	S (Total of t	Subt			32,992.79

In re	Outdoor Living, Inc.	Case No.
		Debtor

CREDITOR'S NAME,	C	Н	lusband, Wife, Joint, or Community	c	U	D	
MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	J D	CONSIDERATION FOR CLAIM. IF CLAIM	CONTINGENT	UNLIQUIDATED	DISPUTED	AMOUNT OF CLAIM
Account No.				T	E		
Olive Branch Direct to You, Inc. P.O. Box 571 Lake Bluff, IL 60044		-			D		1,580.00
Account No.		L					
Patten Industries 635 W. Lake Street Elmhurst, IL 60126		-					8,201.98
A (N	L	╀		_		L	0,201.96
Pekin Insurance Company 2505 Court Street Pekin, IL 61554		-					446.70
Account No. x-xxxx-xxxx-3633		T					
Peoples Energy 130 E. Randolph Dr., 24th Floor Chicago, IL 60601-6207		-					407.28
Account No.	H	t			H	\vdash	
Permaloc 13505 Barry Street Holland, MI 49424		-					4,766.56
Sheet no10_ of _16_ sheets attached to Schedule of				Subt			15,402.52
Creditors Holding Unsecured Nonpriority Claims			(Total of t	his	pag	ge)	10,702102

In re	Outdoor Living, Inc.	Case No.	
-		Debtor	

CREDITOR'S NAME,	С	Н	lusband, Wife, Joint, or Community	C	U	D	
MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	C N H	CONSIDERATION FOR CLAIM. IF CLAIM	CONTINGENT	UNLIQUIDATED	DISPUTED	AMOUNT OF CLAIM
Account No.				Т	E		
Prairie Materials E.O.E. 7601 West 79th Street Bridgeview, IL 60455		-			D		134.95
Account No.	-	L					
Pro-Image Sealcoating 5531 W. Plank Peoria, IL 61604		-					
							2,943.50
Account No.							
Quality Diamond Tools, Inc. 5970 Wallis Road Suite1-B West Palm Beach, FL 33413		-					400.00
Account No.	_	ŀ					400.00
R.A. Adams Enterprises Inc. 2600 W. Route 120 Mchenry, IL 60050		-					0.054.00
Account No.							2,054.30
Ray Schramer & Company 1054 E. Park Avenue Libertyville, IL 60048		-					551.60
Sheet no11_ of _16_ sheets attached to Schedule of	-			Subt			6,084.35
Creditors Holding Unsecured Nonpriority Claims			(Total of t	his	pag	ge)	3,004.00

In re	Outdoor Living, Inc.	Case No.	
_		Debtor	

CDEDITOD'S NAME	С	Н	lusband, Wife, Joint, or Community	С	U	С	5	
CREDITOR'S NAME, MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.) Account No.	CODEBTOR	C N H	DATE CLAIM WAS INCURRED AND CONSIDERATION FOR CLAIM. IF CLAIM	G	QU		1	AMOUNT OF CLAIM
RH Peterson 14724 East Proctor Avenue City of Industry, CA 91744		_			םם			792.38
Account No. Roundout Service Center 1261 Rockland Road Lake Bluff, IL 60044		_						44.00
Account No. Route 12 Rental 1306 E. Rand Road Arlington Heights, IL 60004		_						75.00
Account No. Russo Power Equipment 9525 W. Irving Park Road Schiller Park, IL 60176		-						2,069.31
Account No. Sportclub Berm Project P.O. Box 156 Grayslake, IL 60030		-						25.00
Sheet no. <u>12</u> of <u>16</u> sheets attached to Schedule of Creditors Holding Unsecured Nonpriority Claims			S (Total of th	ubt nis p)	3,005.69

In re	Outdoor Living, Inc.	Case No.	
-		Debtor	

	_	_			_		_	
CREDITOR'S NAME,	С	Ηu	usband, Wife, Joint, or Community		С	U	D	
MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.) Account No.	CODEBTOR	J H	DATE CLAIM WAS INCURRED AND CONSIDERATION FOR CLAIM. IF CLAIM IS SUBJECT TO SETOFF, SO STATE.		CONFINGENE	UNLLQULDAFE	ISPUTED	AMOUNT OF CLAIM
Account No.						E		
Sprint P.O. Box 660092 Dallas, TX 75266-0092		-				D		885.70
Account No.			Sprint	_	7			
Representing: Sprint			P.O. Box 4191 Carol Stream, IL 60197					
Account No.					7			
Spruce Lake Sand and Gravel 33450 N Us Highway 12 Ingleside, IL 60041		-						480.00
Account No.		T	Spurce Lake Land & Gravel	\dashv	+			
Representing: Spruce Lake Sand and Gravel			8400 W Burgett Rd Richmond, IL 60071					
Account No.				一	7			
Stone Crafters 430 Wegner Road Mchenry, IL 60050		_						3,103.50
Sheet no13_ of _16_ sheets attached to Schedule of					bto			4,469.20
Creditors Holding Unsecured Nonpriority Claims			(Total o	of thi	s p	ag	e)	4,403.20

In re	Outdoor Living, Inc.		Case No	
_		Debtor		

CDEDWORK VALVE	С	Tr	lusband, Wife, Joint, or Community		: U	,	D	
CREDITOR'S NAME, MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	F V J	DATE CLAIM WAS INCURRED AND CONSIDERATION FOR CLAIM. IF CLAIM		UNLIQUIDATED	}	DISPUTED	AMOUNT OF CLAIM
Account No.				1	E			
T & T Reproduction 511 N. Second Street Libertyville, IL 60048		-						28.68
Account No.		T			T	T		
The Gasaway Co Oak Brook, IL 60523		-						
								275.00
Account No.	T	t		1	\dagger	†	1	
The Printing Factory 407 Washington Street Mundelein, IL 60060		-						552.08
Account No.	┢	t		+	+	+	\dashv	
The Waterman Inc. 11122 W. Rogers Street Milwaukee, WI 53207		-						717.18
Account No. x9655	\vdash	t		+	+	+	_	
Thelan Sand & Gravel 28955 Route 173 Antioch, IL 60002		_						14,012.01
Sheet no14_ of _16_ sheets attached to Schedule of		•		Sul			- 1	15,584.95
Creditors Holding Unsecured Nonpriority Claims			(Total o	f this	pa	ge	e)	10,004100

In re	Outdoor Living, Inc.	Case No.	
_		Debtor	

CREDITOR'S NAME,	C	Н	lusband, Wife, Joint, or Community	Ç	U	D	
MAILING ADDRESS INCLUDING ZIP CODE, AND ACCOUNT NUMBER (See instructions above.)	CODEBTOR	J C	CONSIDERATION FOR CLAIM. IF CLAIM	CONTINGENT	UNLIQUIDATED	DISPUTED	AMOUNT OF CLAIM
Account No.]⊤	T E		
Topsoil Supply Inc. 21402 W. Hwy 60 Mundelein, IL 60060		-			D		390.00
Account No.							
United Stated Dept of Labor Attn Shirley Choen 230 S. Dearborn Chicago, IL 60604		-					
							34,453.43
Universal Forest Products 2801 East Beltline Ave. NE Grand Rapids, MI 49525		-					3,927.20
Account No.		T					
Village of Mundelein 440 E. Hawley Mundelein, IL 60060		-					37.99
Account No.	\vdash	T				\vdash	
Vulcan Materials 1200 Urban Center Drive□□ Birmingham, AL 35242		-					5,043.37
Sheet no15_ of _16_ sheets attached to Schedule of				Subt			43,851.99
Creditors Holding Unsecured Nonpriority Claims			(Total of t	his	pag	ge)	75,051.33

In re	Outdoor Living, Inc.	Case No	
-		Debtor	

	_	_			_		
CREDITOR'S NAME,	١ç	Ηu	usband, Wife, Joint, or Community	Ϊč	Ü	P	
MAILING ADDRESS INCLUDING ZIP CODE,	CODEBTOR	H W	DATE CLAIM WAS INCURRED AND	CONTI	DZLLQD.	SPUt	AMOUNT OF CLAIM
AND ACCOUNT NUMBER (See instructions above.)	O R	C	IC CLIDIFOT TO CETOFF CO CTATE	N G E N T	Гb	E	AMOUNT OF CLAIM
Account No. xxx-xxxxxxx-x013-8				Ť	A T E D		
Waste Mananagment P.O. Box 9001054 Louisville, KY		-			D		490.52
Account No.							10000
Web as Martala Jan	1						
Weber Metals, Inc 1076 E. Park Avenue		-					
Libertyville, IL 60048							
							7.21
Account No.	Ī						
Weekes Forest Products							
NW8823 P.O. Box 1450		-					
P.O. BOX 1450							
							3,993.84
Account No.							
Woolf Distributing							
8550 Ridgefield Road Crystal Lake, IL 60014		-					
orystal Euro, ie 60014							
							22,571.79
Account No.	ł						
Sheet no. <u>16</u> of <u>16</u> sheets attached to Schedule of Creditors Holding Unsecured Nonpriority Claims			(Total of t	Subt his			27,063.36
creators froming ensecured fromphioticy claims			(Total of E		ota		
			(Report on Summary of Sc				400,417.32

In re	Outdoor Living, Inc.	Case No	
-		Debtor ,	

SCHEDULE G - EXECUTORY CONTRACTS AND UNEXPIRED LEASES

Describe all executory contracts of any nature and all unexpired leases of real or personal property. Include any timeshare interests. State nature of debtor's interest in contract, i.e., "Purchaser", "Agent", etc. State whether debtor is the lessor or lessee of a lease. Provide the names and complete mailing addresses of all other parties to each lease or contract described. If a minor child is a party to one of the leases or contracts, state the child's initials and the name and address of the child's parent or guardian, such as "A.B., a minor child, by John Doe, guardian." Do not disclose the child's name. See, 11 U.S.C. §112 and Fed. R. Bankr. P. 1007(m).

☐ Check this box if debtor has no executory contracts or unexpired leases.

Name and Mailing Address, Including Zip Code, of Other Parties to Lease or Contract	Description of Contract or Lease and Nature of Debtor's Interest. State whether lease is for nonresidential real property. State contract number of any government contract.
Many contracts	Debtor has contracts for work that is not yet completed. Upon the booking of a job the job is shown as accounts receivable
Semper Fidelis Mundelien L.P.	Rental for 919 Tower Road, Mundelein, IL of \$6.875.00 per month

In re	Outdoor Living, Inc.	Case No	
_		Debtor ,	

SCHEDULE H - CODEBTORS

Provide the information requested concerning any person or entity, other than a spouse in a joint case, that is also liable on any debts listed by debtor in the schedules of creditors. Include all guarantors and co-signers. If the debtor resides or resided in a community property state, commonwealth, or territory (including Alaska, Arizona, California, Idaho, Louisiana, Nevada, New Mexico, Puerto Rico, Texas, Washington, or Wisconsin) within the eight year period immediately preceding the commencement of the case, identify the name of the debtor's spouse and of any former spouse who resides or resided with the debtor in the community property state, commonwealth, or territory. Include all names used by the nondebtor spouse during the eight years immediately preceding the commencement of this case. If a minor child is a codebtor or a creditor, state the child's initials and the name and address of the child's parent or guardian, such as "A.B., a minor child, by John Doe, guardian." Do not disclose the child's name. See, 11 U.S.C. §112 and Fed. R. Bankr. P. 1007(m).

Check this box if debtor has no codebtors.

NAME AND ADDRESS OF CODEBTOR	NAME AND ADDRESS OF CREDITOR
C Kessler	Northside Community Bank 5103 Washington Street Gurnee, IL 60031
KA Russell	Northside Community Bank 5103 Washington Street Gurnee, IL 60031
KR Russell	Northside Community Bank 5103 Washington Street Gurnee, IL 60031
Sam Kessler	Northside Community Bank 5103 Washington Street Gurnee, IL 60031

United States Bankruptcy Court Northern District of Illinois

In re	Outdoor Living, Inc.		Case No.	
		Debtor(s)	Chapter	11
	DECLARATION CONCE	RNING DEBTO	R'S SCHEDUL	ES
	DECLARATION UNDER PENALTY OF PERJU	RY ON BEHALF OI	F CORPORATION (OR PARTNERSHIP
	I, the President of the corporation named as	debtor in this case de	eclare under nenalty	of periury that I have
	read the foregoing summary and schedules, consisting			
	of my knowledge, information, and belief.	-	-	
) ate	September 10, 2008 Signatu	are /s/ Kerston Rus	ssell	
	Digitate	Kerston Russe		

Penalty for making a false statement or concealing property: Fine of up to \$500,000 or imprisonment for up to 5 years or both. 18 U.S.C. §§ 152 and 3571.

President

United States Bankruptcy Court Northern District of Illinois

		Northern District of Illinois		
In re	Outdoor Living, Inc.		Case No.	
		Debtor(s)	Chapter	11
	STAT	EMENT OF FINANCIAL AFFA	AIRS	
	This statement is to be completed by every	debtor. Spouses filing a joint petition may file	a single stateme	ent on which the information for

This statement is to be completed by every debtor. Spouses filing a joint petition may file a single statement on which the information for both spouses is combined. If the case is filed under chapter 12 or chapter 13, a married debtor must furnish information for both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed. An individual debtor engaged in business as a sole proprietor, partner, family farmer, or self-employed professional, should provide the information requested on this statement concerning all such activities as well as the individual's personal affairs. To indicate payments, transfers and the like to minor children, state the child's initials and the name and address of the child's parent or guardian, such as "A.B., a minor child, by John Doe, guardian." Do not disclose the child's name. See, 11 U.S.C. § 112; Fed. R. Bankr. P. 1007(m).

Questions 1 - 18 are to be completed by all debtors. Debtors that are or have been in business, as defined below, also must complete Questions 19 - 25. **If the answer to an applicable question is "None," mark the box labeled "None."** If additional space is needed for the answer to any question, use and attach a separate sheet properly identified with the case name, case number (if known), and the number of the question.

DEFINITIONS

"In business." A debtor is "in business" for the purpose of this form if the debtor is a corporation or partnership. An individual debtor is "in business" for the purpose of this form if the debtor is or has been, within six years immediately preceding the filing of this bankruptcy case, any of the following: an officer, director, managing executive, or owner of 5 percent or more of the voting or equity securities of a corporation; a partner, other than a limited partner, of a partnership; a sole proprietor or self-employed full-time or part-time. An individual debtor also may be "in business" for the purpose of this form if the debtor engages in a trade, business, or other activity, other than as an employee, to supplement income from the debtor's primary employment.

"Insider." The term "insider" includes but is not limited to: relatives of the debtor; general partners of the debtor and their relatives; corporations of which the debtor is an officer, director, or person in control; officers, directors, and any owner of 5 percent or more of the voting or equity securities of a corporate debtor and their relatives; affiliates of the debtor and insiders of such affiliates; any managing agent of the debtor. 11 U.S.C. § 101.

1. Income from employment or operation of business

None

State the gross amount of income the debtor has received from employment, trade, or profession, or from operation of the debtor's business, including part-time activities either as an employee or in independent trade or business, from the beginning of this calendar year to the date this case was commenced. State also the gross amounts received during the **two years** immediately preceding this calendar year. (A debtor that maintains, or has maintained, financial records on the basis of a fiscal rather than a calendar year may report fiscal year income. Identify the beginning and ending dates of the debtor's fiscal year.) If a joint petition is filed, state income for each spouse separately. (Married debtors filing under chapter 12 or chapter 13 must state income of both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

AMOUNT SOURCE

\$888,321.89 Income Year to Date \$1,305,338.67 2007 Gross Income

\$835,238.52 2006 Income year to Date

2. Income other than from employment or operation of business

None

State the amount of income received by the debtor other than from employment, trade, profession, or operation of the debtor's business during the **two years** immediately preceding the commencement of this case. Give particulars. If a joint petition is filed, state income for each spouse separately. (Married debtors filing under chapter 12 or chapter 13 must state income for each spouse whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

AMOUNT SOURCE

3. Payments to creditors

·

None Complete a. or b., as appropriate, and c.

a. *Individual or joint debtor(s) with primarily consumer debts.* List all payments on loans, installment purchases of goods or services, and other debts to any creditor made within **90 days** immediately preceding the commencement of this case unless the aggregate value of all property that constitutes or is affected by such transfer is less than \$600. Indicate with an (*) any payments that were made to a creditor on account of a domestic support obligation or as part of an alternative repayment schedule under a plan by an approved nonprofit budgeting and creditor counseling agency. (Married debtors filing under chapter 12 or chapter 13 must include payments by either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS DATES OF AMOUNT STILL OF CREDITOR PAYMENTS AMOUNT PAID OWING

None

b. Debtor whose debts are not primarily consumer debts: List each payment or other transfer to any creditor made within **90 days** immediately preceding the commencement of the case unless the aggregate value of all property that constitutes or is affected by such transfer is less than \$5,475. If the debtor is an individual, indicate with an asterisk (*) any payments that were made to a creditor on account of a domestic support obligation or as part of an alternative repayment schedule under a plan by an approved nonprofit budgeting and creditor counseling agency. (Married debtors filing under chapter 12 or chapter 13 must include payments by either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS OF CREDITOR Caterpillar Financia Services 2120 West End Avenue Nashville, TN 37203	DATES OF PAYMENTS/ TRANSFERS See Attached	AMOUNT PAID OR VALUE OF TRANSFERS \$5,952.47	AMOUNT STILL OWING \$0.00
Master Mark Plastics P.O. Box 662 Albany, MN 56307	See Attached	\$26,313.90	\$0.00
G& D Electric 33206 North Park Crystal Lake, IL 60039	See Attached	\$5,729.95	\$0.00
Oaks Concrete Products 51744 Pontaic Trail Wixom, MI 48393	See Attached	\$43,702.60	\$0.00
Pam Yocius See Attached		\$7,840.00	\$0.00
Pekin Insurance Company 2505 Court Street Pekin, IL 61554	See Attached	\$14,811.00	\$0.00
Semper Fi See Attached		\$14,166.01	\$0.00
Touhy Lumber Company		\$13,424.11	\$0.00
Woolf Distributing 8550 Ridgefield Road Crystal Lake, IL 60014	See Attached	\$12,410.16	\$0.00

None

c. All debtors: List all payments made within one year immediately preceding the commencement of this case to or for the benefit of creditors who are or were insiders, (Married debtors filing under chapter 12 or chapter 13 must include payments by either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS OF CREDITOR AND

AMOUNT STILL

RELATIONSHIP TO DEBTOR

DATE OF PAYMENT

AMOUNT PAID

OWING

4. Suits and administrative proceedings, executions, garnishments and attachments

None

a. List all suits and administrative proceedings to which the debtor is or was a party within one year immediately preceding the filing of this bankruptcy case. (Married debtors filing under chapter 12 or chapter 13 must include information concerning either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

CAPTION OF SUIT AND CASE NUMBER Schleiter vs. Outdoor Living	NATURE OF PROCEEDING Suit for Money Damamges	COURT OR AGENCY AND LOCATION McHenry County Circuit Court	STATUS OR DISPOSITION Pending
Outdoor Living vs. Valonica Landscaping	Suit for Money Damamges	Lake County Circuit Court	Settled
Advanced Ground Care Products vs. Outdoor Living	Suit for Money Damamges	Lake County Circuit Court	Pending
Department of Revenue vs. Outdoor Living	Adminstrative Hearing for Revocation of Certificate of Completion	Springfield, IL	Pending-Set for Hearing on 9:00 a.m. on September 11, 2008

None

b. Describe all property that has been attached, garnished or seized under any legal or equitable process within **one year** immediately preceding the commencement of this case. (Married debtors filing under chapter 12 or chapter 13 must include information concerning property of either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS OF PERSON FOR WHOSE BENEFIT PROPERTY WAS SEIZED

DATE OF SEIZURE

DESCRIPTION AND VALUE OF PROPERTY

5. Repossessions, foreclosures and returns

None

List all property that has been repossessed by a creditor, sold at a foreclosure sale, transferred through a deed in lieu of foreclosure or returned to the seller, within one year immediately preceding the commencement of this case. (Married debtors filing under chapter 12 or chapter 13 must include information concerning property of either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS OF CREDITOR OR SELLER Caterpillar Financia Services 2120 West End Avenue Nashville, TN 37203

DATE OF REPOSSESSION, FORECLOSURE SALE, TRANSFER OR RETURN See Below

DESCRIPTION AND VALUE OF **PROPERTY**

Toro Dingo Skiploader Sale set to conclude 10/2/08

Other property repossesed 20 Inc Saw, Plate Compactor, Sod Cutter, 904B Wheel Loader, CB214 Roller Compactor, 1 1/4 Yd Bucket

6. Assignments and receiverships

None

a. Describe any assignment of property for the benefit of creditors made within 120 days immediately preceding the commencement of this case. (Married debtors filing under chapter 12 or chapter 13 must include any assignment by either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

DATE OF

NAME AND ADDRESS OF ASSIGNEE

ASSIGNMENT

TERMS OF ASSIGNMENT OR SETTLEMENT

None

b. List all property which has been in the hands of a custodian, receiver, or court-appointed official within **one year** immediately preceding the commencement of this case. (Married debtors filing under chapter 12 or chapter 13 must include information concerning property of either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS OF CUSTODIAN NAME AND LOCATION OF COURT CASE TITLE & NUMBER

DATE OF ORDER DESCRIPTION AND VALUE OF

PROPERTY

7. Gifts

None

List all gifts or charitable contributions made within **one year** immediately preceding the commencement of this case except ordinary and usual gifts to family members aggregating less than \$200 in value per individual family member and charitable contributions aggregating less than \$100 per recipient. (Married debtors filing under chapter 12 or chapter 13 must include gifts or contributions by either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS OF PERSON OR ORGANIZATION RELATIONSHIP TO DEBTOR, IF ANY

DATE OF GIFT

DESCRIPTION AND VALUE OF GIFT

8. Losses

None

List all losses from fire, theft, other casualty or gambling within **one year** immediately preceding the commencement of this case **or since the commencement of this case.** (Married debtors filing under chapter 12 or chapter 13 must include losses by either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

DESCRIPTION AND VALUE OF PROPERTY DESCRIPTION OF CIRCUMSTANCES AND, IF LOSS WAS COVERED IN WHOLE OR IN PART BY INSURANCE, GIVE PARTICULARS

DATE OF LOSS

Lazzaro Torado Loss of \$3056.10

9. Payments related to debt counseling or bankruptcy

None

List all payments made or property transferred by or on behalf of the debtor to any persons, including attorneys, for consultation concerning debt consolidation, relief under the bankruptcy law or preparation of the petition in bankruptcy within **one year** immediately preceding the commencement of this case.

NAME AND ADDRESS
OF PAYEE
Bach Law Offices
1955 Shermer Road
Suite 150
Northbrook, IL 60062

DATE OF PAYMENT, NAME OF PAYOR IF OTHER THAN DEBTOR AMOUNT OF MONEY
OR DESCRIPTION AND VALUE
OF PROPERTY
\$5,000.00

10. Other transfers

None

a. List all other property, other than property transferred in the ordinary course of the business or financial affairs of the debtor, transferred either absolutely or as security within **two years** immediately preceding the commencement of this case. (Married debtors filing under chapter 12 or chapter 13 must include transfers by either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS OF TRANSFEREE, RELATIONSHIP TO DEBTOR

DATE

DESCRIBE PROPERTY TRANSFERRED AND VALUE RECEIVED

None b. List all property transferred by the debtor within **ten years** immediately preceding the commencement of this case to a self-settled trust or similar device of which the debtor is a beneficiary.

NAME OF TRUST OR OTHER DEVICE

DATE(S) OF TRANSFER(S) AMOUNT OF MONEY OR DESCRIPTION AND VALUE OF PROPERTY OR DEBTOR'S INTEREST IN PROPERTY

11. Closed financial accounts

None

List all financial accounts and instruments held in the name of the debtor or for the benefit of the debtor which were closed, sold, or otherwise transferred within one year immediately preceding the commencement of this case. Include checking, savings, or other financial accounts, certificates of deposit, or other instruments; shares and share accounts held in banks, credit unions, pension funds, cooperatives, associations, brokerage houses and other financial institutions. (Married debtors filing under chapter 12 or chapter 13 must include information concerning accounts or instruments held by or for either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

> TYPE OF ACCOUNT, LAST FOUR DIGITS OF ACCOUNT NUMBER. AND AMOUNT OF FINAL BALANCE

AMOUNT AND DATE OF SALE OR CLOSING

NAME AND ADDRESS OF INSTITUTION

12. Safe deposit boxes

None

List each safe deposit or other box or depository in which the debtor has or had securities, cash, or other valuables within one year immediately preceding the commencement of this case. (Married debtors filing under chapter 12 or chapter 13 must include boxes or depositories of either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS OF BANK OR OTHER DEPOSITORY

NAMES AND ADDRESSES OF THOSE WITH ACCESS TO BOX OR DEPOSITORY

DESCRIPTION OF CONTENTS DATE OF TRANSFER OR SURRENDER, IF ANY

13. Setoffs

None

List all setoffs made by any creditor, including a bank, against a debt or deposit of the debtor within 90 days preceding the commencement of this case. (Married debtors filing under chapter 12 or chapter 13 must include information concerning either or both spouses whether or not a joint petition is filed, unless the spouses are separated and a joint petition is not filed.)

NAME AND ADDRESS OF CREDITOR

DATE OF SETOFF

AMOUNT OF SETOFF

14. Property held for another person

None

List all property owned by another person that the debtor holds or controls.

DESCRIPTION AND VALUE OF

NAME AND ADDRESS OF OWNER

PROPERTY

LOCATION OF PROPERTY

15. Prior address of debtor

None

If the debtor has moved within three years immediately preceding the commencement of this case, list all premises which the debtor occupied during that period and vacated prior to the commencement of this case. If a joint petition is filed, report also any separate address of either spouse.

ADDRESS 55 North Barron Blvd, Grayslake Illinois NAME USED

DATES OF OCCUPANCY

16. Spouses and Former Spouses

None

If the debtor resides or resided in a community property state, commonwealth, or territory (including Alaska, Arizona, California, Idaho, Louisiana, Nevada, New Mexico, Puerto Rico, Texas, Washington, or Wisconsin) within eight years immediately preceding the

commencement of the case, identify the name of the debtor's spouse and of any former spouse who resides or resided with the debtor in the community property state.

NAME

17. Environmental Information.

For the purpose of this question, the following definitions apply:

"Environmental Law" means any federal, state, or local statute or regulation regulating pollution, contamination, releases of hazardous or toxic substances, wastes or material into the air, land, soil, surface water, groundwater, or other medium, including, but not limited to, statutes or regulations regulating the cleanup of these substances, wastes, or material.

"Site" means any location, facility, or property as defined under any Environmental Law, whether or not presently or formerly owned or operated by the debtor, including, but not limited to, disposal sites.

"Hazardous Material" means anything defined as a hazardous waste, hazardous substance, toxic substance, hazardous material, pollutant, or contaminant or similar term under an Environmental Law

None

a. List the name and address of every site for which the debtor has received notice in writing by a governmental unit that it may be liable or potentially liable under or in violation of an Environmental Law. Indicate the governmental unit, the date of the notice, and, if known, the Environmental Law:

NAME AND ADDRESS OF DATE OF ENVIRONMENTAL SITE NAME AND ADDRESS GOVERNMENTAL UNIT NOTICE LAW

None b. List the name and address of every site for which the debtor provided notice to a governmental unit of a release of Hazardous

Material. Indicate the governmental unit to which the notice was sent and the date of the notice.

NAME AND ADDRESS OF DATE OF ENVIRONMENTAL SITE NAME AND ADDRESS GOVERNMENTAL UNIT NOTICE LAW

None c. List all judicial or administrative proceedings, including settlements or orders, under any Environmental Law with respect to which the debtor is or was a party. Indicate the name and address of the governmental unit that is or was a party to the proceeding, and the docket number.

NAME AND ADDRESS OF GOVERNMENTAL UNIT

DOCKET NUMBER

STATUS OR DISPOSITION

18 . Nature, location and name of business

None

a. If the debtor is an individual, list the names, addresses, taxpayer identification numbers, nature of the businesses, and beginning and ending dates of all businesses in which the debtor was an officer, director, partner, or managing executive of a corporation, partner in a partnership, sole proprietor, or was self-employed in a trade, profession, or other activity either full- or part-time within six years immediately preceding the commencement of this case, or in which the debtor owned 5 percent or more of the voting or equity securities within six years immediately preceding the commencement of this case.

If the debtor is a partnership, list the names, addresses, taxpayer identification numbers, nature of the businesses, and beginning and ending dates of all businesses in which the debtor was a partner or owned 5 percent or more of the voting or equity securities, within six years immediately preceding the commencement of this case.

If the debtor is a corporation, list the names, addresses, taxpayer identification numbers, nature of the businesses, and beginning and ending dates of all businesses in which the debtor was a partner or owned 5 percent or more of the voting or equity securities within six years immediately preceding the commencement of this case.

LAST FOUR DIGITS OF SOCIAL-SECURITY OR OTHER INDIVIDUAL TAXPAYER-I.D. NO. (ITIN)/ COMPLETE EIN ADDRESS

BEGINNING AND NATURE OF BUSINESS ENDING DATES

None b. Identify any business listed in response to subdivision a., above, that is "single asset real estate" as defined in 11 U.S.C. § 101.

NAME

NAME ADDRESS

The following questions are to be completed by every debtor that is a corporation or partnership and by any individual debtor who is or has been, within **six years** immediately preceding the commencement of this case, any of the following: an officer, director, managing executive, or

owner of more than 5 percent of the voting or equity securities of a corporation; a partner, other than a limited partner, of a partnership, a sole proprietor or self-employed in a trade, profession, or other activity, either full- or part-time.

(An individual or joint debtor should complete this portion of the statement **only** if the debtor is or has been in business, as defined above, within six years immediately preceding the commencement of this case. A debtor who has not been in business within those six years should go directly to the signature page.)

19. Books, records and financial statements

None a.

a. List all bookkeepers and accountants who within **two years** immediately preceding the filing of this bankruptcy case kept or supervised the keeping of books of account and records of the debtor.

NAME AND ADDRESS Pam Yocius (Office Manager) 919 Tower Road Mundelein, IL 60060

Helen D. Wilcox 1145 Vista Drive Gurnee, IL 60031

Jason C. Castaneda (ex employee) Address unknown

Kellly Ann Russell 919 Tower Road Mundelein, IL 60060

Cindy Kessler 919 Tower Road Mundelein, IL 60060

Steven Kessler (Tax Accountant) Kessler, Orlean, Silver & Co 1101 Lake Cook Road Suite C Deerfield, IL 60015-5233

None b. List all firms or individuals who within the **two years** immediately preceding the filing of this bankruptcy case have audited the books

of account and records, or prepared a financial statement of the debtor.

NAME ADDRESS DATES SERVICES RENDERED

None c. List all firms or individuals who at the time of the commencement of this case were in possession of the books of account and records of the debtor. If any of the books of account and records are not available, explain.

NAME ADDRESS

None d. List all financial institutions, creditors and other parties, including mercantile and trade agencies, to whom a financial statement was issued by the debtor within **two years** immediately preceding the commencement of this case.

NAME AND ADDRESS DATE ISSUED

INVENTORY SUPERVISOR

20. Inventories

a. List the dates of the last two inventories taken of your property, the name of the person who supervised the taking of each inventory,

and the dollar amount and basis of each inventory.

DOLLAR AMOUNT OF INVENTORY (Specify cost, market or other basis)

DATES SERVICES RENDERED

None b. List the name and address of the person having possession of the records of each of the two inventories reported in a., above.

I

NAME AND ADDRESSES OF CUSTODIAN OF INVENTORY RECORDS

DATE OF INVENTORY

DATE OF INVENTORY

None

21 . Current Partners, Officers, Directors and Shareholders

None

a. If the debtor is a partnership, list the nature and percentage of partnership interest of each member of the partnership.

NAME AND ADDRESS NATURE OF INTEREST PERCENTAGE OF INTEREST

None b. If the debtor is a corporation, list all officers and directors of the corporation, and each stockholder who directly or indirectly owns, controls, or holds 5 percent or more of the voting or equity securities of the corporation.

NATURE AND PERCENTAGE
NAME AND ADDRESS TITLE OF STOCK OWNERSHIP

C. Kessler 22500 shares of stock

Sam Kessler 22500 shares of stock

Steven Kessler 12500 shares of stock

Micahls Trust 45000 shares of stock

KA Russell 515000 shares of stock

KR Russell 193227 shares of stock

B Staroba 28750 shares of stock

E Staroba 22500 shares of stock

M Staroba 38750 shares of stock

22 . Former partners, officers, directors and shareholders

None a. If the debtor is a partnership, list each member who withdrew from the partnership within **one year** immediately preceding the

commencement of this case.

NAME ADDRESS DATE OF WITHDRAWAL

None b. If the debtor is a corporation, list all officers, or directors whose relationship with the corporation terminated within one year

immediately preceding the commencement of this case.

NAME AND ADDRESS TITLE DATE OF TERMINATION

23. Withdrawals from a partnership or distributions by a corporation

None If the debtor is a partnership or corporation, list all withdrawals or distributions credited or given to an insider, including compensation

in any form, bonuses, loans, stock redemptions, options exercised and any other perquisite during **one year** immediately preceding the commencement of this case.

NAME & ADDRESS OF RECIPIENT, RELATIONSHIP TO DEBTOR

DATE AND PURPOSE OF WITHDRAWAL

AMOUNT OF MONEY OR DESCRIPTION AND VALUE OF PROPERTY

24. Tax Consolidation Group.

None

If the debtor is a corporation, list the name and federal taxpayer identification number of the parent corporation of any consolidated group for tax purposes of which the debtor has been a member at any time within **six years** immediately preceding the commencement of the case.

NAME OF PARENT CORPORATION

TAXPAYER IDENTIFICATION NUMBER (EIN)

25. Pension Funds.

None

If the debtor is not an individual, list the name and federal taxpayer identification number of any pension fund to which the debtor, as an employer, has been responsible for contributing at any time within **six years** immediately preceding the commencement of the case.

NAME OF PENSION FUND

TAXPAYER IDENTIFICATION NUMBER (EIN)

DECLARATION UNDER PENALTY OF PERJURY ON BEHALF OF CORPORATION OR PARTNERSHIP

I declare under penalty of perjury that I have read the answers contained in the foregoing statement of financial affairs and any attachments thereto and that they are true and correct to the best of my knowledge, information and belief.

Date	September 10, 2008	Signature	/s/ Kerston Russell
		_	Kerston Russell
			President

[An individual signing on behalf of a partnership or corporation must indicate position or relationship to debtor.]

Penalty for making a false statement: Fine of up to \$500,000 or imprisonment for up to 5 years, or both. 18 U.S.C. §§ 152 and 3571

Outdoor Living, Inc. Payments over \$5,475 As of September 5, 2008

Check	06/30/2008		001-047552-000 (268B-LBA00981)	-5,952.47	-5,952.47
Bill Pmt -Check Bill Pmt -Check	07/25/2008 08/27/2008	4712 4854	G & D Electric G & D Electric	-3,239.65 -2,490.30	-5,729.95
Bill Pmt -Check Bill Pmt -Check Bill Pmt -Check Bill Pmt -Check Check Check Check Check Check	08/06/2008 08/07/2008 08/13/2008 08/13/2008 06/13/2008 06/18/2008	0364DM 0364DM 0364dm 0364DM 0364DM	Master Mark Plastics	-391.92 -1,092.10 -167.59 -1,059.42 -4,448.02 -750.00 -1,645.12 -4,308.48	
Check Check Check Check Check Check Check	07/21/2008 07/24/2008 07/29/2008 08/05/2008 08/05/2008 08/07/2008	4704 4708 0364DM 0365DM 0364DM 0364DM 0364DM	Master Mark Plastics	-148.49 -272.82 -6,217.83 -390.06 -783.84 -2,184.20 -335.17	
C C C C C C C C C C C C C C C C C C C	08/19/2008 06/18/2008 06/24/2008 07/02/2008 07/14/2008 07/18/2008 07/18/2008 07/29/2008 07/30/2008 08/13/2008 08/13/2008 08/13/2008 08/13/2008	4563 4563 4597 4607 4608 4608 4670 4672 4711 4714 4710 4710 4710 4710 4710 4710	Master Mark Plastics Oaks Concrete Products	-2,118.84 -3,120.42 -560.00 -2,678.25 -5,120.31 -731.35 -3,057.05 -4,507.17 -3,005.28 -3,384.25 -4,388.83 -2,346.45 -1,462.95 -2,332.18 -1,715.95 -2,053.23 -1,219.12 -975.30	-26,313.90
Check Check	06/06/2008 06/20/2008	4535 4590	Pam Yodius	-1,120.00 -1,120.00	

-150,389.20

-150,389.20

Outdoor Living, Inc. Payments over \$5,475 As of September 5, 2008

-7,840.00	-6,039.00	-14,811.00	-14,166.01	-13,424.11	-12,410.16
-1,120.00 -1,120.00 -1,120.00 -1,120.00	-5,000.00 -1,039.00	-777.00 -4,782.50 -5,617.50 -3,514.00 -100.00	-7,200.44 -6,965.57	-2,715.60 -1,156.30 -3,275.75 -319.66 -929.20 -1,096.40 -3,392.00	-1,668.47 -607.58 -3,245.28 -648.83 -4,674.55 -285.00 -809.45 -471.00
					,
Pam Yoclus Pam Yoclus Pam Yoclus Pam Yoclus Pam Yoclus	Paul Bach Paul Bach	PEKIN PEKIN Pekin Insurance Company Pekin Insurance Company Pekin Insurance Company Pekin Insurance Company	Semper Fi Semper Fi	Touhy Lumber Co.	Woolf Distributing
4636 4701 4747 4802 4833	4817 4818	4811 4812 4545 4769 4561 061808	4554 4763	4558 4550 4673 4715 4770 4822 4861	4551 4570 4819 4824 4821 4827 4826 4828
07/03/2008 07/18/2008 08/01/2008 08/15/2008 08/29/2008	08/21/2008 08/21/2008	08/18/2008 08/18/2008 06/12/2008 08/07/2008 06/17/2008	06/13/2008 08/04/2008	06/17/2008 06/12/2008 07/18/2008 07/31/2008 08/07/2008 08/14/2008 08/26/2008	06/12/2008 06/20/2008 08/25/2008 08/26/2008 08/27/2008 09/02/2008
Check Check Check Check	Check Check	Check Check Bill Pmt -Check Bill Pmt -Check Check	Bill Pmt -Check Bill Pmt -Check	Bill Pmt -Check Check Check Check Check Check Check	Bill Pmt -Check Bill Pmt -Check Check Check Check Check Check Check Check

United States Bankruptcy Court Northern District of Illinois

T.o.	re Outdoor Living, Inc.		Casa Na	
In	Outdoor Living, Inc.	Debtor(s)	Case No. Chapter	11
			•	
	DISCLOSURE OF COMPEN	SATION OF ATTOR	NEY FOR DE	EBTOR(S)
1.	Pursuant to 11 U.S.C. § 329(a) and Bankruptcy Rule compensation paid to me within one year before the filing be rendered on behalf of the debtor(s) in contemplation of	g of the petition in bankruptcy,	or agreed to be pai	d to me, for services rendered or to
	For legal services, I have agreed to accept		\$	30,000.00
	Prior to the filing of this statement I have received		\$	5,000.00
	Balance Due		\$	25,000.00
2.	\$			
3.	The source of the compensation paid to me was:			
	■ Debtor □ Other (specify):			
4.	The source of compensation to be paid to me is:			
	■ Debtor □ Other (specify):			
5.	■ I have not agreed to share the above-disclosed competent	nsation with any other person u	nless they are mem	bers and associates of my law firm.
	☐ I have agreed to share the above-disclosed compensation copy of the agreement, together with a list of the name			
6.	In return for the above-disclosed fee, I have agreed to renda. Analysis of the debtor's financial situation, and renderib. Preparation and filing of any petition, schedules, stater c. Representation of the debtor at the meeting of creditors d. [Other provisions as needed] Negotiations with secured creditors to re reaffirmation agreements and application 522(f)(2)(A) for avoidance of liens on hour	ing advice to the debtor in deter ment of affairs and plan which r is and confirmation hearing, and duce to market value; exer as as needed; preparation a	rmining whether to may be required; d any adjourned hea mption planning;	file a petition in bankruptcy; urings thereof; ; preparation and filing of
7.	By agreement with the debtor(s), the above-disclosed fee of Representation of the debtors in any disc			y proceeding.
		CERTIFICATION		
this	I certify that the foregoing is a complete statement of any bankruptcy proceeding.	agreement or arrangement for p	ayment to me for re	epresentation of the debtor(s) in
Dat	ed: September 10, 2008	/s/ Paul M. Bach		
		Paul M. Bach 0620	9530	
		Bach Law Offices 1955 Shermer Roa	ıd	
		Suite 150		
		Northbrook, IL 600		-
		(847) 564-0808 Fa		5
		paar Obaerrenieee		

United States Bankruptcy Court

Northern	District	of Illinois	

In re	Outdoor Living, Inc.		Case No.	
_		Debtor		
			Chapter	11

LIST OF EQUITY SECURITY HOLDERS

Following is the list of the Debtor's equity security holders which is prepared in accordance with Rule 1007(a)(3) for filing in this chapter 11 case.

Name and last known address or place of business of holder	Security Class	Number of Securities	Kind of Interest	
B Staroba	Common	28750		
C Kessler	Common	22500		
E Staroba	Common	22500		
K Russell	Common	515000		
KR Russell	Common	193227		
M. Staroba	Common	38750		
Michals Trust	Common	45000		
Sam Kessler	Common	22500		
Steven Kessler	Common	12500		

DECLARATION UNDER PENALTY OF PERJURY ON BEHALF OF CORPORATION OR PARTNERSHIP

I, the President of the corporation named as the debtor in this case, declare under penalty of perjury that I have read the foregoing List of Equity Security Holders and that it is true and correct to the best of my information and belief.

Date_	September 10, 2008	Signature /s/ Kerston Russell
		Kerston Russell
		President

Penalty for making a false statement or concealing property: Fine of up to \$500,000 or imprisonment for up to 5 years or both. 18 U.S.C §§ 152 and 3571.

United States Bankruptcy Court Northern District of Illinois

In re	Outdoor Living, Inc.		Case No.			
		Debtor(s)	Chapter <u>11</u>			
	VERIFICATION OF CREDITOR MATRIX					
		Number of	Creditors:	102		
	The above-named Debtor(s) (our) knowledge.	hereby verifies that the list of credit	ors is true and correct to the	e best of my		
Date:	September 10, 2008	/s/ Kerston Russell Kerston Russell/President Signer/Title				

55 North Barron Blvd, LLC 1 Northfield Plaza #300 Winnetka, IL 60093

Action Fence Contractors, Inc. 945 Tower Road Mundelein, IL 60060

Addison Building Materials 3201 S. Busse Road Arlington Heights, IL 60004

Advanced Ground Care Products 665 W. Armory Drive South Holland, IL 60473

American National 924 Turret Court Mundelein, IL 60060

Amex Business Gold Card Nationwide Credit Inc. Atlanta, GA 30374

Anasco Incorporated 1515 West Fullerton Avenue Addison, IL 60101

Arlington Power Equipment 20175 North Rand Road Palatine, IL 60074

Arrow Plumbing Inc. 547 North Avenue Grayslake, IL 60030

AT&T PO Box 8100 Aurora, IL 60507

Attorney General State of Illinois 500 S. Second Street Springfield, IL 62706 B & B Permanent Seeding Inc. 21402 W. Highway 60 Mundelein, IL 60060

Bank of America P.O. Box 15184 Wilmington, DE 19850-5184

C Kessler

Carol Melcer 3171 Indian Creek Court Buffalo Grove, IL 60089

Caterpillar Financia Services 2120 West End Avenue Nashville, TN 37203

Caterpillar Financial Services P.O. Box 730669 Dallas, TX 75373-0669

Caterpillar Financial Services 2120 West End Avenue Nashville, TN 37203

ChexSystems
Attn Consumer Relations
7805 Hudson Road Suite 100
Saint Paul, MN 55125

ComEd Three Lincoln Center Villa Park, IL 60181

CommEd Bill Payment Center Chicago, IL 60668-0001

Conway Freight
P.O. Box 5160
Portland, OR 97208-5160

D. Patrick Mularkey Room 7894, JCB Building 555 4th Street N.W. Washington, DC 20001

DeBuck's Sod Farm N6127 County P. Delavan, WI 53115

Duxler Libertyville Firestone 902 S. Milwaukee Libertyville, IL 60048

Eiden & O'Donnel 230 Center Street #102 Vernon Hills, IL 60061

Excel Graphics & Promotions 400 South Vermont Street Palatine, IL 60067

Fastenal Industrial & Const Supply 2001 Theurer Blvd. Winona, MN 55987

G & D Electric 33206 North Park Grayslake, IL 60030

GMAC

P.O. Box 9001952 Louisville, KY 40290-1952

GMAC 15303 S. Saginaw Street Flint, MI 48502

GMAC P.O. Box 380902 Minneapolis, MN 55438

GMAC PO Box 130424 Roseville, MN 55113 Grainger Dept 866537558 Palatine, IL 60038

Groot Industries 2500 Lanmeier Road Elk Grove Village, IL 60007

Hearth and Home Technolgies 4251 W. 129th Street Alsip, IL 60803

Hearth and Home Technologies 20802 Kensington Blvd Lakeville, MN 55044

Heartland Bio Compostes Liquid Capital Exchange P.O. Box 17000 Reading, PA 19606

Helen D. Wilcox 1145 Vista Drive Gurnee, IL 60031

Hinkley Springs P.O. Box 660579 Dallas, TX 75266-0579

Illinois Attorney General 100 W. Randolph Street Chicago, IL 60606

Illinois Department of Employ Sec P.O. Box 19300 Springfield, IL 62794

Illinois Department of Revenue Bankruptcy Section 100 W. Randolph Street Chicago, IL 60606

Illinois Department of Reveue P.O. Box 19035 Springfield, IL 62794

Illinois Secretary of State 213 State Capitol Springfield, IL 62756

Illinois Tollway 2700 Ogden Avenue Downers Grove, IL 60515

Integrity Phone Solutions Inc. 170 Commerce Drive Grayslake, IL 60030

Internal Revenue Service P.O. Box 21126 Philadelphia, PA 19114

James & Christine Schleiter C/O Petti Murphy & Associates 22 S. Fourth Street Suite B Geneva, IL 60134

JBA Custom Electric 5814 Miller Road Wonder Lake, IL 60097

Jim Link Services 431 Scotland Unit B Lakemoor, IL 60051

KA Russell

Kessler Orlean Silver and Company 1101 Lake Cook Road Deerfield, IL 60015

Kingsford Fastner, Inc. 25604 North Gilmer Mundelein, IL 60060

KR Russell

Law Offices of Christopher Cook 41040 N Route 83 Antioch, IL 60002

Law Offices of Michael Betar 25 North County Street Waukegan, IL 60085

Many contracts

Master Card American Society aka Bank of America P.O. Box 15026 Wilmington, DE 19886

Master Mark Plastics P.O. Box 662 Albany, MN 56307

North Shore Gas P.O. Box A3991 Chicago, IL 60690

Northside Community Bank 5103 Washington Street Gurnee, IL 60031

Northwest Electrical Supply 660 East Rand Road Mount Prospect, IL 60056

Oaks Concrete Products 51744 Pontaic Trail Wixom, MI 48393

Oaks Concrete Products 1900 Vulcan Blvd□□ Bartlett, IL 60103

Olive Branch Direct to You, Inc. P.O. Box 571 Lake Bluff, IL 60044

Patten Industries 635 W. Lake Street Elmhurst, IL 60126

Pekin Insurance Company 2505 Court Street Pekin, IL 61554

Peoples Energy 130 E. Randolph Dr., 24th Floor Chicago, IL 60601-6207

Permaloc 13505 Barry Street Holland, MI 49424

Prairie Materials E.O.E. 7601 West 79th Street Bridgeview, IL 60455

Pro-Image Sealcoating 5531 W. Plank Peoria, IL 61604

Quality Diamond Tools, Inc. 5970 Wallis Road Suite1-B West Palm Beach, FL 33413

R.A. Adams Enterprises Inc. 2600 W. Route 120 Mchenry, IL 60050

Ray Schramer & Company 1054 E. Park Avenue Libertyville, IL 60048

RH Peterson 14724 East Proctor Avenue City of Industry, CA 91744

Roundout Service Center 1261 Rockland Road Lake Bluff, IL 60044

Route 12 Rental 1306 E. Rand Road Arlington Heights, IL 60004

Russo Power Equipment 9525 W. Irving Park Road Schiller Park, IL 60176

Sam Kessler

Semper Fidelis Mundelien L.P.

Sportclub Berm Project P.O. Box 156 Grayslake, IL 60030

Sprint P.O. Box 660092 Dallas, TX 75266-0092

Sprint P.O. Box 4191 Carol Stream, IL 60197

Spruce Lake Sand and Gravel 33450 N Us Highway 12 Ingleside, IL 60041

Spurce Lake Land & Gravel 8400 W Burgett Rd Richmond, IL 60071

Stone Crafters 430 Wegner Road Mchenry, IL 60050

T & T Reproduction 511 N. Second Street Libertyville, IL 60048 The Gasaway Co Oak Brook, IL 60523

The Printing Factory 407 Washington Street Mundelein, IL 60060

The Waterman Inc. 11122 W. Rogers Street Milwaukee, WI 53207

Thelan Sand & Gravel 28955 Route 173 Antioch, IL 60002

Topsoil Supply Inc. 21402 W. Hwy 60 Mundelein, IL 60060

United Stated Dept of Labor Attn Shirley Choen 230 S. Dearborn Chicago, IL 60604

United States Attorney 219 S. Dearborn Street Chicago, IL 60604

Universal Forest Products 2801 East Beltline Ave. NE Grand Rapids, MI 49525

Village of Mundelein 440 E. Hawley Mundelein, IL 60060

Vulcan Materials 1200 Urban Center Drive□□ Birmingham, AL 35242

Waste Mananagment P.O. Box 9001054 Louisville, KY

Weber Metals, Inc 1076 E. Park Avenue Libertyville, IL 60048

Weekes Forest Products NW8823 P.O. Box 1450

Woolf Distributing 8550 Ridgefield Road Crystal Lake, IL 60014

United States Bankruptcy Court Northern District of Illinois

In re Outdoor Living, Inc.		Case No.	
	Debtor(s)	Chapter 1	1
CORPORAT	E OWNERSHIP STATEMENT (RULE 7007.1)	
Pursuant to Federal Rule of Bankruptcy Proor recusal, the undersigned counsel for Or is a (are) corporation(s), other than the debt any class of the corporation's(s') equity interests.	utdoor Living, Inc. in the above captor or a governmental unit, that dire	tioned action, certically or indirectly or	ifies that the following wn(s) 10% or more of
■None [Check if applicable]			
September 10, 2008	/s/ Paul M. Bach		
Date	Paul M. Bach 06209530		
	Signature of Attorney or Litiga Counsel for Outdoor Living, In		
	Bach Law Offices		
	1955 Shermer Road		
	Suite 150 Northbrook, IL 60062		
	(847) 564-0808 Fax:(847) 564-098	85	
	paul@bachoffices.com		

Disclosure Pursuant to 11 U.S.C. §527(a)(2)

You are notified:

- 1. All information that you are required to provide with a petition and thereafter during a case under the Bankruptcy Code is required to be complete, accurate, and truthful.
- 2. All assets and all liabilities are required to be completely and accurately disclosed in the documents filed to commence the case. Some places in the Bankruptcy Code require that you list the replacement value of each asset. This must be the replacement value of the property at the date of filing the petition, without deducting for costs of sale or marketing, established after a reasonable inquiry. For property acquired for personal, family, or household use, replacement value means the price a retail merchant would charge for property of that kind, considering the age and condition of the property.
- 3. The following information, which appears on Official Form 22, Statement of Current Monthly Income, is required to be stated after reasonable inquiry: current monthly income, the amounts specified in section 707(b)(2), and, in a case under chapter 13 of the Bankruptcy Code, disposable income (determined in accordance with section 707(b)(2)).
- 4. Information that you provide during your case may be audited pursuant to provisions of the Bankruptcy Code. Failure to provide such information may result in dismissal of the case under this title or other sanction, including criminal sanctions.

Date	September 10, 2008	Signature	/s/ Kerston Russell
			Kerston Russell
			President

IMPORTANT INFORMATION ABOUT BANKRUPTCY ASSISTANCE SERVICES FROM AN ATTORNEY OR BANKRUPTCY PETITION PREPARER.

If you decide to seek bankruptcy relief, you can represent yourself, you can hire an attorney to represent you, or you can get help in some localities from a bankruptcy petition preparer who is not an attorney. THE LAW REQUIRES AN ATTORNEY OR BANKRUPTCY PETITION PREPARER TO GIVE YOU A WRITTEN CONTRACT SPECIFYING WHAT THE ATTORNEY OR BANKRUPTCY PETITION PREPARER WILL DO FOR YOU AND HOW MUCH IT WILL COST. Ask to see the contract before you hire anyone.

The following information helps you understand what must be done in a routine bankruptcy case to help you evaluate how much service you need. Although bankruptcy can be complex, many cases are routine.

Before filing a bankruptcy case, either you or your attorney should analyze your eligibility for different forms of debt relief available under the Bankruptcy Code and which form of relief is most likely to be beneficial for you. Be sure you understand the relief you can obtain and its limitations. To file a bankruptcy case, documents called a Petition, Schedules and Statement of Financial Affairs, as well as in some cases a Statement of Intention need to be prepared correctly and filed with the bankruptcy court. You will have to pay a filing fee to the bankruptcy court. Once your case starts, you will have to attend the required first meeting of the creditors where you may be questioned by a court official called a 'trustee' and by creditors.

If you choose to file a chapter 7 case, you may be asked by a creditor to reaffirm a debt. You may want help deciding whether to do so. A creditor is not permitted to coerce you into reaffirming your debts.

If you choose to file a chapter 13 case in which you repay your creditors what you can afford over 3 to 5 years, you may also want help with preparing your chapter 13 plan and with the confirmation hearing on your plan which will be before a bankruptcy judge.

If you select another type of relief under the Bankruptcy Code other than chapter 7 or chapter 13, you will want to find out what should be done from someone familiar with that type of relief.

Your bankruptcy case may also involve litigation. You are generally permitted to represent yourself in litigation in bankruptcy court, but only attorneys, not bankruptcy petition preparers, can give you legal advice.

Date	September 10, 2008	Signature	/s/ Kerston Russell
			Kerston Russell
			President